Top Landing Pages

May 1, 2015 - May 31, 2015



Explorer

Summary



		Acquisition			Behavior			Conversions	Goal 1: Mobile IDB	Access
	Landing Page	Sessions	% New Sessions	New Users	Bounce Rate	Pages / Session	Avg. Session Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)	Mobile IDB Access (Goal 1 Value)
		26,538 % of Total: 100.00% (26,538)	34.21% Avg for View: 34.17% (0.11%)	9,079 % of Total: 100.11% (9,069)	47.46% Avg for View: 47.46% (0.00%)	2.37 Avg for View: 2.37 (0.00%)	00:03:52 Avg for View: 00:03:52 (0.00%)	13.42% Avg for View: 13.42% (0.00%)	3,561 % of Total: 100.00% (3,561)	\$0.00 % of Total: 0.00% (\$0.00)
	1. /default.asp	15,592 (58.75%)	30.05%	4,685 (51.60%)	49.85%	2.42	00:04:11	14.11%	2,200 (61.78%)	\$0.00 (0.00%)
	2. /about/hours. htm	993 (3.74%)	37.16%	369 (4.06%)	1.21%	2.21	00:00:44	0.20%	2 (0.06%)	\$0.00 (0.00%)
	3. /default_idb.a sp	928 (3.50%)	6.36%	59 (0.65%)	10.88%	2.80	00:03:24	75.32%	699 (19.63%)	\$0.00 (0.00%)
	4. /default_ursu s.asp	645 (2.43%)	7.75%	50 (0.55%)	61.40%	2.12	00:03:21	13.95%	90 (2.53%)	\$0.00 (0.00%)
	5. /index.php	246 (0.93%)	73.58%	181 (1.99%)	32.93%	4.72	00:03:46	0.41%	1 (0.03%)	\$0.00 (0.00%)
	6. /ejournals/def ault.asp	227 (0.86%)	10.57%	24 (0.26%)	73.57%	1.77	00:03:40	4.85%	11 (0.31%)	\$0.00 (0.00%)
	7. /services	222 (0.84%)	57.66%	128 (1.41%)	33.33%	2.67	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
	8. /default_ejour nals.asp	207 (0.78%)	14.01%	29 (0.32%)	75.36%	1.81	00:02:07	5.80%	12 (0.34%)	\$0.00 (0.00%)
	9. /indexesdb/In dexes.asp	183 (0.69%)	13.11%	24 (0.26%)	25.68%	2.52	00:04:43	100.00%	183 (5.14%)	\$0.00 (0.00%)
	/friendly.php? 10. action=82&s= services	149 (0.56%)	73.15%	109 (1.20%)	24.16%	2.99	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	/yearbooks/d efault.asp	149 (0.56%)	83.22%	124 (1.37%)	74.50%	1.44	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/default_res.h tm	148 (0.56%)	10.81%	16 (0.18%)	75.68%	1.69	00:02:47	0.68%	1 (0.03%)	\$0.00 (0.00%)
,	/indexesdb/ln dexes.asp?se arch=A⟩ e=SZ	128 (0.48%)	28.91%	37 (0.41%)	72.66%	1.74	00:01:22	100.00%	128 (3.59%)	\$0.00 (0.00%)

14.	/techserv/pro cedurestop.ht m	115	(0.43%)	79.13%	91	(1.00%)	68.70%	1.77	00:01:00	5.22%	6 (0.17%)	\$0.00	(0.00%)
15.	/indexesdb/in dexes.asp	103	(0.39%)	30.10%	31	(0.34%)	42.72%	2.01	00:01:34	100.00%	103 (2.89%)	\$0.00	(0.00%)
16.	/townreport/d efault.asp	89	(0.34%)	61.80%	55	(0.61%)	22.47%	3.34	00:04:41	1.12%	1 (0.03%)	\$0.00	(0.00%)
17.	/about	87	(0.33%)	73.56%	64	(0.70%)	70.11%	1.90	00:01:01	0.00%	0 (0.00%)	\$0.00	(0.00%)
18.	/advanced	78	(0.29%)	28.21%	22	(0.24%)	16.67%	2.87	00:06:29	0.00%	0 (0.00%)	\$0.00	(0.00%)
19.	(not set)	76	(0.29%)	34.21%	26	(0.29%)	0.00%	0.00	00:00:48	0.00%	0 (0.00%)	\$0.00	(0.00%)
20.	/townreport/h oldings.htm	72	(0.27%)	66.67%	48	(0.53%)	50.00%	3.10	00:05:32	1.39%	1 (0.03%)	\$0.00	(0.00%)
21.	/c.php?g=137 204&p=8970 07&preview= 9754ae0c2bb 1095837d5f8 61e42f4a4a	64	(0.24%)	70.31%	45	(0.50%)	67.19%	2.31	00:01:12	0.00%	0 (0.00%)	\$0.00	(0.00%)
22.	/circ/OakesR oom.htm	63	(0.24%)	41.27%	26	(0.29%)	88.89%	1.32	00:00:57	0.00%	0 (0.00%)	\$0.00	(0.00%)
23.	/speccoll/defa ult.asp	61	(0.23%)	57.38%	35	(0.39%)	37.70%	3.30	00:01:53	0.00%	0 (0.00%)	\$0.00	(0.00%)
24.	/theses/defaul t.asp	57	(0.21%)	68.42%	39	(0.43%)	73.68%	1.49	00:00:49	1.75%	1 (0.03%)	\$0.00	(0.00%)
25.	/scifinder_dat abase_guide	56	(0.21%)	32.14%	18	(0.20%)	85.71%	1.20	00:01:32	0.00%	0 (0.00%)	\$0.00	(0.00%)
26.	/circ/umbrella. htm	55	(0.21%)	30.91%	17	(0.19%)	56.36%	1.93	00:02:04	1.82%	1 (0.03%)	\$0.00	(0.00%)
27.	/contacts.htm	53	(0.20%)	47.17%	25	(0.28%)	41.51%	2.42	00:03:10	1.89%	1 (0.03%)	\$0.00	(0.00%)
28.	/friendly.php? action=82&s= about	51	(0.19%)	86.27%	44	(0.48%)	64.71%	1.80	00:01:13	0.00%	0 (0.00%)	\$0.00	(0.00%)
29.	/indexesdb/In dexes.asp?se arch=A⟩ e=DH	50	(0.19%)	8.00%	4	(0.04%)	72.00%	1.58	00:02:01	100.00%	50 (1.40%)	\$0.00	(0.00%)
30.	/Interlibrarylo an	43	(0.16%)	51.16%	22	(0.24%)	72.09%	1.65	00:00:56	0.00%	0 (0.00%)	\$0.00	(0.00%)
31.	/theses/index. htm	43	(0.16%)	46.51%	20	(0.22%)	65.12%	1.70	00:02:17	0.00%	0 (0.00%)	\$0.00	(0.00%)
32.	/general/rese arch3.htm	42	(0.16%)	92.86%	39	(0.43%)	97.62%	1.02	00:00:01	0.00%	0 (0.00%)	\$0.00	(0.00%)
33.	/friendly.php? action=82&s= scifinder_data base_guide	38	(0.14%)	60.53%	23	(0.25%)	84.21%	1.32	00:01:05	0.00%	0 (0.00%)	\$0.00	(0.00%)
34.	/c.php?g=149 681&p=1043 072	37	(0.14%)	62.16%	23	(0.25%)	70.27%	2.14	00:01:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
35.	/speccoll/Find ingAids/Great NorthernPape r.htm	36	(0.14%)	88.89%	32	(0.35%)	86.11%	1.42	00:00:42	0.00%	0 (0.00%)	\$0.00	(0.00%)
36.	/staffinfo/defa ult.asp	36	(0.14%)	5.56%	2	(0.02%)	38.89%	2.83	00:07:45	2.78%	1 (0.03%)	\$0.00	(0.00%)
37.	/circ/default.a sp	35	(0.13%)	31.43%	11	(0.12%)	62.86%	2.11	00:02:25	0.00%	0 (0.00%)	\$0.00	(0.00%)
38.	/speccoll/Find ingAids/Parso nsFamilyPap ers.htm	32	(0.12%)	84.38%	27	(0.30%)	93.75%	1.12	00:01:04	0.00%	0 (0.00%)	\$0.00	(0.00%)
39.	/about/emplo yment.htm	31	(0.12%)	61.29%	19	(0.21%)	70.97%	1.52	00:04:22	0.00%	0 (0.00%)	\$0.00	(0.00%)

40.	/climate/defau lt.asp	31	(0.12%)	0.00%	0	(0.00%)	74.19%	2.61	00:01:50	0.00%	0 (0.00%)	\$0.00	(0.00%)
41.	/onesearch.ht m	31	(0.12%)	6.45%	2	(0.02%)	64.52%	3.10	00:06:53	19.35%	6 (0.17%)	\$0.00	(0.00%)
42.	/speccoll/new spapers_locat ion.htm	31	(0.12%)	93.55%	29	(0.32%)	90.32%	1.23	00:00:58	0.00%	0 (0.00%)	\$0.00	(0.00%)
43.	/techserv/Cat aloging/proce ssing.htm	29	(0.11%)	100.00%	29	(0.32%)	82.76%	1.31	00:00:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
44.	/indexesdb/In dexes.asp?se arch=A⟩ e=NS	25	(0.09%)	0.00%	0	(0.00%)	64.00%	1.56	00:03:42	100.00%	25 (0.70%)	\$0.00	(0.00%)
45.	/techserv/def ault.asp	23	(0.09%)	13.04%	3	(0.03%)	8.70%	2.35	00:00:36	0.00%	0 (0.00%)	\$0.00	(0.00%)
46.	/speccoll/Find ingAids/Centr alMainePowe rCorecords.ht m	20	(0.08%)	60.00%	12	(0.13%)	95.00%	1.05	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%)
47.	/speccoll/Find ingAids/Hamli nfamilyinvent ory.htm	20	(0.08%)	90.00%	18	(0.20%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
48.	/speccoll/Find ingAids/Main eCentralRR.h tm	19	(0.07%)	78.95%	15	(0.17%)	89.47%	1.16	00:00:14	0.00%	0 (0.00%)	\$0.00	(0.00%)
49.	/speccoll/Gui des/nativeam erican.htm	19	(0.07%)	73.68%	14	(0.15%)	89.47%	1.21	00:00:29	0.00%	0 (0.00%)	\$0.00	(0.00%)
50.	/facultyservic es	18	(0.07%)	33.33%	6	(0.07%)	72.22%	1.67	00:00:22	0.00%	0 (0.00%)	\$0.00	(0.00%)
51.	/facultyservic es.htm	18	(0.07%)	22.22%	4	(0.04%)	27.78%	2.33	00:02:24	11.11%	2 (0.06%)	\$0.00	(0.00%)
52.	/friendly.php? action=82&s= Interlibraryloa n	17	(0.06%)	88.24%	15	(0.17%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
53.	/c.php?g=154 193&p=1029 666	16	(0.06%)	6.25%	1	(0.01%)	93.75%	1.06	00:00:27	0.00%	0 (0.00%)	\$0.00	(0.00%)
54.	/colldev/trials. htm	16	(0.06%)	43.75%	7	(0.08%)	56.25%	2.00	00:03:43	0.00%	0 (0.00%)	\$0.00	(0.00%)
55.	/speccoll/findi ngaids/wiggin sjr.htm	16	(0.06%)	93.75%	15	(0.17%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
56.	/speccoll/new spapers.htm	16	(0.06%)	81.25%	13	(0.14%)	31.25%	2.12	00:00:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
57.	/techserv/Cat aloging/Down load_Copy.ht m	16	(0.06%)	100.00%	16	(0.18%)	87.50%	1.38	00:00:24	0.00%	0 (0.00%)	\$0.00	(0.00%)
58.	/ant290	15	(0.06%)	40.00%	6	(0.07%)	86.67%	1.67	00:03:33	0.00%	0 (0.00%)	\$0.00	(0.00%)
59.	/refchat.htm	15	(0.06%)	46.67%	7	(0.08%)	66.67%	2.33	00:04:38	13.33%	2 (0.06%)	\$0.00	(0.00%)
60.	/speccoll/Find ingAids/EMG H.htm	15	(0.06%)	86.67%	13	(0.14%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
61.	/LAC/lac_devf und_home.ht m	14	(0.05%)	7.14%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
62.	/speccoll/Find ingAids/Diam ondMatchCre cords.htm	14	(0.05%)	85.71%	12	(0.13%)	64.29%	1.57	00:02:40	0.00%	0 (0.00%)	\$0.00	(0.00%)

63.	/speccoll/Find ingAids/Peirc efamilyinvent ory.htm	14	(0.05%)	71.43%	10	(0.11%)	85.71%	1.29	00:01:36	0.00%	0 (0.00%)	\$0.00	(0.00%)
64.	/about/flooral phabet.htm	13	(0.05%)	30.77%	4	(0.04%)	46.15%	3.54	00:00:58	0.00%	0 (0.00%)	\$0.00	(0.00%)
65.	/default_idb_ LibGuideSubj .asp	13	(0.05%)	0.00%	0	(0.00%)	23.08%	5.62	00:10:50	7.69%	1 (0.03%)	\$0.00	(0.00%)
66.	/friendly.php? action=82&s= patents	13	(0.05%)	76.92%	10	(0.11%)	76.92%	1.62	00:01:45	0.00%	0 (0.00%)	\$0.00	(0.00%)
67.	/speccoll/Find ingAids/Dow. htm	13	(0.05%)	92.31%	12	(0.13%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
68.	/townreport/h oldings2.htm	13	(0.05%)	46.15%	6	(0.07%)	53.85%	9.69	00:24:26	7.69%	1 (0.03%)	\$0.00	(0.00%)
69.	/yearbooks/se venties.htm	13	(0.05%)	76.92%	10	(0.11%)	69.23%	2.15	00:02:29	0.00%	0 (0.00%)	\$0.00	(0.00%)
70.	/about/floorpl an2.htm	12	(0.05%)	25.00%	3	(0.03%)	66.67%	1.33	00:00:47	0.00%	0 (0.00%)	\$0.00	(0.00%)
71.	/indexesdb/ln dexes.asp?se arch=A⟩ e=AD	12	(0.05%)	8.33%	1	(0.01%)	50.00%	2.08	00:02:03	100.00%	12 (0.34%)	\$0.00	(0.00%)
72.	/indexesdb/In dexes.asp?se arch=A⟩ e=HN	12	(0.05%)	25.00%	3	(0.03%)	41.67%	2.50	00:00:54	100.00%	12 (0.34%)	\$0.00	(0.00%)
73.	/reserves/def ault.htm	12	(0.05%)	33.33%	4	(0.04%)	25.00%	2.67	00:00:30	0.00%	0 (0.00%)	\$0.00	(0.00%)
74.	/scitechbus/p ulpandpaper. htm	12	(0.05%)	91.67%	11	(0.12%)	91.67%	1.08	00:00:10	0.00%	0 (0.00%)	\$0.00	(0.00%)
75.	/speccoll/Find ingAids/Leavit t.htm	12	(0.05%)	91.67%	11	(0.12%)	83.33%	1.17	00:00:23	0.00%	0 (0.00%)	\$0.00	(0.00%)
76.	/staff/rumery. htm	12	(0.05%)	83.33%	10	(0.11%)	75.00%	2.17	00:01:51	0.00%	0 (0.00%)	\$0.00	(0.00%)
77.	/techserv/Cat aloging/JSTO R_DDA_trigg ers.htm	12	(0.05%)	58.33%	7	(0.08%)	83.33%	1.17	00:00:32	0.00%	0 (0.00%)	\$0.00	(0.00%)
78.	/yearbooks/si xties.htm	12	(0.05%)	41.67%	5	(0.06%)	58.33%	1.75	00:01:41	0.00%	0 (0.00%)	\$0.00	(0.00%)
79.	/patents/defa ult.asp	11	(0.04%)	81.82%	9	(0.10%)	54.55%	10.55	00:07:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
80.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bacteriopha ge+\(\lambda\)+develo pment:+temp oral+switches +and+the+ch oice+of+lysis +or+lysogeny &go.x=0&go. y=0	11	(0.04%)	0.00%	0	(0.00%)	72.73%	1.27	00:00:05	0.00%	0 (0.00%)	\$0.00	(0.00%)
81.	/search?s.q=	11	(0.04%)	72.73%	8	(0.09%)	72.73%	2.27	00:02:24	0.00%	0 (0.00%)	\$0.00	(0.00%)
82.	/speccoll/Find ingAids/Arnol dWalterLinve ntory.htm	11	(0.04%)	90.91%	10	(0.11%)	63.64%	3.00	00:02:15	0.00%	0 (0.00%)	\$0.00	(0.00%)
	/speccoll/Find ingAids/Baxte			24.2224	^		400 0004		20.00.00	2 2224	<u> </u>	***	

83.	rCanningCore cords.htm	11	(0.04%)	81.82%	9	(0.10%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
84.	/speccoll/Find ingAids/Davis mey.htm	11	(0.04%)	90.91%	10	(0.11%)	90.91%	1.09	00:00:23	0.00%	0 (0.00%)	\$0.00	(0.00%)
85.	/colldev/conta cts.htm	10	(0.04%)	40.00%	4	(0.04%)	70.00%	1.30	00:01:36	0.00%	0 (0.00%)	\$0.00	(0.00%)
86.	/scitechbus/d efault.asp	10	(0.04%)	40.00%	4	(0.04%)	10.00%	8.80	00:15:33	0.00%	0 (0.00%)	\$0.00	(0.00%)
87.	/scitechbus/p atents.htm	10	(0.04%)	60.00%	6	(0.07%)	70.00%	1.60	00:01:17	0.00%	0 (0.00%)	\$0.00	(0.00%)
88.	/speccoll/alln ewspapers.ht m	10	(0.04%)	80.00%	8	(0.09%)	90.00%	1.20	00:00:31	0.00%	0 (0.00%)	\$0.00	(0.00%)
89.	/speccoll/Find ingAids/Gard nerRecords.h tm	10	(0.04%)	80.00%	8	(0.09%)	80.00%	1.90	00:00:51	0.00%	0 (0.00%)	\$0.00	(0.00%)
90.	/speccoll/Find ingAids/PhiKa ppaPhi.htm	10	(0.04%)	80.00%	8	(0.09%)	90.00%	1.20	00:00:52	0.00%	0 (0.00%)	\$0.00	(0.00%)
91.	/speccoll/Find ingAids/Thore auFellowship. htm	10	(0.04%)	80.00%	8	(0.09%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
92.	/speccoll/man u-a-d.1.htm	10	(0.04%)	100.00%	10	(0.11%)	70.00%	1.70	00:02:21	0.00%	0 (0.00%)	\$0.00	(0.00%)
93.	/staff/libx_gui de.htm	10	(0.04%)	70.00%	7	(0.08%)	50.00%	1.90	00:01:35	10.00%	1 (0.03%)	\$0.00	(0.00%)
94.	/techserv/Cat aloging/Score s.htm	10	(0.04%)	100.00%	10	(0.11%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
95.	/canstudies/n ews.htm	9	(0.03%)	100.00%	9	(0.10%)	77.78%	1.44	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%)
96.	/forester/defa ult.asp	9	(0.03%)	55.56%	5	(0.06%)	66.67%	1.44	00:01:53	0.00%	0 (0.00%)	\$0.00	(0.00%)
97.	/reserves/usin g_reserve.ht m	9	(0.03%)	11.11%	1	(0.01%)	0.00%	3.78	00:00:45	0.00%	0 (0.00%)	\$0.00	(0.00%)
98.	/speccoll/Find ingAids/Cham berlainFamily. htm	9	(0.03%)	88.89%	8	(0.09%)	88.89%	1.11	00:01:09	0.00%	0 (0.00%)	\$0.00	(0.00%)
99.	/speccoll/Find ingAids/CoeF am.htm	9	(0.03%)	77.78%	7	(0.08%)	88.89%	1.11	00:02:15	0.00%	0 (0.00%)	\$0.00	(0.00%)
100.	/speccoll/findi ngaids/gibbon s.htm	9	(0.03%)	88.89%	8	(0.09%)	88.89%	1.22	00:00:03	0.00%	0 (0.00%)	\$0.00	(0.00%)
101.	/speccoll/Find ingAids/Hamil tonBrooks.ht m	9	(0.03%)	77.78%	7	(0.08%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
102.	/speccoll/Gui des/francoam erican.htm	9	(0.03%)	100.00%	9	(0.10%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
103.	/techserv/Cat aloging/Kirtas /Split_Pages. htm	9	(0.03%)	66.67%	6	(0.07%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
104.	/techserv/frie ndlyurls.htm	9	(0.03%)	33.33%	3	(0.03%)	55.56%	2.44	00:04:55	0.00%	0 (0.00%)	\$0.00	(0.00%)
105.	/theses/about .htm	9	(0.03%)	77.78%	7	(0.08%)	66.67%	2.89	00:02:23	0.00%	0 (0.00%)	\$0.00	(0.00%)
106.	/librarynews/d efault.asp	8	(0.03%)	12.50%	1	(0.01%)	75.00%	1.38	00:00:09	0.00%	0 (0.00%)	\$0.00	(0.00%)

107.	/newmedia/de fault.asp	8 (0.03%)	25.00%	2 (0.02%)	75.00%	1.25	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
108.	/resources.ht	8 (0.03%)	12.50%	1 (0.01%)	12.50%	3.50	00:04:56	12.50%	1 (0.03%)	\$0.00 (0.00%)
109.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Flye+Poi nt	8 (0.03%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
110.	/SpecColl/Fin dingAids/Ham linfamilyinven tory.htm	8 (0.03%)	100.00%	8 (0.09%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
111.	/speccoll/Find ingAids/Katah dinIronWorksr ecords.htm	8 (0.03%)	50.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
112.	/speccoll/man u-e-i.htm	8 (0.03%)	100.00%	8 (0.09%)	75.00%	1.25	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
113.	/staff/newonli nesource_cc. htm	8 (0.03%)	100.00%	8 (0.09%)	62.50%	1.50	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
114.	/staff/rollins.ht m	8 (0.03%)	75.00%	6 (0.07%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
115.	/techserv/Cat aloging/rareb ooks.htm	8 (0.03%)	87.50%	7 (0.08%)	87.50%	1.12	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
116.	/townreport/to wn_highlights .htm	8 (0.03%)	75.00%	6 (0.07%)	87.50%	1.12	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
117.	/c.php?g=129 867	7 (0.03%)	57.14%	4 (0.04%)	57.14%	3.29	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
118.	/c.php?g=149 686&p=1007 278	7 (0.03%)	85.71%	6 (0.07%)	28.57%	3.29	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
119.	/corepages/w hatsnew.aspx	7 (0.03%)	42.86%	3 (0.03%)	57.14%	1.86	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
120.	/friendly.php? action=82&s= facultyservice s	7 (0.03%)	57.14%	4 (0.04%)	42.86%	1.57	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
121.	/speccoll/Find ingAids/Hamli ncy.htm	7 (0.03%)	100.00%	7 (0.08%)	71.43%	1.86	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
122.	/speccoll/Find ingAids/Hayst ack.htm	7 (0.03%)	100.00%	7 (0.08%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
123.	/speccoll/Find ingAids/Main eSlateCoreco rds.htm	7 (0.03%)	100.00%	7 (0.08%)	85.71%	1.14	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
124.	/speccoll/Find ingAids/Main eStateGrange .htm	7 (0.03%)	100.00%	7 (0.08%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
125.	/speccoll/Find ingAids/Muen chjo.htm	7 (0.03%)	85.71%	6 (0.07%)	71.43%	1.43	00:04:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
126.	/speccoll/Find ingAids/Seed Catalogs1930 s.htm	7 (0.03%)	85.71%	6 (0.07%)	85.71%	2.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
127.	/speccoll/Find ingAids/Webb erFamily htm	7 (0.03%)	85.71%	6 (0.07%)	85.71%	1.14	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)

128.	/speccoll/man	7 (0.03%)	85.71%	6 (0.07%)	57.14%	3.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
	u-j-p.htm /speccoll/scst	` ,		<u> </u>						
129.	aff.htm /staff/bonnet.	7 (0.03%)	28.57%	2 (0.02%)	57.14%	3.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
130.	htm	7 (0.03%)	57.14%	4 (0.04%)	71.43%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
131.	/techserv/Cat aloging/Kirtas /Google_Map s.htm	7 (0.03%)	71.43%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
132.	/yearbooks/ei ghties.htm	7 (0.03%)	85.71%	6 (0.07%)	14.29%	10.71	00:23:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
133.	/colldev/cdpol icy/gencdpol. htm	6 (0.02%)	83.33%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
134.	/colldev/eboo ks/ebooksfaq. htm	6 (0.02%)	83.33%	5 (0.06%)	33.33%	3.17	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
135.	/colldev/umau thors.htm	6 (0.02%)	66.67%	4 (0.04%)	66.67%	1.83	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
136.	/general/schol arly_popular. htm	6 (0.02%)	100.00%	6 (0.07%)	83.33%	1.17	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
137.	/psychology	6 (0.02%)	0.00%	0 (0.00%)	33.33%	8.67	00:13:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
138.	/referenceser vices	6 (0.02%)	66.67%	4 (0.04%)	33.33%	3.83	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
139.	/search?s.cm d=nextPage() &s.legacyLink ing=f&s.light= t&s.pn=2&s.q =USDA+orga nic+critiques &s.rf=Publicat ionDate,1973: *&s.solrQuery =f	6 (0.02%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
140.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psycinfo&go .x=0&go.y=0	6 (0.02%)	0.00%	0 (0.00%)	83.33%	1.83	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
141.	/speccoll/Find ingAids/Bean. htm	6 (0.02%)	100.00%	6 (0.07%)	50.00%	1.67	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
142.	/speccoll/Find ingAids/Intern ationalBrother hoodPaperm akers.htm	6 (0.02%)	100.00%	6 (0.07%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
143.	/speccoll/Find ingAids/Jane MaryC.htm	6 (0.02%)	100.00%	6 (0.07%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
144.	/speccoll/Find ingAids/Johns onMarc.htm	6 (0.02%)	83.33%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
145.	/speccoll/Find ingAids/Kings tep.htm	6 (0.02%)	100.00%	6 (0.07%)	83.33%	1.17	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
146.	/speccoll/Find ingAids/McCri llisWH.htm	6 (0.02%)	83.33%	5 (0.06%)	83.33%	2.33	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
147.	/speccoll/Find ingAids/Miller Charleypaper s.htm	6 (0.02%)	83.33%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/speccoll/Find									

148.	ingAids/Pays onLouise.htm	6	(0.02%)	66.67%	4	(0.04%)	83.33%	1.17	00:00:04	0.00%	0 (0.00%)	\$0.00	(0.00%)
149.	/speccoll/Find ingAids/Peno bscotChemic alFibreCorec ords.htm	6	(0.02%)	50.00%	3	(0.03%)	50.00%	1.50	00:01:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
150.	/speccoll/Find ingAids/Wilso n1.htm	6	(0.02%)	83.33%	5	(0.06%)	83.33%	1.17	00:00:22	0.00%	0 (0.00%)	\$0.00	(0.00%)
151.	/staff/clement. htm	6	(0.02%)	66.67%	4	(0.04%)	66.67%	2.33	00:02:21	0.00%	0 (0.00%)	\$0.00	(0.00%)
152.	/staff/lund.ht m	6	(0.02%)	66.67%	4	(0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
153.	/canstudies/h ours.htm	5	(0.02%)	60.00%	3	(0.03%)	0.00%	4.80	00:07:18	20.00%	1 (0.03%)	\$0.00	(0.00%)
154.	/ead698	5	(0.02%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
155.	/educationgui de	5	(0.02%)	20.00%	1	(0.01%)	20.00%	4.80	00:14:06	0.00%	0 (0.00%)	\$0.00	(0.00%)
156.	/ejournals/def ault.asp?Biol ogy=	5	(0.02%)	20.00%	1	(0.01%)	80.00%	1.40	00:00:10	0.00%	0 (0.00%)	\$0.00	(0.00%)
157.	/Government Documents	5	(0.02%)	100.00%	5	(0.06%)	40.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00	(0.00%)
158.	/readingpracti ces	5	(0.02%)	60.00%	3	(0.03%)	40.00%	10.00	00:23:03	0.00%	0 (0.00%)	\$0.00	(0.00%)
159.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Bill+is+now +singing":+Joi nt+engageme nt+and+the+e mergence+of +social+com munication+o f+three+youn g+children+wi th+autism.+& go.x=0&go.y= 0	5	(0.02%)	0.00%	0	(0.00%)	0.00%	4.20	00:11:55	0.00%	0 (0.00%)	\$0.00	(0.00%)
160.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Documentar y+Film:+The+ use+of+the+F ilm+Medium+ to+Interpret+ Creatively+an d+in+Social+ Terms+the+Li fe+of+the+Pe ople+as+it+E xists+in+Reali ty&go.x=0&g o.y=0	5	(0.02%)	0.00%	0	(0.00%)	80.00%	2.00	00:01:34	0.00%	0 (0.00%)	\$0.00	(0.00%)
161.	/sitemap.htm	5	(0.02%)	60.00%	3	(0.03%)	40.00%	2.40	00:03:14	0.00%	0 (0.00%)	\$0.00	(0.00%)
162.	/speccoll/Find ingAids/Ames familyinventor y.htm	5	(0.02%)	80.00%	4	(0.04%)	80.00%	1.20	00:00:26	0.00%	0 (0.00%)	\$0.00	(0.00%)
163.	/speccoll/Find ingAids/Bisso nTA.htm	5	(0.02%)	80.00%	4	(0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
164.	/speccoll/findi ngaids/duben ormand.htm	5	(0.02%)	100.00%	5	(0.06%)	80.00%	1.20	00:00:05	0.00%	0 (0.00%)	\$0.00	(0.00%)
405	/speccoll/Find		(0.00/)	400 000/		(0.000/)	00.000/	4.00	00-00-00	0.000/	0 (0.000()	#0.00	(0.000()

165.	ingAids/Josse lyn.htm	5 (0.02%)	100.00%	5 (0.06%)	60.00%	1.80	00:00:36	0.00%	U (0.00%)	\$0.00 ((0.00%)
166.	/speccoll/Find ingAids/Main eDairymensA ssocrecords.h tm	5 (0.02%)	100.00%	5 (0.06%)	80.00%	1.60	00:00:16	0.00%	0 (0.00%)	\$0.00 ((0.00%)
167.	/speccoll/Find ingAids/Mitch ellfamilyinven tory.htm	5 (0.02%)	100.00%	5 (0.06%)	60.00%	1.40	00:00:46	0.00%	0 (0.00%)	\$0.00 ((0.00%)
168.	/speccoll/Find ingAids/Patch Edith.htm	5 (0.02%)	20.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
169.	/speccoll/Find ingAids/Phipp enc.htm	5 (0.02%)	60.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
170.	/speccoll/Find ingAids/Rese archSponsore dPrograms.ht m	5 (0.02%)	80.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
171.	/speccoll/Find ingAids/Smith DavidG.htm	5 (0.02%)	60.00%	3 (0.03%)	80.00%	1.40	00:00:02	0.00%	0 (0.00%)	\$0.00 ((0.00%)
172.	/speccoll/Find ingAids/Spec kFrank.htm	5 (0.02%)	100.00%	5 (0.06%)	80.00%	1.20	00:00:10	0.00%	0 (0.00%)	\$0.00 ((0.00%)
173.	/speccoll/Find ingAids/Stein Song.htm	5 (0.02%)	80.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
174.	/speccoll/man u-r-y.htm	5 (0.02%)	100.00%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
175.	/speccoll/man ucol.htm	5 (0.02%)	60.00%	3 (0.03%)	60.00%	4.00	00:03:21	0.00%	0 (0.00%)	\$0.00 ((0.00%)
176.	/staff/butterfie ld.htm	5 (0.02%)	60.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
177.	/staff/liu.htm	5 (0.02%)	40.00%	2 (0.02%)	80.00%	1.40	00:00:05	0.00%	0 (0.00%)	\$0.00 ((0.00%)
178.	/techserv/Cat aloging/invent ory.htm	5 (0.02%)	80.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
179.	/techserv/Eps on_labels.htm	5 (0.02%)	100.00%	5 (0.06%)	60.00%	1.80	00:00:40	0.00%	0 (0.00%)	\$0.00 ((0.00%)
180.	/techserv/labe lprinting.htm	5 (0.02%)	40.00%	2 (0.02%)	80.00%	4.60	00:18:16	0.00%	0 (0.00%)	\$0.00 ((0.00%)
181.	/canstudies/th eses.htm	4 (0.02%)	75.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%)
182.	/circ/food.htm	4 (0.02%)	50.00%	2 (0.02%)	75.00%	1.25	00:00:01	0.00%	0 (0.00%)	\$0.00 ((0.00%)
183.	/circ/tours.ht m	4 (0.02%)	75.00%	3 (0.03%)	75.00%	2.50	00:00:42	0.00%	0 (0.00%)	\$0.00 ((0.00%)
184.	/cohen/Collec tion_Descripti on/106_03_0 3_05_06.htm	4 (0.02%)	0.00%	0 (0.00%)	75.00%	1.75	00:00:16	0.00%	0 (0.00%)	\$0.00 ((0.00%)
185.	/colldev/cdpol icy/default.as p	4 (0.02%)	75.00%	3 (0.03%)	75.00%	1.50	00:00:19	0.00%	0 (0.00%)	\$0.00 ((0.00%)
186.	/colldev/defau lt.asp	4 (0.02%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:48	0.00%	0 (0.00%)	\$0.00 ((0.00%)
187.	/digitalcommo	4 (0.02%)	25.00%	1 (0.01%)	25.00%	3.25	00:01:30	0.00%	0 (0.00%)	\$0.00 ((0.00%)
188.	/friendly.php? action=82&s= patents/orono ptrc	4 (0.02%)	75.00%	3 (0.03%)	25.00%	2.75	00:12:01	0.00%	0 (0.00%)	\$0.00 ((0.00%)

189.	/friendly.php? action=82&s= wgs301okin	4 (0.02%)	50.00%	2 (0.02%)	75.00%	1.25	00:04:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
190.	/mrc/equipme nt.htm	4 (0.02%)	50.00%	2 (0.02%)	50.00%	2.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
191.	/mrc/policy.ht m	4 (0.02%)	50.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
192.	/my_ncbi	4 (0.02%)	0.00%	0 (0.00%)	75.00%	1.75	00:07:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
193.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=grateful+ dead	4 (0.02%)	50.00%	2 (0.02%)	75.00%	1.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
194.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =economics+ of+agricultura I+developme nt&go.x=0&g o.y=0	4 (0.02%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
195.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lowrey,+clim ate+research &go.x=0&go. y=0	4 (0.02%)	0.00%	0 (0.00%)	75.00%	1.25	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
196.	/search?s.q= MAINEMan2	4 (0.02%)	100.00%	4 (0.04%)	25.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
197.	/search?s.q= Mars	4 (0.02%)	100.00%	4 (0.04%)	50.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
198.	/speccoll/Find ingAids/Andro scoggininvent ory.htm	4 (0.02%)	75.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
199.	/speccoll/Find ingAids/Booth Brosrecords.h tm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/speccoll/Find									
200.	ingAids/Brick erH.htm	4 (0.02%)	75.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
201.	/speccoll/Find ingAids/Camp inginMaine.ht m	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
202.	/speccoll/Find ingAids/Churc hillEdwininve ntory.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
203.	/speccoll/Find ingAids/Colw ellMiriam.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
204.	/speccoll/Find ingAids/Cronk Corydoninven tory.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
205.	/speccoll/Find ingAids/Dutto nFamily.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
206.	/speccoll/Find ingAids/Eckst ormFH.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/speccoll/Find									

207.	ingAids/Geag anBillpapers. htm	4 (0.02%)	75.00%	3 (0.03%)	75.00%	1.25	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
208.	/speccoll/Find ingAids/Heple rPaulRpapers .htm	4 (0.02%)	50.00%	2 (0.02%)	50.00%	2.25	00:05:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
209.	/speccoll/Find ingAids/Higgi ns.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
210.	/speccoll/Find ingAids/Howl ettDuncanpap ers.htm	4 (0.02%)	75.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
211.	/speccoll/Find ingAids/Schru mp2.htm	4 (0.02%)	100.00%	4 (0.04%)	75.00%	1.50	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
212.	/speccoll/Find ingAids/Talbo tWhittier.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
213.	/speccoll/Find ingAids/Thom psonDeborah .htm	4 (0.02%)	75.00%	3 (0.03%)	75.00%	1.50	00:08:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
214.	/speccoll/Find ingAids/Vicke ry2.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
215.	/speccoll/Find ingAids/Vicke rym.htm	4 (0.02%)	100.00%	4 (0.04%)	75.00%	1.25	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
216.	/speccoll/Find ingAids/Wein erMarli.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
217.	/staff/wallace. htm	4 (0.02%)	50.00%	2 (0.02%)	75.00%	1.25	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
218.	/techserv/Cat aloging/duplic ates.htm	4 (0.02%)	100.00%	4 (0.04%)	75.00%	1.25	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
219.	/techserv/Cat aloging/Kirtas /OCR_These s.htm	4 (0.02%)	50.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
220.	/techserv/Lab elPrinting.htm	4 (0.02%)	50.00%	2 (0.02%)	50.00%	2.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
221.	/techserv/urlc hecking.htm	4 (0.02%)	100.00%	4 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
222.	/troubleshooti ng/commonis sues?preview =80218cc8c6 29e2ddff50bf 9ea6600bf9	4 (0.02%)	0.00%	0 (0.00%)	25.00%	4.25	00:14:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
223.	/about/floorpl an3.htm	3 (0.01%)	66.67%	2 (0.02%)	33.33%	4.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
224.	/c.php?g=129 056&p=1734 866&preview =33909a64e8 fbe3082e48a 3318242209e	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
225.	/circ/photocop y.htm	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
226.	/climate/clima tedata.htm	3 (0.01%)	100.00%	3 (0.03%)	66.67%	1.33	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
227.	/cohen/Collec tion_Descripti on/106_03_0 3_05_03.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/friendly.nhn?									

228.	action=82&s= educationguid e	3 (0.01%)	0.00%	0 (0.00%)	33.33%	8.67	00:11:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
229.	/friendly.php? action=82&s= peacestudies	3 (0.01%)	100.00%	3 (0.03%)	66.67%	1.33	<00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
230.	/friendly.php? action=82&s= psychology	3 (0.01%)	0.00%	0 (0.00%)	0.00%	8.00	00:23:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
231.	/geoscan/mai ne_related.ht m	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
232.	/highlights/def ault.asp	3 (0.01%)	66.67%	2 (0.02%)	33.33%	6.00	00:02:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
233.	/highlights/his tory.htm	3 (0.01%)	66.67%	2 (0.02%)	33.33%	4.00	00:06:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
234.	/mobile/defaul t.asp	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
235.	/patents/oron optrc	3 (0.01%)	66.67%	2 (0.02%)	33.33%	1.67	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
236.	/scitechbus/e nvironment.ht m	3 (0.01%)	33.33%	1 (0.01%)	66.67%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
237.	/scitechbus/w oodtechnolog y.htm	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
238.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=IEEE+xpl ore	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
239.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Resonate	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
240.	/search?go.x =9&go.y=12& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Noho+h ewa	3 (0.01%)	33.33%	1 (0.01%)	33.33%	1.67	00:02:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
241.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algae&go.x= 0&go.y=0	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
242.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Calibration+ and+verificati on+of+a+par ametric+wave +model+on+b arred+beache s&go.x=6&go .y=13	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
243.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =compassion +fatigue&go.x =0&go.y=0	3 (0.01%)	0.00%	0 (0.00%)	0.00%	1.67	00:04:06	0.00%	0 (0.00%)	\$0.00 (0.00%)

244	/searcn/s.ivi[] =ContentTyp e,Newspaper +Article,t&s.q =The+Effect+ i. of+the+Interfa cial+Transitio n+Zone+on+ Concrete+Pro perties&go.x= 0&go.y=0	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:00:19	0.00%	O (0.00%)	\$0.00 (0.00%)
248	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+road+w ashes+out+in +spring&go.x =0&go.y=0	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
246	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =transgender +mental+heal th&go.x=0&g o.y=0	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
247	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =working+on +mars&go.x= 0&go.y=0	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
248	/search?s.fvf[0]=ContentTy pe,Newspape 3. r+Article,t&s. q=eurasia+ch ina&go.x=11 &go.y=4	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.67	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
249	Abolitionism	3 (0.01%)	33.33%	1 (0.01%)	0.00%	2.00	00:13:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
250	/search?s.q= Drug+testing +minors	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	/search?s.q= I. Drugs+in+tee ns	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
252	/search?s.q= 2. Gold+rush+of +1849	3 (0.01%)	33.33%	1 (0.01%)	33.33%	1.67	00:07:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
250	/search?s.q= B. maine+lobste rs	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
254	/search?s.q= Sacagawea	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	/search?s.q= Texas	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
256	6. /search.htm	3 (0.01%)	66.67%	2 (0.02%)	33.33%	2.00	00:01:23	33.33%	1 (0.03%)	\$0.00 (0.00%)
257	/speccoll/Find 7. ingAids/aubg. htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
258	/speccoll/Find 3. ingAids/Cham b.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
259	/speccoll/Find). ingAids/Chan dlerFam.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
260	/speccoll/Find D. ingAids/D'Arc y.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

261.	/speccoll/Find ingAids/Delan ofa.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
262.	/speccoll/Find ingAids/Dever euxFamily.ht m	3 (0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
263.	/speccoll/Find ingAids/Gree near.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
264.	/speccoll/Find ingAids/Hatch Benton.htm	3 (0.01%)	66.67%	2 (0.02%)	33.33%	1.67	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
265.	/speccoll/Find ingAids/Hatha wayW.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
266.	/speccoll/Find ingAids/Henry AndDavisFa mily.htm	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
267.	/speccoll/Find ingAids/Hitch nerBarbara.ht m	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
268.	/speccoll/Find ingAids/Kippe waCamprecor ds.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
269.	/speccoll/Find ingAids/Larra bee.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
270.	/speccoll/Find ingAids/Main eConsolidate dPowerRecor ds.htm	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.67	00:19:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
271.	/speccoll/Find ingAids/Main eMusicEduca torsAssoc.ht m	3 (0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
272.	/speccoll/Find ingAids/Norto nArthur.htm	3 (0.01%)	33.33%	1 (0.01%)	66.67%	2.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
273.	/speccoll/Find ingAids/Peno bscotLumberi nginventory.h tm	3 (0.01%)	33.33%	1 (0.01%)	33.33%	3.67	00:10:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
274.	/speccoll/findi ngaids/schru mp2.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
275.	/speccoll/Find ingAids/Siebe rtFrank.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276.	/speccoll/Find ingAids/Smith WalterB.htm	3 (0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
277.	/speccoll/Find ingAids/Sprin chorn.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
278.	/speccoll/Find ingAids/Starbi rdEdwinPape rs.htm	3 (0.01%)	100.00%	3 (0.03%)	33.33%	1.67	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
279.	/speccoll/Find ingAids/Taylo rPaul.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
280.	/speccoll/ursu s.htm	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.67	00:00:29	33.33%	1 (0.03%)	\$0.00 (0.00%)

281	/staff/curtis.ht m	3 (0.01%)	66.67%	2 (0.02%)	33.33%	2.00	00:04:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
282	/staff/gfeller.h	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.67	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/staff/links2ej ournals.htm	3 (0.01%)	100.00%	3 (0.03%)	66.67%	4.33	00:09:00	33.33%	1 (0.03%)	\$0.00 (0.00%)
284	/techserv/Cat aloging/audio books.htm	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
285	/techserv/Cat aloging/Data · ExchangePro cedure.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
286	/techserv/Cat aloging/onthe fly.htm	3 (0.01%)	100.00%	3 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
287	/techserv/Cat . aloging/Prest amps.htm	3 (0.01%)	100.00%	3 (0.03%)	66.67%	1.33	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
288	/techserv/Seri als/binding/th eses_student s.htm	3 (0.01%)	66.67%	2 (0.02%)	33.33%	2.00	00:08:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
289	/yearbooks/fift ies.htm	3 (0.01%)	100.00%	3 (0.03%)	66.67%	3.67	00:07:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
290	/about/floorpl an1.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
291	/about/parkin g.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
292	/c.php?g=109 518&p=7095 82	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
293	/c.php?g=118 . 010&p=1619 451	2 (0.01%)	0.00%	0 (0.00%)	50.00%	36.50	00:30:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
294	/c.php?g=124 . 750&p=8161 53	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.50	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
295	/c.php?g=149 . 686&p=1007 239	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
296	/c.php?g=158 342&p=1784 641&preview =b011e98341 395e0d7aa74 b69b635dad0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	5.00	00:11:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
297	/c.php?g=207 568	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
298	/c.php?g=209 343&p=1381 561&preview =9f1c90b7c2 2cd4bd07b1c 617783cdac5	2 (0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:20:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
299	/c.php?g=224 393&p=1487 510&preview =2a64ec33e4 277d8884455 f4608963d44	2 (0.01%)	50.00%	1 (0.01%)	0.00%	5.50	00:10:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
300	/c.php?g=265 530	2 (0.01%)	0.00%	0 (0.00%)	0.00%	4.50	00:17:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
301	/c.php?g=265 530&p=1775 334&preview =fefea49f238	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		117f7692c6d 7b8c91475a									
30	02.	/canstudies/d efault.asp	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	03.	/chem	2 (0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	04.	/circ/id_cards _honors.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	05.	/circ/id_cards. htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	3.00	00:06:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	06.	/citations	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	07.	/civileng	2 (0.01%)	50.00%	1 (0.01%)	0.00%	20.50	00:28:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	08.	/cmj/cmj103	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	09.	/cohen/Collec tion_Descripti on/106_02_0 3_03_03.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	4.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	10.	/cohen/Collec tion_Descripti on/106_03_0 3_14.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	11.	/colldev/cdpol icy/dcpolicy.ht m	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:16:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	12.	/colldev/cdpol icy/spcpolicy.	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	13.	/colldev/giftpo licy.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	14.	/colldev/newa cq.htm	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	15.	/DCself_archi ve	2 (0.01%)	50.00%	1 (0.01%)	0.00%	5.00	00:13:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	16.	/ead565	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	17.	/Educationgui de/newbooks ?preview=28c 96dc93d6036 f19b62be1f2d bad945	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	18.	/ejournals/def ault.asp?Bioc hemistry=	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
31	19.	/ejournals/fullt ext.htm	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	20.	/eleceng	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	21.	/friendly.php? action=82&s= economics-da tabases	2 (0.01%)	50.00%	1 (0.01%)	0.00%	5.00	00:07:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	22.	/friendly.php? action=82&s= GovernmentD ocuments	2 (0.01%)	100.00%	2 (0.02%)	0.00%	4.50	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	23.	/friendly.php? action=82&s= grants	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	24.	/friendly.php? action=82&s= socialwork	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	25.	/friendly.php? action=82&s= womensgend ersexuality	2 (0.01%)	100.00%	2 (0.02%)	50.00%	3.50	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)

326.	/friends/event s.htm	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
327.	/fsn501	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.50	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
328.	/general/appe ndproxyIP.ht m	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
329.	/general/rese arch2.htm	2 (0.01%)	100.00%	2 (0.02%)	0.00%	4.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
330.	/geoscan/gisli nks.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
331.	/jobsearch	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
332.	/litreview2	2 (0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
333.	/patents/reso urces	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
334.	/reference/def ault.asp	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
335.	/reserves/ove rview.htm	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
336.	/scitechbus/c ompany_rese arch.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.50	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
337.	/scitechbus/tr ademarks.ht m	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.50	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
338.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
339.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=10.1007/ BF02639319	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
340.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=antenna+ measurement s+standard	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.50	00:06:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
341.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=biostatisti cs	2 (0.01%)	100.00%	2 (0.02%)	50.00%	4.00	00:13:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
342.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=blackboa rd	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
343.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=chronicle +of+higher+e d	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.50	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content									

344.	Type,Newspa per+Article,t& s.q=Debating +China	2 (0.01%)	100.00%	2 (0.02%)	0.00%	2.50	00:05:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
345.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=don+Quix ote+	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
346.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=google+s cholar	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
347.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=GRE	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.50	00:20:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
348.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ieee	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
349.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=isotope+ geochemisty	2 (0.01%)	100.00%	2 (0.02%)	0.00%	2.50	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
350.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+geoscience +education	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
351.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+mass+medi a+ethics+expl oring+questio ns+of+media +morality	2 (0.01%)	100.00%	2 (0.02%)	50.00%	3.00	00:14:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
352.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+physical+ed ucation+recre ation+and+da nce	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.50	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
353.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Land+ec onomics	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
354.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=luc+ferrar	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)

	İ									
355.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=mandarin	2 (0.01%)	100.00%	2 (0.02%)	0.00%	2.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
356.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Mosquito +soldiers	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
357.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=nash+be yond+the+fra me	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
358.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=neaman	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
359.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ocean+a cidification	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
360.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=omnivore' s+dilemma	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.50	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
361.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=psych+inf o	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
362.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=publishin g+journal+articles	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.50	00:37:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
363.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Responsi ve+Governm ent?+Public+ Opinion+and +Government +Policy+Prefe rences+in+Bri tain+and+De nmark	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
364.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=rotter+an d+locus+of+c	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.50	00:12:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ontrol									
365.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=salmon+li ce+managem ent	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.00	00:05:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
366.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=school+lu nch+and+lear ning	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
367.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=She's+no t+there	2 (0.01%)	50.00%	1 (0.01%)	50.00%	4.50	00:05:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
368.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=statistical +analysis+of+ circular+data	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
369.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=television +in+the+60's	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
370.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+chin a+study	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
371.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+magi cians	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
372.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+palte let+storage+l esion	2 (0.01%)	100.00%	2 (0.02%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
373.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Phy sics+Teacher	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
374.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=william+c ohen	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x									

375.	=10&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=storytim e	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.50	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
376.	/search?go.x =11&go.y=6& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Networ k+design+an d+transportati on+planning: +Models+and +algorithms	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
377.	/search?go.x =13&go.y=15 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=effect +of+ethylene +gas+quality +of+tomato+c old+storage	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
378.	/search?go.x =13&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=quantu m+mechanics +with+applica tions	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
379.	/search?go.x =15&go.y=15 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=creati ve+activities+ as+a+means +of+self-care	2 (0.01%)	100.00%	2 (0.02%)	0.00%	1.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
380.	/search?go.x =16&go.y=4& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Astrono my+	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.00	00:05:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
381.	/search?go.x =6&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Walter+r euther	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
382.	/search?go.x =7&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Atlantic+j ournal+of+co mmunication +	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
383.	/search?go.x =7&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=School+ Management +Training+Co untry+Report: +England,+H EAD+Country +Report+200	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)

	5									
384.	/search?go.x =9&go.y=11& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=The+Co nstructive,+D estructive,+a nd+Reconstr uctive+Power +of+Social+N orms	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:03:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
385.	/search?go.x =9&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+plate let+storage+l esion	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:04:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
386.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Do+You+K now++What+ You+Owe?+S tudents'+Und erstanding++ of+Their+Stu dent+Loans." +&go.x=0&go .y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:12:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
387.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Acetyl-L-Car nitine&go.x=0 &go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.00	00:08:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
388.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Agatha+Chri stie	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
389.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algae+bloo ms+tourism& go.x=0&go.y= 0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
390.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =American+J ournal+of+pot ato+research &go.x=0&go. y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
391.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =antimicrobial +licorice&go. x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	13.50	00:30:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
392.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =astm&go.x= 0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)

393.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audio+book s&go.x=0&go .y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
394.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =carbon+nan otube+actuat or&go.x=0&g o.y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
395.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Causes+of+ Deforestation: +The+Maine+ Case&go.x=0 &go.y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
396.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cavanaugh, +Brian&go.x= -504&go.y=-2	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
397.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cellular+res piration&go.x =0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.00	00:09:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
398.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chemically+ modified+acti vated+carbon +with+1-acylt hiosemicarba zide+for+sele ctive+solid-ph ase+extractio n+and+preco ncentration+o f+trace+Cu(II) ,+Hg(II)+and+ Pb(II)+from+ water+sampl es&go.x=11& go.y=10	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:01:26	0.00%	O (0.00%)	\$0.00 (0.00%)
399.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =children+ad vertising&go. x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
400.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ciguatera&g o.x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:17:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Communicat ing+complexit y:+Integrated +assessment +of+trade-offs									

401.	+concerning+ soil+fertility+ management +within+Afric an+farming+s ystems+to+su pport+innovat ion+and+dev elopment&go. x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:38:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
402.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Comparison +of+empirical ,+semi-empiri cal+and+phys ically+based+ models+of+s oil+hydraulic+ functions+der ived+for+bi-m odal+soils&g o.x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
403.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =coral+reefs+ tourism&go.x =0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
404.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =curriculum& go.x=0&go.y= 0	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
405.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Doing+well+ by+doing+go od—case+stu dy:+'Fair+&+ Lovely'+white ning+cream= &go.x=0&go. y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.00	00:19:33	0.00%	O (0.00%)	\$0.00 (0.00%)
406.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =father+daug hter+relations hips&go.x=5& go.y=7	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
407.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =first+foods+ climate+chan ge&go.x=0&g o.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:46	0.00%	O (0.00%)	\$0.00 (0.00%)
408.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+foe+t o+friend:+usi ng+animal+to xins+to+inves tigate+ion+ch annelfunction ",+Journal+of +molecular+b iology&go.x=	2 (0.01%)	0.00%	0 (0.00%)	0.00%	8.50	00:15:34	0.00%	0 (0.00%)	\$0.00 (0.00%)

	∪&g∪.y=∪									
409.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =holes&go.x= 0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:04:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
410.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =iver+ice+bre akup/freeze+ up+a+review +of+climatic+ drivers+histor ical+trends+a nd+future+pr edictions&go. x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
411.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jeffry+Fried en,+David+La ke,+and+Ken neth+Schultz, +2010.+"Cha pter+9:+Inter national+Fina ncial+Relatio ns,+"+in+Wor Id+Politics:+In terests,+Inter actions,+Instit utions,+pp.+3 50-385&go.x =0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
412.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kitchen+conf idential&go.x =0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
413.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =masculinitys &go.x=0&go. y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
414.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =media+psyc hology&go.x= 0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
415.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =moose&go.x =0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
416.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Non-invasiv e+Imaging+of +the+Innate+I mmune+Res ponse+in+a+ Zebrafish+Lar val+Model+of +Streptococc us+iniae+Infe	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=0									
417.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =optimal+bird +migration:+t he+relative+i mportance&g o.x=6&go.y=1 3	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
418.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Origin+of+gi ant+viruses+f rom+smaller+ DNA+viruses +not+from+a +fourth+doma in+of+cellular +life&go.x=0& go.y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
419.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Our+Earliest +Ancestors& go.x=0&go.y= 0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
420.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oxford+engli sh+dictionary &go.x=0&go. y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
421.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Philosophic al+interventio n+and+cross- disciplinary+s cience:+the+s tory+of+the+ Toolbox+Proj ect&go.x=0& go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
422.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Plant+Tissu e+Culture:+A n+Introductor y+Text&go.x= 0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:11:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
423.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =praxis&go.x =0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
424.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Quartet+for +the+end+of+ time&go.x=0 &go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4	125.	e,Newspaper +Article,t&s.q =reflectin+pro tein&go.x=0& go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.50	00:14:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	126.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Roosting+H abitat+Use+a nd+Selection +by+Northern +Spotted+Ow Is+During+Na tal+Dispersal &go.x=0&go. y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	127.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =salience+no rms&go.x=0& go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	128.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scholar&go. x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+work +journal+&go. x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:01:41	0.00%	O (0.00%)	\$0.00 (0.00%)
4	l30.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Special+vie w+of+history &go.x=16&go .y=6	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	l31.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Statistical+A nalysis+and+ Modelling+of +Spatial+Poin t+Patterns&g o.x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
4		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stop+over+e cology&go.x= 0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:10:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	133.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Studying+m orphological+i ntegration+an d+modularity +at+multiple+ levels:+conce pts+and+anal ysis&go.x=6& go.y=6	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=taiking+waii s&go.x=0&go .y=0									
435.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+art+of+ computer+pro gramming&go .x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	11.00	00:26:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
436.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =thryoglobuli n,+zebrafish& go.x=0&go.y= 0	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
437.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tissue+cultur e+disinfest&g o.x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:15:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
438.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Topley+and +Wilson's+Mi crobiology+a nd+Microbial +Infections&g o.x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
439.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =woodward,+ ngan'gi&go.x =6&go.y=4	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
440.	/search?s.q= Abraham+Lin coln	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
441.	/search?s.q= Animal testin g	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
442.	/search?s.q= Animals+bein g+tested+with +products	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
443.	/search?s.q= astm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
444.	/search?s.q= Beauty+page ants+	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
445.	/search?s.q= Bosnian War	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
446.	/search?s.q= Britannica	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
447.	/search?s.q= brtanica	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
448.	/search?s.q= bullying	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
449.	/search?s.q= Cell+phones+ in+school+	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
450.	/search?s.q= comic+book+ archives	2 (0.01%)	100.00%	2 (0.02%)	50.00%	3.00	00:04:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.q=									

45	1. Death+penalt y	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
45.	/search?s.q= 2. elizabeethan +london	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.00	00:03:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
45	/search?s.q= emotional+re 3. gulation+and +child+aggre ssion	2 (0.01%)	100.00%	2 (0.02%)	50.00%	3.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
45	4. /search?s.q= grove	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
45	/search?s.q= 5. Harriet+beec her+stowe	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
45	6. /search?s.q= horace mann	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.00	00:06:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
45	/search?s.q= 7. how+dogs+co mmunicate	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
45	8. /search?s.q= howely	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
45	/search?s.q=i 9. nternet and a nonymity	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:06:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	/search?s.q=I anguage iden tity and the o wnership of e nglish	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	/search?s.q= 1. Louisiana+pu rchase	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	/search?s.q= 2. Maine+Lobst ers	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.50	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	/search?s.q= More than Ju st a Game: S ports in Ameri can Life Sinc e 1945	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	/search?s.q= 4. Pony+expres s+	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	5. /search?s.q=r efworks	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	6. /search?s.q= Resonate	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	7. /search?s.q= Sarah Grimke	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	/search?s.q= sustainable+f ood+producti on	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
46	/search?s.q= What+is+the+ 9. average+age +for+most+at hletes	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
47	0. /search?s.q= yahoo.com	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
47	1. /search?s.q= Zebulon+pike	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
47	/search?term 2. =leonardo da	2 (0.01%)	0.00%	0 (0.00%)	0.00%	5.50	00:37:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Vinci									
473.	/speccoll/Find ingAids/Aerial Views.htm	2 (0.01%)	100.00%	2 (0.02%)	0.00%	3.50	00:16:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
474.	/speccoll/Find ingAids/Allen CharlesE.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
475.	/speccoll/Find ingAids/Barro wsFamily.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
476.	/speccoll/Find ingAids/Blais dellFamily.ht m	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
477.	/speccoll/Find ingAids/Churc hUniversalFel lowship.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:03:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
478.	/speccoll/Find ingAids/Doan e.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
479.	/speccoll/Find ingAids/Dunn char.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
480.	/speccoll/Find ingAids/Edwa rdsLlewellynp apers.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
481.	/speccoll/Find ingAids/Elliot Robertpapers .htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
482.	/speccoll/Find ingAids/Emer yRoscoePape rs.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
483.	/speccoll/Find ingAids/Free man.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
484.	/speccoll/Find ingAids/Godfr eyJE.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
485.	/speccoll/Find ingAids/Good win.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
486.	/speccoll/Find ingAids/Grah amPapers.ht m	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
487.	/speccoll/Find ingAids/Grenf ellC.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
488.	/speccoll/Find ingAids/Hakol aJohnpapers. htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
489.	/speccoll/Find ingAids/Hoffm anpostcards. htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:07:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
490.	/speccoll/Find ingAids/IOOF Rockland.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
491.	/speccoll/Find ingAids/Johns tonFamilyPap ers.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
492.	/speccoll/Find ingAids/Kellm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	anp.htm	, ,		,					,	
493.	/speccoll/Find ingAids/Little. htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:10:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
494.	/speccoll/Find ingAids/Main eStateFedera tedLaborCou ncil.htm	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
495.	/speccoll/Find ingAids/Mcco rmic.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:11:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
496.	/speccoll/Find ingAids/Mend allh.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	3.50	00:26:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
497.	/speccoll/Find ingAids/Oaks Nathanielpap ers.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
498.	/speccoll/Find ingAids/Palm erRalphcollec tion.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
499.	/speccoll/Find ingAids/Peirc eFamilyinvent ory.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
500.	/speccoll/Find ingAids/PikeJ ames.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
501.	/speccoll/Find ingAids/Pinel slandCampre cords.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
502.	/speccoll/Find ingAids/Railro adSurveyBoo ks.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
503.	/speccoll/Find ingAids/Richa rdsonArthurB. htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
504.	/speccoll/Find ingAids/Stahl. htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
505.	/speccoll/Find ingAids/Stets onfam.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
506.	/speccoll/Find ingAids/UMai neClubs.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
507.	/speccoll/Find ingAids/UMai neSophOwls Eagles.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
508.	/speccoll/Find ingAids/UMai neWarRecord s.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	7.50	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
509.	/speccoll/Find ingAids/Valle eru.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
510.	/speccoll/Find ingAids/Vicke ry.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:07:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
511.	/srch.php?q= Learning+to+l earn+	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/staff/daigle ht									

51	2.	m	2	(0.01%)	50.00%	1	(0.01%)	50.00%	1.50	00:13:36	0.00%	0 (0.00%)	\$0.00	(0.00%)
51	3.	/staff/hollinger .htm	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
51	4.	/staff/newsgui delines.htm	2	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
51	5.	/staff/snow.ht m	2	(0.01%)	50.00%	1	(0.01%)	50.00%	2.00	00:02:46	0.00%	0 (0.00%)	\$0.00	(0.00%)
51	6.	/staff/validatio n.htm	2	(0.01%)	0.00%	0	(0.00%)	50.00%	4.50	00:24:53	0.00%	0 (0.00%)	\$0.00	(0.00%)
51	7.	/techserv/Cat aloging/const antData.htm	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
51	8.	/techserv/Cat aloging/JSTO R_DDA_loadi ng.htm	2	(0.01%)	0.00%	0	(0.00%)	50.00%	4.50	00:07:36	0.00%	0 (0.00%)	\$0.00	(0.00%)
51	9.	/techserv/Cat aloging/microf orms.htm	2	(0.01%)	100.00%	2	(0.02%)	50.00%	3.50	00:00:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	0.	/techserv/Cat aloging/mlc4p amphlets.htm	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	1.	/techserv/Cat aloging/Withd rawals.htm	2	(0.01%)	100.00%	2	(0.02%)	50.00%	1.50	00:02:34	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	2.	/techserv/Seri als/orders/ED linvoices.htm	2	(0.01%)	100.00%	2	(0.02%)	50.00%	1.50	00:00:04	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	3.	/techserv/Seri als/orders/inv oices.htm	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	4.	/techserv/Seri als/Processin g/EbscolRepo rts.htm	2	(0.01%)	50.00%	1	(0.01%)	50.00%	1.50	00:01:56	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	5.	/techserv/Seri als/Processin g/new_periodi cals.htm	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	6.	/townreport/c urrent_high.ht m	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	7.	/womensgend ersexuality	2	(0.01%)	50.00%	1	(0.01%)	50.00%	1.50	00:00:23	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	8.	/www.guardli nk.org/RbSzl 1	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
52	9.	/yearbooks/ni neties.htm	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	0.	/yearbooks/thi rties.htm	2	(0.01%)	100.00%	2	(0.02%)	50.00%	3.50	00:12:22	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	1.	/about/depts. htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:06	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	2.	/about/hours_ with_embedte sts.htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	3.	/about/QRcod e.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	4.	/accessibility	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:07:42	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	5.	/advanced?su mmonVersion =2.0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	6.	/agri/databas es	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:05:30	0.00%	0 (0.00%)	\$0.00	(0.00%)

53	37.	/alumservices	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:08:03	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	38.	/arts/articles	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
53	39.	/arts/images	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	1 0.	/ast/home?pr eview=f212eb dd545b4606e 50eec3c6497 17ef	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:17:58	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	1 1.	/c.php?g=108 134	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	12.	/c.php?g=109 518	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	1 3.	/c.php?g=117 183	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	14.	/c.php?g=117 379&p=7639 64	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	4 5.	/c.php?g=118 010&p=1619 451&preview =28c96dc93d 6036f19b62b e1f2dbad945	1	(0.00%)	0.00%	0	(0.00%)	0.00%	18.00	00:12:13	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	1 6.	/c.php?g=118 099&p=7687 19	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	1 7.	/c.php?g=119 325&p=7782 44	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
54	18.	/c.php?g=123 011&p=8038 68	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:02:08	0.00%	0 (0.00%)	\$0.00	(0.00%)
54		/c.php?g=127 723&p=8351 08	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	50.	/c.php?g=127 723&p=8351 10	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	51.	/c.php?g=129 056&p=1734 866	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:06:26	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	52.	/c.php?g=141 122&p=1807 057&preview =be72235625 ce09a8e7ddc f9319d30ab0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:05:34	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	53.	/c.php?g=148 308&p=9727 25	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	54.	/c.php?g=149 686&p=9847 57	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	55.	/c.php?g=150 151	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	56.	/c.php?g=158 342&p=1037 082&preview =b011e98341 395e0d7aa74 b69b635dad0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
55	57.	/c.php?g=200 877&p=1348 303	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
		/c.php?g=207												

558.	568&p=1369 458&preview =eab424a93d c2ff996b99ed 273b691fcb	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:28:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
559.	/c.php?g=218 757&p=1445 347	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
560.	/c.php?g=218 757&p=1445 718	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
561.	/c.php?g=224 393&p=1487 407&preview =2a64ec33e4 277d8884455 f4608963d44	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
562.	/c.php?g=224 393&p=1730 131&preview =2a64ec33e4 277d8884455 f4608963d44	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
563.	/c.php?g=241 840&p=1607 862&preview =4a663dc70d 9f837e636aa d3a6e6dcf14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:27:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
564.	/c.php?g=259 165&p=1730 319&preview =f83045c396 0b046ce7ee8 6be750d7d60	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
565.	/c.php?g=265 475&p=1774 960&preview =190d2ddac2 48d665d3434 17a00c3c8eb	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
566.	/c.php?g=265 507&p=1775 166&preview =9ca3c0a2f3 5bf3c107fd89 d93f5d819b	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
567.	/c.php?g=267 440&p=1784 546&preview =faa1a7b1fb9 515d3c40e9c 3643350f79	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
568.	/c.php?g=281 977&p=1878 636&preview =7effe0b5cd9 f11a22f45767 55157d795	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
569.	/c.php?g=281 977&p=1895 920&preview =7effe0b5cd9 f11a22f45767 55157d795	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
570.	/c.php?g=857 42&p=18965 85&preview= 582d4358d71 1273a6beac5 73765ced07	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
571.	/c.php?g=921 34	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
572.	/c.php?g=945	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)

		52									
5	573.	/c.php?g=971 15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	26.00	00:06:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	574.	/c.php?g=985 42	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	575.	/canstudies/n cb137.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	576.	/chemeng/ch emeng?previ ew=f79ca36ff 505c27f49a9 ebc0a5a0a3c 2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	577.	/circ/default.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	578.	/circ/id_cards _adjunctguest .htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:08:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	579.	/circ/id_cards _alumni.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	580.	/circ/id_cards _other.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	81.	/citation	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	582.	/climate/clca ms.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	583.	/climate/clrad ar.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	84.	/cmj391	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	585.	/cohen/Collec tion_Descripti on/106_02_0 3_03_02.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	586.	/cohen/Collec tion_Descripti on/106_02_0 4_01.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	587.	/cohen/Collec tion_Descripti on/106_03_0 3_04_02.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	588.	/cohen/Collec tion_Descripti on/106_03_0 3_09.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	589.	/cohen/links.h tm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	590.	/cohen/outline .htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	591.	/colldev/motio n.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	592.	/colldev/reco mmend.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	593.	/colldev/Serial s2010/default .htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	594.	/colldev/Serial s2010/FY10S -Z.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	595.	/communicati onjournalism	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
5	596.	/default_idb - LibGuide pull down.asp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	28.00	00:52:11	0.00%	0 (0.00%)	\$0.00 (0.00%)

,	597.	/default_res_ withfeeds.htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:28:26	0.00%	0 (0.00%)	\$0.00	(0.00%)
	598.	/default.asp?f romMobile=tr ue	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
	599.	/default.asp?s ummonVersio n=2.0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
(600.	/displays/Fac Books2013.ht m	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
	601.	/Educationgui de/booksand articles	1	(0.00%)	0.00%	0	(0.00%)	0.00%	24.00	01:11:33	0.00%	0 (0.00%)	\$0.00	(0.00%)
(602.	/Educationgui de/caldecott	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
(603.	/Educationgui de/databases	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
	604.	/Educationgui de/web	1	(0.00%)	0.00%	0	(0.00%)	0.00%	10.00	00:21:43	0.00%	0 (0.00%)	\$0.00	(0.00%)
(605.	/eng	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:08:12	0.00%	0 (0.00%)	\$0.00	(0.00%)
(606.	/eng/poetry?p review=3390 9a64e8fbe30 82e48a33182 42209e	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:12:02	0.00%	0 (0.00%)	\$0.00	(0.00%)
(607.	/friendly.php? action=82&s= ant/antgen	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00	(0.00%)
(608.	/friendly.php? action=82&s= arch	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:00:27	0.00%	0 (0.00%)	\$0.00	(0.00%)
(609.	/friendly.php? action=82&s= business-data bases	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00	(0.00%)
(610.	/friendly.php? action=82&s= cmj	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
(611.	/friendly.php? action=82&s= cmj/cmj103	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
(612.	/friendly.php? action=82&s= DCself_archiv e	1	(0.00%)	0.00%	0	(0.00%)	0.00%	20.00	00:00:56	0.00%	0 (0.00%)	\$0.00	(0.00%)
	613.	/friendly.php? action=82&s= DCself_archiv e/start	1	(0.00%)	100.00%	1	(0.01%)	0.00%	9.00	00:02:41	0.00%	0 (0.00%)	\$0.00	(0.00%)
(614.	/friendly.php? action=82&s= digitalcommo ns	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:03:17	0.00%	0 (0.00%)	\$0.00	(0.00%)
(615.	/friendly.php? action=82&s= Educationgui de/childlit	1	(0.00%)	0.00%	0	(0.00%)	0.00%	18.00	00:06:55	0.00%	0 (0.00%)	\$0.00	(0.00%)
(616.	/friendly.php? action=82&s= geo	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00	(0.00%)
(617.	/friendly.php? action=82&s= hottopics	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:02:44	0.00%	0 (0.00%)	\$0.00	(0.00%)
	618.	/friendly.php? action=82&s= nas/articles	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)

619.	/friendly.php? action=82&s= readingpracti ces	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:16:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
620.	/friendly.php? action=82&s= recreads	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:20:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
621.	/friendly.php? action=82&s= referenceserv ices	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
622.	/fsn501/fulltex t?preview=5d e24588fb86d 7571d426e68 98234f1d	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
623.	/fsn501/home ?preview=5d e24588fb86d 7571d426e68 98234f1d	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:10:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
624.	/general/rese arch1.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
625.	/general/wrds .htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:26	100.00%	1 (0.03%)	\$0.00 (0.00%)
626.	/geoscan/nu meric.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
627.	/geoscan/pre vious.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
628.	/govdoc/1960 _housing_cen sus.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
629.	/grants	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
630.	/hed677	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
631.	/highlights/car negie.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
632.	/highlights/fog ler.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
633.	/highlights/ser vices.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
634.	/Interlibrarylo an?p=100723	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
635.	/LAC/lac_devf und_uses.ht m	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
636.	/mail/u/0/defa ult.asp	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
637.	/mathstats/sta ts	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
638.	/mus600	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
639.	/news-resear ch	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
640.	/patents/defa ult.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
641.	/patents/webs earch.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
642.	/prf.php?acco unt_id=44432	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
643.	/psychology/b ooksandarticl es	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)

644.	/sb.php?subje ct_id=13362	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:26:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
645.	/sb.php?subje ct_id=13379	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
646.	/scitechbus/bi otechnology.h tm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
647.	/scitechbus/c hemistry.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
648.	/scitechbus/c ompsci.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
649.	/scitechbus/e nergy.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
650.	/scitechbus/m aine.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
651.	/scitechbus/m echeng.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
652.	/search?+Ethi cs+and+the+ Challenge+of +Disabled+E mbodiment,+ by+Jackie+Le ach+Scully=& s.q=+Drawing +Lines,+Cros sing+Lines	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
653.	/search?+Res earchers+cite +lag+time+be tween+filing+ of+death+cert ificate,+return +of+lab+tests ."=&s.q="Dru nk-Driving+D eaths+Under- reported+in+ U.S.,+Study+ Says	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:34:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
654.	/search?bdat a=JnNpdGU9 c3JjLWxpdm U=&hid=101& s.q=+http://w eb.b.ebscoho st.com.ursus- proxy-10.ursu s.maine.edu/s rc/detail?sid= 9bc72c69-5d 46-4db6-90e2 -50067e91c1 d1@session mgr114&vid= 24	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
655.	/search?bdat a=JnNpdGU9 c3JjLWxpdm U=&hid=4109 &s.q=http://w eb.a.ebscoho st.com.ursus- proxy-10.ursu s.maine.edu/s rc/detail?vid= 13&sid=0776f d3d-6774-424 0-b109-a7f68f 36b9b8@ses sionmgr4002	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?bdat a=JnNpdGU9 ZWhvc3QtbG I2ZQ==&hid= 4109&s.q=htt									

656.	p://web.a.ebs cohost.com.u rsus-proxy-6. ursus.maine. edu/ehost/det ail/detail?vid= 14&sid=477c 45b0-2518-41 c8-a209-286d 4eabed2d@s essionmgr40 05	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
657.	/search?dq=a nimal+assiste d+interventio ns+&id=2Pru qyaDw6wC&l r=&oi=fnd&ot s=bUntfG0A6 7&pg=PP2&s .q=https://boo ks-google-co m.ursus-prox y-10.ursus.m aine.edu/boo ks?hl=en&sig =HnVTsPUX wGk83z8DDZ xBiGFreWc	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
658.	/search?go.x =-508&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=an ais+non	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
659.	/search?go.x =-508&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=Kit ching,+R.I.,+e d.+The+Ecolo gy+of+Exotic +Animals.+Mi Iton:+John+W iley+and+Son s,+1986.+7-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
660.	/search?go.x =-508&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=On e+second+aft er	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
661.	/search?go.x =-592&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=Ca pote:+A+Biog raphy+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
662.	/search?go.x =-624&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=Lor rine+Masterm an	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
663.	/search?go.x =-666&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=Qu	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)

	alitative+Res earch+&+Eva luation+Meth ods=									
664.	/search?go.x =-670&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=A+ plague+of+hy persensitivity +on+college+ campuses	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
665.	/search?go.x =-724&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=en gineering+fail ure+analysis	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
666.	/search?go.x =-769&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=do pamine+face book	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
667.	/search?go.x =-817&go.y=- 218&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=nor th+american+ journal+of+fis heries+mana gement	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
668.	/search?go.x =-847&go.y=- 217&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.q=reli gion+and+its +effects+on+i ndividuals	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:12:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
669.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q="Democr atic+Uprising s+in+the+Ne w+Middle+Ea st"	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
670.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q="if+a+ma n+be+mad"	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
671.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q="open+ro ad"+torbell	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:11:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q="User-dri									

672.	ven+correctio n+of+OCR+e rrors:+combin g+crowdsour cing+and+inf ormation+retri eval+technolo gy"	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
673.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q="Causes+ of+Deforestat ion:+The+Mai ne+Case."+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
674.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=+ Proble m+solving+an d+data+analy sis+using+Mi nitab+[electro nic+resource] +:+a+clear+a nd+easy+gui de+to+Six+Si gma+method ology+/+Reh man+M.+Kha n,+Chartered +Chemical+E ngineer+and+ Six+Sigma+B lack+Belt,+Lo ughborough,+ UK	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
675.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=+CircSiZ er:+an+explor atory+tool+for +circular+dat a	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:26:16	0.00%	O (0.00%)	\$0.00 (0.00%)
676.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=+Dynami c+Interactive +Membranes +with+Pressu re-Driven+Tu nable+Porosit y+and+Self-H ealing+Ability	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
677.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=+Ecologi cal+diversity+ and+its+mea surement	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:07:06	0.00%	O (0.00%)	\$0.00 (0.00%)
678.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=+Jürgen+ Habermas+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:35	0.00%	0 (0.00%)	\$0.00 (0.00%)

679.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=+Multiple +Sigma+Sub units+and+th e+Partitioning +of+Bacterial +Transcriptio n+Space	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
680.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=100+año s+de+soleda d	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
681.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=5382629 43	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
682.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=978-0393 705607	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
683.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=978-0470 768747	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
684.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=9780073 376912	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
685.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=9780195 437744	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
686.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=9781429 242288	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
687.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=a+briefer +history+of+ti me	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
688.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=a+clash+ of+kings	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:03:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

689.	.fvf[]=Content Type,Newspa per+Article,t& s.q=a+concis e+introductio n+to+world+r eligion	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
690.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=a+concis e+introductio n+to+world+r eligions	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
691.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=a+fisher mans+guide+ to+maine	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
692.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=A+Gener alized+Proba bility+Density +Function+for +Double-Bou nded+Rando m+Processes	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
693.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=A+Longit udinal+Study +of+Physics+ Students'+Co nceptions+on +Energy+in+ Pre-Service+ Training+for+ High+School +Teachers	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
694.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=A+Major +QTL+on+Mo use+Chromo some+17+Re sulting+in+Lif espan+Variab ility+in+SOD1 -G93A+Trans genic+Mouse +Models+of+ Amyotrophic+ Lateral+Scler osis	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
695.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=A+Metho d+for+estimat ing+the+Surf ace+Area+of +Ellipsoidal+ Food+Materia Is	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

696.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=a+retrosp ective+study+ of+mobility+a nd+mortality+ of+raptors+in +florida	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
697.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=a+tale+of +two+cities	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
698.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=A+Visual +Introduction +to+Philosop hy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
699.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=abby+ch andler	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
700.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Activatio n+of+the+fact or+XII-driven +contact+syst em+in+Alzhei mer's+diseas e+patient+an d+mouse+mo del+plasma	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
701.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ADHA	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
702.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Adoption +records	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
703.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=adult+lea rner+intent	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
704.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=advertisin g+in+vietnam	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

705.	.fvf[]=Content Type,Newspa per+Article,t& s.q=aeneid	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
706.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=aerodyna mics+of+spee d+skiing	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:41:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
707.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=african+a mericans+in+ the+city	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
708.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Aging+O ut+of+Foster +Care:+Towa rds+a+Univer sal+Safety+N et+for+Forme r+Foster+Car e+Youth	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
709.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=alcoholis m	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
710.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=alexande r+street	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
711.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Algal+pro ducts	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
712.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=alice's+a dventures+in +wonderland	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
713.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Allen+Dul les	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
714.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=america's +war+on++se x	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

715.	.fvf[]=Content Type,Newspa per+Article,t& s.q=america+ viewed+count ries	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:09:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
716.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=american +journal+of+r espiratory+cri tical+care+m edicine	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
717.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=an+analy sis+of+a+vide o+game	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
718.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=An+Empi rical+Compari son+of+Dista nce+Statistics +for+Populati ons+with+Un equal+Covari ance+Matrice s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
719.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=An+extre me+value+th eory+model+f or+dependent	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
720.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Analysis+ of+Covarianc e+and+Altern atives	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
721.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Analyzin g+decentraliz ed+resource+ regimes+from +a+polycentri c+perspective	1 (0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:27:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
722.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=andrew+ Brighton	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:58:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
723.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=animatio	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:30:47	0.00%	0 (0.00%)	\$0.00 (0.00%)

	n									
724.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=annual+r eport+foxcroft +maine+1918	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
725.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=antioxida nt+seaweed	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:11:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
726.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=appalachi an+seed+savi ng	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
727.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=apple+va rieties+of+ma ine	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
728.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Applicati ons+of+Grou nd-Penetratin g+Radar+to+ Glacial+and+ Frozen++Mat erials.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
729.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Articulate d+Calcareous +Alga	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:07:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
730.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=artificial+i ntelligence	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
731.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Aspects+ of+secondary +students'+u nderstanding +of+energy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:04:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
732.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Asperger' s+Syndrome	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:27:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x									

733.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ASTM	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
734.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=astm+co mpass	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:07:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
735.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=at+the+d ark+end+of+t he+street	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:20:55	0.00%	O (0.00%)	\$0.00 (0.00%)
736.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Athlone+ History+of+W itchcraft+and +Magic+in+E urope	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:24:39	0.00%	O (0.00%)	\$0.00 (0.00%)
737.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=audio+no oks	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
738.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=bakhtin	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
739.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=barbara+ guest	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
740.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=bargainin g+for+advant age	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:17:34	0.00%	O (0.00%)	\$0.00 (0.00%)
741.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=barrow	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
742.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=battle+ro yale	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
743.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=beaches +and+coasts	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

744.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=beer+stei ns	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
745.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=being+wr ong	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
746.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=benefits+ of+good+bact eria	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
747.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=bernard+ ++qualitative +methods	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
748.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Beyond+r ituximab:+Th e+future+of+ monoclonal+ antibodies+in +B-cell+non- Hodgkin+lym phoma	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
749.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=biddeford	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:21:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
750.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Bio+208	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
751.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=biomimicr y	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
752.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=bishop+jo seph+shanah an	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
753.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=black+pr ofessionals+a nd+race+con	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	sciousness									
754.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=blueberri es+for+sal	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:32:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
755.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=bonnie+g arceau	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
756.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=BOSSAN YI	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:11:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
757.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=brannam an	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
758.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=brief+hist ory+of+time	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
759.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=british+ar chaeological+ reports	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:11:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
760.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Brooks,+ Arthur+C.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
761.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Buena+vi sta	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
762.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=cake+dec orating	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
763.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=camille+I essard-bisson nette+canuck	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:18:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content									

764.	Type,Newspa per+Article,t& s.q=campbell +biologu	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
765.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=canada+ world+war+i	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
766.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Carbon+ Dioxide+Rem oval+and+Rel iable+Seques tration+(2015)	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:00	0.00%	O (0.00%)	\$0.00 (0.00%)
767.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Catherin e+Johnston	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
768.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=causes+h unger	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:06:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
769.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Census+ data	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
770.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Cesar+Vi dal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:27	0.00%	O (0.00%)	\$0.00 (0.00%)
771.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=chance+ operations	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:07:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
772.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=child+beh aviors	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
773.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=childless +employee+d iscrimination	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:04:00	0.00%	O (0.00%)	\$0.00 (0.00%)
774.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=chronic+s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:14	0.00%	O (0.00%)	\$0.00 (0.00%)

	tress									
775.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=civil+engi neering+fe	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
776.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=clinical+l aboratory+sci ence	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
777.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=cloud+atl as	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
778.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=cognitive +behavioral+t herapy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
779.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Common +lameness+in +western+hor ses	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:11:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
780.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Communi ty+Leaders'+ Perceptions+ of+University +and+College +Efforts+to+E ncourage+Civ ic+Engageme nt	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:26:31	0.00%	O (0.00%)	\$0.00 (0.00%)
781.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=computer s+and+comp osition	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
782.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=condor	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
783.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=confuciou s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

784.	.fvf[]=Content Type,Newspa per+Article,t& s.q=constructi on+jobs	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
785.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=contemp orary+monolo gues	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
786.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=contemp orary+plays+f or+men	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
787.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=control	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:44:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
788.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=counsello r+presence	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
789.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=covarianc e	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
790.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Cricket+ Ashis+Nandy +C+L+R+Jam es	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
791.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=critical+d epth	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
792.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=critique+ of+pure+reas on	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
793.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=cuba+a+ history+in+art	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
794.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=cultivatio	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

	n+efficacy									
795.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=culturally +different+ba ckwards+spe cial+educatio n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
796.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=data+stru ctures+and+a Igorithms+ma de+easy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:11:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
797.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=death+an d+society	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
798.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=death+in +literature	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:19:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
799.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=decompo sition+of+org anic+matter	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:11:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
800.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=deep+ec ology+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
801.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Degradat ion+rates+of+ oral+resorbab le+implants+(polylactates+ and+polyglyc olates):+Rate +modification +with+change s+in+PLA/PG A+copolymer +ratios	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:01	0.00%	O (0.00%)	\$0.00 (0.00%)
802.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=dendroch ronology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:14:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
803.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=derrida+d	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	econstruction									
804.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=desupers aturation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
805.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Develop ment+of+a+P CR+assay+fo r+Streptococc us+iniae+bas ed+on+the+la ctate+oxidase +(IctO)+gene +with+potenti al+diagnostic +value	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
806.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=diary+18	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:07:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
807.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=digital+co mmons	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
808.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Discover +Biology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
809.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Discoveri ng+Nature+wi th+Young+Ch ildren	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
810.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Dissertati ons	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
811.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=dissociati on	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
812.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=doing+na turalistic+inqu iry+a+guide+t o+methods	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:06:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x									

813.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=don+quix ote	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
814.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=draper,+j	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
815.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=driven	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
816.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=dsm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
817.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=DSM+V	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
818.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=dun+and +bradstreet	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
819.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Dunn	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
820.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=early+int ervention	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:20:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
821.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=eastern+r egion+invasiv e+plants+ran ked+by+degr ee+of+invasiv eness	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
822.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Ecologie s+of+compari son	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
823.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=economic s+of+agricult ural+develop	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ment									
824.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ecopolitic s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
825.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Effective +Small+Busin ess+Manage ment+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
826.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=eileen+jo hnson	1 (0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:38:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
827.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ember+a nd+ember	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:07:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
828.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=EMDR	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
829.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Empirical +models+of+f orecasting+c hanges+in+th e+phenology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
830.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=encyclop edia+pocaho ntas	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
831.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Englishw oman's+DOm estic+Magazi ne	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
832.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=envirome ntal+consultin g+54162	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
833.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=equine+a	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ssisted+psyc hotheraphy+									
834.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ereserve s	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
835.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=errand+in to+the+wilder ness	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
836.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=escape+f rom+hermit+i sland	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
837.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Estimatio n+of+reservoi r+yield+and+ storage+distri bution+using +moments+a nalysis	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:22:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
838.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=evaluatin g+public+heal th+partnershi ps	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
839.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Evolution +of+genetic+ switch+compl exity.+Bacteri ophage	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
840.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=evolution +of+plant+for m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
841.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Evolution +of+the+Lewi sian+and+co mparable+Pr ecambrian+hi gh-grade+terr ains	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content									

842.	Type,Newspa per+Article,t& s.q=Extreme+ Weather	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
843.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=f.+scott+f itzgerald	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
844.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=faber+all +in+one+pian o+course	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
845.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Fallada	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
846.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Fastook	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:23:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
847.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=female+ masculinity	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
848.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Flow+vis ualization+for +investigating +stator+losse s+in+a+multis tage+axial+co mpressor	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
849.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=flowering +dogwood+tr ee	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
850.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=food+saf ety	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
851.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=food+scie nce	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
852.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:19:08	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s.q=food+we bs+kevin+mc cann									
853.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=forest+tre es+of+maine	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
854.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Foundati on+Directory	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
855.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=free+to+p lay	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	01:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
856.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Function al+Assessme nt+and+Progr am+Develop ment+for+Pro blem+Behavi or:+A+Practic al+Handbook +	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
857.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=fundame ntals+of+inve sting	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
858.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=gaesser+ angadi	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:30:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
859.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=gagnon	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
860.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=game+of +thrones	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
861.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Game+of +thrones	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
862.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s.q=gay+right s									
863.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=GBM	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:48:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
864.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=gender+s tereotypes+in +media	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:08:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
865.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=gender+tr ouble	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
866.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=geograph y+and+literat ure	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:04:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
867.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=geometry +and+the+vis ual+arts	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:15:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
868.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Georgia+ O'Keeffe	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
869.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=gerald+st ern	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:11:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
870.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=glacier+ic e	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
871.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Glacier+i ce	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
872.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Glacier+I ce	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa									

873.	per+Article,t& s.q=Global+s ea+warming+ and+"tropicali zation"+of+th e+Mediterran ean+Sea:+Bi ogeographic+ and+ecologic al+aspects	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
874.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Glover+a nd+Latif	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:35:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
875.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=gmat	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
876.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=goda	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
877.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=goda+wa ve	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
878.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=grazier	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
879.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=great+hor ned+owl	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:23:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
880.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=groping+t oward+demo cracy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
881.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=groping+t oward+demo cracy:+africa n+american+ social+welfar e+reform	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:25:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
882.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=groundw ater+hydrolog y+todd+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

883.	.fvf[]=Content Type,Newspa per+Article,t& s.q=growth+a nd+reproducti ve+strategies +of+freshwat er+phytoplan kton	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
884.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Guided-w ave+differenc e-frequency+ sources+for+i nfrared+spect roscopy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:18:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
885.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=guilds+m edieval	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
886.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=gunslinge	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
887.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=H.P.+Lov ecraft	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
888.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Hamilton +RW+Behavi or+of+welded +girder+with+ crrugated+we bs	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
889.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=hannibal +hamlin	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
890.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=harmonic +analysis+an d+number+th eory	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
891.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=harry+pot ter	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content									

892.	Type,Newspa per+Article,t& s.q=Healthcar e+Finance+:+ An+Introducti on+to+Accou nting+and+Fi nancial+Man agement+Aut hor:+Gapens ki,+Louis+C.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:08:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
893.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=henderso n+six+sigma	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
894.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Hendrix	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
895.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=high+trigl ycerides+low +vitamin+d	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:48:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
896.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Hitler's+A irwaves	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
897.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=HIV+nef	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:56:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
898.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=holly+dev or	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
899.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=home+st yle	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
900.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=houlton+t imes	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
901.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=house+of +night	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa									

902.	per+Article,t& s.q=Hovey,+J .+(2004).+Fat hers+parentin g+chronically +ill+children:+ concerns+an d+coping+str ategies.+Issu es+in+Compr ehensive+Pe diatric+Nursin g,	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:21:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
903.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=How+goo d+people+ma ke+hard+choi	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
904.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=hpv+vacc ine+educatio n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
905.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=http://ww w.sciencedire ct.com/scienc e/article/pii/S 08914222140 05101	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:18:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
906.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=hugh+tho rnburn+new	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
907.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=human+b rian	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
908.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Human+ Motivation:+A +Social+Psyc hological+Ap proach	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
909.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Hutcheon ,+Linda.+A+T heory+of+Par ody:+The+Te achings+of+T wentieth-Cent ury+Art+Form s.+New+York :+Methuen,+1 985.+31.+Pri	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:51	0.00%	O (0.00%)	\$0.00 (0.00%)

	nt.+									
910.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=l've+foun d+the+job+w here+l+fit+be st	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
911.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=i+want+ my+hat+back	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
912.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=IBIS	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
913.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Ibn+Tufai	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
914.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=identify+f ossils	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
915.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=infinite+je st	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
916.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=influence +science+and +practice+cial dini	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
917.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=internatio nal+political+ economy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
918.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Internatio nal+Political+ Economy:+P erspectives+o n+Global+Po wer+and+We alth.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
919.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:11:53	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s.q=internatio nal+students +and+writing									
920.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=internet+ yellow+pages	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
921.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Intracyto plasmic+taggi ng+of+cells+ with+ferumoxi des+and+tran sfection+age nt+for+cellula r+magnetic+r esonance+im aging+after+c ell+transplant ation:+metho ds+and+tech niques+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
922.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Intranasa I+oxytocin:+m yths+and+del usions	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
923.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=introducti on+to+electro nics	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
924.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=introducti on+to+narrati ve	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:14:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
925.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Introverts ,+Extroverts,+ and+Achieve ment+in+a+D istance+Lear ning+Environ ment+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
926.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ISBN+97 8-3-319-0665 9-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
927.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

	per+Article,t& s.q=ismail+w arsame									
928.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Isolation+ of+Betulin+an d+Rearrange ment+to+Allo betulin.+A+Bi omimetic+Nat ural+Product +Synthesis	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
929.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=isotope+ geochemistry	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
930.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=jack+hill	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
931.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=James+P atterson	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
932.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=jean+she pherd	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:18:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
933.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=jeffery+n ealon	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
934.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=jill+gilma n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
935.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=John+Ca ge	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
936.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=joshua+c hamberlain	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
937.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	f+agriculture, +food+syste ms,+and+co mmunity+dev elopment									
938.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+animal+beh avior	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
939.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+basic+writin g	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
940.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+economic+ entomology	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
941.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+enology	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
942.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+flood+risk+ management	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
943.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+hospitality+ and+tourism+ management	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
944.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=journal+o f+vision	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:07:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
945.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=kalman+fi Itering	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
946.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Keith+Be rube	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
947.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)

Person Track Section Price		per+Article,t& s.q=kerry+ber nard									
	94	=0&go.y=0&s .fvf[]=Content 8. Type,Newspa per+Article,t& s.q=kimberly+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
= -08g0 y=-08s	94	=0&go.y=0&s .fvf[]=Content 9. Type,Newspa per+Article,t& s.q=Klaus+vo	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
=06g0,y=086	95	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& 0. s.q=Kohdenu mero:+35714 0610+Lisää+ muistilistalle+ Laila+Karttun	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
952 952 953 954 955	95	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=kombuch a+microbe+e	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:11:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
=0.8go_y=0.8s fvfj=Content Type_Newspa perrArticle_18 s_q=larmujer 1 (0.00%) 100.00% 1 (0.01%) 100.00% 1.00 00:00:00 0.00% 0 (0.00%) \$0.00 (0	95	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:11:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
=08g0 y=08s	95	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
=0&go.y=0&s .fvfj=Content Type,Newspa per+Article,t& s.q=Large-sc 955. ale+coherenc e+in+New+E ngland++lobs ter+settlemen t++associated +with+region al+weather /search?go.x =0&go.y=0&s .fvfj=Content 956. Type,Newspa per+Article,t& s.q=larson+a	95	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=language +AND+gende	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
=0&go.y=0&s .fvf[]=Content 956. Type,Newspa per+Article,t& s.q=larson+a	95	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Large-sc ale+coherenc e+in+New+E ngland++lobs ter+settlemen t++associated +with+region	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
nu+gray land the second	95	=0&go.y=0&s .fvf[]=Content 6. Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

957.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Lasher	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:13:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
958.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lazarus	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
959.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Le+Gran d+Livre+des+ Contes+popul aires+de+Fra nce	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:25:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
960.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=leading+t he+race:+the +transformati on+of+the+bl ack+elite+in+t he+nation's+c apital	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
961.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Lean+Six +Sigma+and +Minitab	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
962.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lemmens +zebrafish	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:09:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
963.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lepontre+ skowronski	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
964.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=levesque	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:20:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
965.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lew+dietz	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
966.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lexus+ne xis	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content									

967.	Type,Newspa per+Article,t& s.q=lgbt+suici de	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
968.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=library+te chnology	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
969.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=List+of+P eer+review+j ournals	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
970.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=living+lan guage+mand arin	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
971.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=local+hist ory	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
972.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lovecraft	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
973.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lowbush+ blueberries	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
974.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Lowes	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
975.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=lsat	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
976.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=macdoug al	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
977.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=macnicoll	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
978.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=macphail,	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+margaret									
979.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=maine+gr eenback+part y	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
980.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=maine+re creation+trail s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:19:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
981.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=maine+st atues	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:16:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
982.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=maine+tr aditional+me dicine	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
983.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Major+Pa rty+Conflict+i n+the+Gilded +Age:+A+Hu ndred+Years +of+Interpret ation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:26:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
984.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Making+s ense+of+stati stics	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
985.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=marcel+p roust	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
986.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=marine+b iocalcifiers+e xhibit+mixed+ responses+to +	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
987.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Marine+F isheries+Revi ew	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x									

988.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=marine+li fe	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
989.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=marriage +certificate	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
990.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=martz+w aller	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
991.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=maureen +tully+lopez+ Reflections+o n+an+Era:++ Nurses+of+th e+10th+Evac uation+Unit+i n+New+Guin ea	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
992.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=maus	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
993.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Max+We ber	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
994.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=McKinne y	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
995.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=media+p sychology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
996.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=medline	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
997.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=merel+th ompson	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:12:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
998.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:03:20	0.00%	0 (0.00%)	\$0.00 (0.00%)

	per+Article,t& s.q=merle+th ompson									
999.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=michael+ shermer	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1000.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Missoula: +Rape+and+t he+Justice+S ystem+in+a+ College+Tow n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1001.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=mixed+ef fects+models	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1002.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=MOHAM MADI	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1003.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Molecula r+bioelectricit y+in+develop mental+biolo gy:+new+tool s+and+recent +discoveries	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1004.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=moose	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1005.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=morten+I auridsen	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:29:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1006.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=mplicatio ns+of+a+war ming+eastern +Bering+Sea +for+Bristol+ Bay+sockeye +salmon	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1007.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=muir,+joh n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:11	0.00%	0 (0.00%)	\$0.00 (0.00%)

1008.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=multiple+ sclerosis	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1009.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=munich	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1010.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=nantes	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:23:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1011.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=national+ counselor+ex am	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1012.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Native+A merican+Jour nal+Palestine	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1013.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=navigatin g+over+time+ and+space+E cuador	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1014.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=nesting+ ecology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1015.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=new+york +times	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1016.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=newspap er+archives	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1017.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Nezu,+A. +M.+(2004).+ Problem+solv ing+and+beh avior+therapy +revisited.+B ehavior+Ther apy,++35(1), +1-33.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:16:44	0.00%	O (0.00%)	\$0.00 (0.00%)

1018.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=NF-кB+ls +Induced+in+ the+Nuclei+of +Cultured+Ra t+Aortic+Smo oth+Muscle+ Cells+by+Sti mulation+of+ Various+Gro wth+Factors	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:09:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1019.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=nice+is+j ust+a+place+ in+france	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1020.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=niven	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1021.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=nk+jemisi n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1022.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=no+cry+s leep+solution	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1023.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=nora+wei tz	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1024.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=North+A merican+Bent hological+So ciety	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1025.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=northeast +civil+solutio ns	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1026.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Novel+m ethods+impro ve+prediction +of+species'+ distributions+f rom+occurren ce+data.+Eco	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	graphy+29:12 9-151.									
1027.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=numerica I+analysis+of +tide	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1028.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=numerica I+experiment al+approach+ for+the+mech anical+charac terisation+of+ composites	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1029.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ocean+s urface+waves	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1030.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=oliver+sa cks	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1031.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=On+the+ Robustness+ of+Emergent +Constraints+ Used+in+Mult imodel+Clima te+Change+P rojections+of +Arctic+War ming	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1032.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=On+the+ sets+of+direc tions+determi ned+by+n+po ints	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1033.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=oncogen e	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1034.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=online+e ducation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1035.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	per+Article,t& s.q=online+re serves									
1036.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ordnance +went+up+fro nt	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1037.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Organic+ matter+stoich iometry+influ ences+nitrog en+and+phos phorus+uptak e+in+a+head water+stream	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1038.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=our+earli est+ancestor s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1039.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=painted+t urtle	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:05:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1040.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=panjkovic	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1041.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=paperi+ja +Puu	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1042.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=participat ory+action+re search+and+ older+adults	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:08:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1043.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=PDF+thie ves+of+ostia	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1044.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=persian+ gulf+war+and +cold+war	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)

104	45.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=pesticide +education+ manuel	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
104	46.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=phantom +tollbooth	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:22:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
104		/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Phi+102	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
104		/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=philip+be rmingham+sp atial+clusterin g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
104	40	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=philosoph y+and+rhetori c	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:14:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
105	50.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Physical+ Examination+ and+Health+ Assessment, +6th+Edition+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
109	51.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=physical+ properties+of +materials	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
109	52.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=pickering, +stephen	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
105		/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Pictorial+ perception+a nd+culture+J an+B.+Dereg owski+(1972) +	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
109	54.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s.q=Pillai's+T race+Test									
1055.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=pinguicul a+micropropa gation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1056.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=piping+e ngineering	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1057.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=political+ participation+ young+adults	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1058.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=portland+ board+of+tra de+journal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1059.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Post+and +LaChappelle ,+Glacier+Ice	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1060.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=potential +of+medicinal +plants+as+a ntimicrobial+a nd+antioxida nt	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:15:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1061.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=practical+ neo4j	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1062.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=praxis+st udy+guide	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1063.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=prentiss+ carisle	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1064.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s.q=Pressure +isle+town+r eport									
1065.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Prison-in dustrial+com plex	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1066.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=prize+win ner+of+defian ce+ohio	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1067.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Proceedi ngs+of+The+ Biological+So ciety+of+Was hington	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1068.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Professio nal+develop ment+aligned +with+AP+Ch emistry+curri culum:+Prom oting+science +practices+a nd+facilitating +enduring+co nceptual+und erstanding.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1069.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=program+ evaluation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1070.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=progress +in+oceanogr aphy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1071.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Prolonge dinstitutional+ rearing+is+as sociated+with +atypically+la rge++amygda la+volume+a nd+difficulties +in+emotion+ regulation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	01:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1072.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:09:05	0.00%	0 (0.00%)	\$0.00 (0.00%)

	per+Article,t& s.q=Proust									
1073	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Pscyhinf o	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1074	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=pub+med	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1075	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=publicatio n+manual	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1076	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=PYTHON +BASED+PO WER+SYSTE M+AUTOMA TION+IN+PS S/E	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1077	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=quebec+ maghreb	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1078	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=quilting	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1079	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=quimby+l asers+and+p hotonics	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1080	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=r+e+balc h	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1081	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=rane+will erslev	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1082	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Rawls+P olitical+Libera lism	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

1083.	.fvf[]=Content Type,Newspa per+Article,t& s.q=reading+i n+the+brain	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:14:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1084.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=reading+ spanish	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1085.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=REALIZI NG+THE+PO TENTIAL+OF +HISPANIC- SERVING+IN STITUTIONS	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1086.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=relations hip+activities	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1087.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=religion+ and+nothingn ess	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:08:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1088.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Remodeli ng+America:+ ten+step	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:17:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1089.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=remote+s ensing	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1090.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=reuse+ec onomy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1091.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=review+of +scientific+in struments	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1092.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Robert+D uncan+born+ eastport+ME	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

1093.	.fvf[]=Content Type,Newspa per+Article,t& s.q=roman+h oliday	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1094.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=salmon+li ce+an+integr ated+approac h	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1095.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=saltmars h+sparrow+di et	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1096.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Sandra+ boynton	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1097.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sarker+P arama	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1098.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sarpkaya	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1099.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=saxo+gra mmaticus	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1100.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=schizophr enia+assess ment	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1101.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=schuchalt er	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1102.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=science+ experiments	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1103.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=scifinder	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1104.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sea+wolf +	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1105.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Selective +fluorescenc e+detection+ of+histamine +based+on+li gand+exchan ge+mechanis m+and+its+a pplication+to+ biomonitoring	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1106.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=self-effica cy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1107.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Self-este em,+personal +control,+opti mism,+extrav ersion,+and+t he+subjective +well-being+o f+midwestern +university+fa culty	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:31:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1108.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sendak+s ilvicultural+eff ects	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1109.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=senior+h ousing	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:13:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1110.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sensory+ processing	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1111.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=serpent+ on+the+rocks	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1112.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sex+matt ers	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

1113.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sheridan +weather+pat tern	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:22:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1114.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sheroes+ and+villians	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1115.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=shes+not +there	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1116.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=show+me +the+number s	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1117.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sigma+si x	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:29	0.00%	O (0.00%)	\$0.00 (0.00%)
1118.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sigma+si x+lean+sigma	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1119.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=slavophil e+society	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1120.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=small+ar ea+estimatio n	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1121.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=smooth+[article+hydro dynamics	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1122.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=social+se curity+disabili ty	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content									

1123.	Type,Newspa per+Article,t& s.q=social+w ork+examinat ion+services	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1124.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=soil+mec hanics+porosi ty	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1125.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Solid+Ph ase+Microext raction:+Theo ry+and+Practi	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:07:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1126.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=soul+of+ a+new+machi ne	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1127.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sound+e xposure+guid elines	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1128.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sovereig nty	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1129.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=spanish	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1130.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=spatial+m etrics+-+usef ul+indicators+ for+society+o r+mainly+fun +tools+for	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1131.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Spectros copic+investi gation+on+th e+interaction +of+maslinic+ acid+with+bo vine+serum+ albumin	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

1	132.	.fvf[]=Content Type,Newspa per+Article,t& s.q=spence+ a+risk	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:13:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	133.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=spinoza	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	134.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=spsi-r	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	135.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=SPSS	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	136.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=squirrel	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	137.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Standard +volume+tabl es+and+merc hantable+con version+facto rs+for+the+co mmercial+tre e+species+of +central+and +eastern+Ca nada	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	138.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=standing +at+armsged don	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:08:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	139.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=State+of +maine+statu es	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	140.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Statistical +structure+of +neural+spiki ng+under+no n-Poissonian +or+other+no n-white+stimu lation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	141.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t&	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s.q=stephen+ few									
1142.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=stereotyp e+backlash	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1143.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=stewart+ and+dale+19 81	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1144.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=strauss,+I eo	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1145.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=stress,+c oping,+and+d evelopment	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1146.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=studies+i n+avian+biolo gy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1147.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=sunstein+ precautionary +principle	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1148.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Susan+M .+Shaw+and+ Janet+Lee,+ Women's+Voi ces,+Feminist +Visions:+Cla ssic+and+Co ntemporary+ Readings,+5t h+Edition+(N ew+York:+Mc Graw+Hill,+2 013).	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:06	0.00%	O (0.00%)	\$0.00 (0.00%)
1149.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=symbiotic +relationships	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1150.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Tagore	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

11	51.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=teaching +online+mad e+me+a+bett er+teacher	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	52.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Technolo gy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
11		/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=tectonic+ history+of+th e+irtysh+she at+zone	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	54.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Temporal +and+spatial +variations+o f+PM2.5+and +PM10+aero sol+in+the+S outhern+Calif ornia+air+qua lity+study	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	55.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Textbook :+Kalman+Filt ering:+Theory +and+Practic e,+M.+S.+Gr ewal,+A.+P.+ Andrews,+4th +Ed,+Wiley,+ +2014,+ISBN :+ISBN:+978- 1-118-85121- 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	56.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Aen eid	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	57.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+art+o f+public+spea king	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	58.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+cons ervative+aims +of+militant+r	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	hetoric									
1159.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Dar k+Tower	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1160.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+dire ctional+radiati on+of+long+ waves+from+ bottom+defor mations+of+fi nite+duration	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:14:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1161.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+dust +bowl	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1162.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+fello wship:	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1163.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+genr e+function	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:07:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1164.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Gre enback+Party +in+Maine,+1 876-1884	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1165.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+inde pendent+use +of+self-instr uctions+for+t he+acquisitio n+of+untraine d+multi-step+ tasks+for+indi viduals+with+ an+intellectua I+disability:+A +review+of+t he+literature	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1166.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+islan d+of+dr.+mor eau	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s .fvf[]=Content									

Search 7go.x	1167.	Type,Newspa per+Article,t& s.q=the+man +who+loved+ children	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
=08g0,y=08s	1168.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+mira cle+of+indfuln	1 (0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:09:29	0.00%	O (0.00%)	\$0.00 (0.00%)
-08@0y=08s 1 (0.00%) 100.00% 1 (0.01%) 0.00% 1.00 0.00034 0.00% 0 (0.00%) 170.00% 1 (0.01%) 0.00% 1.00 0.00034 0.00% 0 (0.00%) 170.00% 1 (0.01%) 0.00% 1.00 0.00034 0.00% 0 (0.00%) 0.00% 0.	1169.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+notor ious+benedict	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
= 0.8go_y=0.8s	1170.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Ody	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
=0&go,y=0&s	1171.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+orga nic+worldvie w+of+nichola	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
=0&go.y=0&s .fvf[]=Content 1173. Type,Newspa per+Article,t& s.q=the+princ e /search?go.x =0&go.y=0&s .fvf[]=Content 174. Type,Newspa per+Article,t& s.q=the+profit +rate+in+turki 1 (0.00%) 1 (0.01%) 1 (0.01%) 0 .00% 2 .00 0 00:01:09 0 .00% 0 (0.00%) 0 (0.00%) 0 .00% 0 .00	1172.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Polit ics+of+Parlia mentary+Pro cedure:+The+ Formation+of +the+Westmi nster+Proced ure+as+a+Pa rliamentary+I	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:49	0.00%	O (0.00%)	\$0.00 (0.00%)
=0&go.y=0&s .fvf[]=Content 1174.	1173.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+princ	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:09	0.00%	O (0.00%)	\$0.00 (0.00%)
	1174.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+profit +rate+in+turki	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& 1175. s.q=the+relati ve+contributi on+of+winter +under+ice+a nd+summer+ hypolimnetic+ /search?go.x	1175.	=0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+relati ve+contributi on+of+winter +under+ice+a nd+summer+ hypolimnetic+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

117	=0&go.y=0&s .fvf[]=Content Type,Newspa '6. per+Article,t& s.q=The+Ret urn+of+Martin +Guerre	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
117	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+sex+ lives+of+the+ cannibals	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
117	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Spin +Doctor:+An+ Alternative+M odel+of+Publi c+Reations	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
117	/search?go.x =0&go.y=0&s .fvf[]=Content '9. Type,Newspa per+Article,t& s.q=the+stan d	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
118	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+time s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
118	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=theses	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
118	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=thesis	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
118	/search?go.x =0&go.y=0&s .fvf[]=Content 33. Type,Newspa per+Article,t& s.q=This+side +of+paradise	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
118	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=tissue+cu Iture+econom ic	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:08:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
118	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Title:+An +Introduction +to+Arizona+ History+and+ Government+ Authors:+Don ald+Dawrons	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ki									
1186.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=to+kill+a+ mockingbird	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1187.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Tomas+ Hardy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1188.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Topologi cal+graph+th eory+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1189.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=town+rep ort	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:29:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1190.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Toxins+a nd+Biologicall y+Active+Co mpounds+fro m+Microalga e+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:14:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1191.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Transgen erational+def ense+inductio n+and+epige netic+inherita nce+in+plants	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1192.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=True+Co st+of+Hurrica nes:+Case+fo r+a+Compreh ensive+Under standing+of+ Multihazard+ Building+Da mage.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1193.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Understa nding+land+c over+change +using+a+har monized+clas sification+sys tem+in+the+ Himalaya	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1194.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=US+Pate nts	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1195.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=van+butsi c	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1196.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=van+kirk, +sylvia+wom en+in+fur+tra de	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
1197.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=vanderdri ft+2015	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
1198.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=variable+ radius+sampli	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:41:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1199.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=vaske+su rvey+researc h+and+desig n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1200.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=virginia+ woolf	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1201.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=vital+reco rds	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1202.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=vitamins+ involved+in+a mino+acid+m etabolism	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1203.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=volatiles+ and+bee+visit ation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:20:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

1204.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=w.h.+aud en	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:08:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1205.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=warbler+ spruce+budw orm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:35	0.00%	O (0.00%)	\$0.00 (0.00%)
1206.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=wardlaw+ contemporary +nutrition	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1207.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=warrick+f unnell+nation al+efficiency	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1208.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=wave+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:48	0.00%	O (0.00%)	\$0.00 (0.00%)
1209.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=web+of+ science	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1210.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=wendell+ berry	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:07:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1211.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=What+is+ sport+educati on+and+how +does+it+wor k+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1212.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=word+stu dy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1213.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=worldsha re	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =0&go.y=0&s									

1214.	.fvf[]=Content Type,Newspa per+Article,t& s.q=writing+a nd+difference +	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1215.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=wutherin g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1216.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=XEN	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1217.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=yellow+u mbrella	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1218.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=your+inn er+fish	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1219.	/search?go.x =0&go.y=0&s .fvf[]=Content Type,Newspa per+Article,t& s.q=zen	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:15:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1220.	/search?go.x =10&go.y=1& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=sensory +articles	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1221.	/search?go.x =10&go.y=10 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=10.10 80/10705422. 2011.569649	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1222.	/search?go.x =10&go.y=10 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=ebay	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1223.	/search?go.x =10&go.y=10 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=no+b ullshit+guide+ to+math+and +physics	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1224.	/search?go.x =10&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=PHI+ 102	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

1225.	/search?go.x =10&go.y=14 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=Cond rasky,+M.D.,+ Williams,+J.E.,+Catalano,+ P.M.,+&+Griff in,+S.F.+(201 1).+Develop ment+of+psy chosocial+sc ales+for+eval uating+the+i mpact+of+a+ culinary+nutri tion+educatio n+program+o n+cooking+a nd+healthful+ eating.+Journ al+of+Nutritio n+Education+ and+Behavior ,+43,+511-51 6.=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1226.	/search?go.x =10&go.y=4& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=kelp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1227.	/search?go.x =10&go.y=5& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Introver ts,+Extroverts ,+and+Achiev ement+in+a+ Distance+Lea rning+Environ ment+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1228.	/search?go.x =10&go.y=5& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=R.B.Wo odward	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1229.	/search?go.x =10&go.y=6& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Dilemm as+in+a+gen eral+theory+o f+planning	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1230.	/search?go.x =10&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Journal +of+Physical +Education+ Recreation+a nd+Dance	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1231.	/search?go.x =10&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=partial+ differential+e quations	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x									

1232.	=10&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=vera+pa rker	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1233.	/search?go.x =10&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=astm+4 329	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1234.	/search?go.x =10&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=h+porte r+Abbott	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1235.	/search?go.x =10&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Princet on+maine	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:45:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1236.	/search?go.x =10&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=The+Fr anco+Americ ans+of+Lewis ton-Auburn	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1237.	/search?go.x =10&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=The+Pri ze:+The+Epic +Quest+for+ Oil	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1238.	/search?go.x =10&go.y=9& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=cosmos	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1239.	/search?go.x =10&go.y=9& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Science +News	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1240.	/search?go.x =11&go.y=10 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=Atmo spheric+corre ction+of+Sea WiFS+imager y+for+turbid+ coastal+and+i nland+waters	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1241.	/search?go.x =11&go.y=4& s.fvf[0]=Conte ntType,News paper+Article, t&s.q=eurasia +china	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:36	0.00%	0 (0.00%)	\$0.00 (0.00%)

1	242.	/search?go.x =11&go.y=5& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Biases+ in+the+perce ption+of+drin king+norms+ among+colle ge+students.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	30.00	00:44:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	243.	/search?go.x =11&go.y=5& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Source s+and+distrib ution+of+arse nic+in+groun dwater+and+ aquifers	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	244.	/search?go.x =11&go.y=6& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Monitori ng+the+condi tion+of+camp sites+on+the +Allagash+Wi Iderness+Wat erway	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	245.	/search?go.x =11&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=corey	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	246.	/search?go.x =11&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Internati onal+Political +Econ-+omy: +Perspective s+on+Global +Power+and +Wealth	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	247.	/search?go.x =11&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Cervical +Human+Vert ebrae+-+Qua ntitative+Thre e-Dimensiona I+Anatomy+of +the+Middle+ and+Lower+ Regions.+Pa njabi+et+al.+ SPINE,+1991	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	248.	/search?go.x =11&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=medical +science+mo nitor	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:08:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	249.	/search?go.x =11&go.y=8& s.fvf[]=Conten tType,Newsp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:11:01	0.00%	0 (0.00%)	\$0.00 (0.00%)

	aper+Article,t &s.q=restless +ocean									
1250.	/search?go.x =12&go.y=10 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=+Dr.+ A.+Douglas+ Glanville	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1251.	/search?go.x =12&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=1991 +International +Pulp+Bleach ing+Conferen ce	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1252.	/search?go.x =12&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=Davis ,+S.F.,+Palla dino,+J.J.,+& +Christopher son,+K.M=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1253.	/search?go.x =12&go.y=12 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=Estim ation+of+Parti culate+Organ ic+Carbon+in +the+Ocean+ from+Satellite +Remote+Se nsing	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:29:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1254.	/search?go.x =12&go.y=14 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=paten t+foramen+ov ale	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1255.	/search?go.x =12&go.y=2& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Stross	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1256.	/search?go.x =12&go.y=4& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=THE+E FFECTS+OF +ENTREPRE NEUR+ABUS IVE+SUPER VISION.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:17:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1257.	/search?go.x =12&go.y=5& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Compar ison+of+the+ mass+circulat ion+and+AO+ indices+as+in	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	dicators+of+c old+air+outbr eaks+in+nort hern+winter									
1258.	/search?go.x =12&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=illustrat ed+astronom y+dictionary	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1259.	/search?go.x =12&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=genealo gy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:17:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1260.	/search?go.x =13&go.y=10 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=Funct ional+Assess ment+and+Pr ogram+Devel opment+for+ Problem+Beh avior:+A+Pra ctical+Handb ook+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:30:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1261.	/search?go.x =13&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=Reco mmendations +for+Metrics+ for+Multidrug +-+Resistant +Organisms+i n+Healthcare +Settings:+S HEA/HICPAC +Position+Pa per	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:05:27	0.00%	O (0.00%)	\$0.00 (0.00%)
1262.	/search?go.x =13&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=star+ wars	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:08:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1263.	/search?go.x =13&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=the+ magicians	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1264.	/search?go.x =13&go.y=14 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=Ener gy+Systems+ and+Sustaina bility:+Power +for+a+Susta inable+Future	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:10:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1265.	/search?go.x =13&go.y=4& s.fvf[]=Conten tType,Newsp aper+Article,t	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&s.q=fruit+col or+on+feedin g+preference +									
1266.	/search?go.x =13&go.y=6& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Examini ng+decision+ errors+in+chil d+protection: +A+new+appl ication+of+ro ot+cause+an alysis	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:13:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1267.	/search?go.x =13&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Internati onal+Consen sus+Guidelin es+for+Nutriti on+Therapy+i n+Pancreatiti s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:09:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1268.	/search?go.x =13&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Catalog ing+&+Classif ication+Quart erly=	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1269.	/search?go.x =13&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=ruth+m oore	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1270.	/search?go.x =13&go.y=9& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=playboy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1271.	/search?go.x =14&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=alumi num+ion+batt ery	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1272.	/search?go.x =14&go.y=5& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Morphol ogic+effects+ of+in+vivo+ac ute+exposure +to+the+pesti cide+methopr ene+on+the+ hepatopancre as+of+a+non- target+organi sm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =14&go.y=7& s.fvf[]=Conten tType,Newsp									

127	73. aper+Article,t &s.q=Remote +strain+meas urements+by +SAW+senso rs	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:22:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
127	/search?go.x =15&go.y=12 &s.fvf[]=Cont 74. entType,New spaper+Articl e,t&s.q=Bern adette+Mayer	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
127	/search?go.x =15&go.y=14 &s.fvf[]=Cont entType,New 75. spaper+Articl e,t&s.q=gorh am+me+town +reports+192 3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
127	/search?go.x =15&go.y=3& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Mass+T ransfer+Mode ling+During+ Marination+of +Anchovy+Fil lets+in+Terna ry+and+Multi component+S olutions	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
127	/search?go.x =15&go.y=9& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Stock+i nvesting	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
127	/search?go.x =16&go.y=12 &s.fvf[]=Cont entType,New 78. spaper+Articl e,t&s.q=A+va riable-expone nt+taper+equ ation	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
127	/search?go.x =16&go.y=15 &s.fvf[]=Cont entType,New 79. spaper+Articl e,t&s.q=ROC K+MUSIC+S TYLES:HIST ORY	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:43	0.00%	O (0.00%)	\$0.00 (0.00%)
128	/search?go.x =16&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Nathani el+philbrick	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
128	/search?go.x =16&go.y=9& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Molecul ar+bioelectrici ty+in+develop mental+biolo gy:+New+tool s+and+recent	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	+discoveries									
1282.	/search?go.x =17&go.y=11 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q=journ al+american+ society+hortic ulture+scienc e	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1283.	/search?go.x =17&go.y=12 &s.fvf[]=Cont entType,New spaper+Articl e,t&s.q="justi n+wolff"	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:04:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1284.	/search?go.x =17&go.y=7& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=kappa+ sigma	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:08:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1285.	/search?go.x =17&go.y=8& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Topogr aphic+Rossb y+waves+in+t he+Gulf+of+ Mexico	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:07:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1286.	/search?go.x =18&go.y=9& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Sense+ and+Nonsens e+in+Corpora te+Finance	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1287.	/search?go.x =3&go.y=1&s .fvf[]=Content Type,Newspa per+Article,t& s.q=aerial+ph otography	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1288.	/search?go.x =3&go.y=10& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Lobster s:+Biology,+ management, +aquaculture +and+fisherie s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1289.	/search?go.x =3&go.y=10& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=No+Dre am+Beyond+ My+Reach	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1290.	/search?go.x =4&go.y=14& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=eco+12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1291.	/search?go.x =4&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=cloud+str eet+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1292.	/search?go.x =4&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+broth ers+reuther	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1293.	/search?go.x =4&go.y=9&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Marketin g+Analysis+T oolkit:+Marke t+Size+and+ Market+Shar e+Analysis	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:21:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1294.	/search?go.x =4&go.y=9&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Scientific +Progress+a nd+Irreversibi lity:+An+Econ omic+Interpre tation+of+the +'Precautiona ry+Principle	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1295.	/search?go.x =5&go.y=12& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=stephen +king+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1296.	/search?go.x =5&go.y=13& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=joyeuse +lumiere	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1297.	/search?go.x =5&go.y=15& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=childho ods+end	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1298.	/search?go.x =5&go.y=17& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=When+i nfants+talk,+i nfants+listen: +pre-babbling +infants+pref er+listening+t o+speech+wit h+infant+voc al+properties	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =5&go.y=3&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Life+cycl									

1299.	e+assessmen t+of+electricit y+generation +using+fast+ pyrolysis+bio- oil.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1300.	/search?go.x =5&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Palmyra+ town+reports	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1301.	/search?go.x =5&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+sprat ly+island+dis pute+and+the +law+of+the+ sea	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:10:43	0.00%	O (0.00%)	\$0.00 (0.00%)
1302.	/search?go.x =5&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+role+ of+race+in+ci vil+war+hospi tals	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1303.	/search?go.x =5&go.y=9&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Listening +and+learnin g+from+traditi onal+knowled ge+and+West ern+Science	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:21:09	0.00%	O (0.00%)	\$0.00 (0.00%)
1304.	/search?go.x =5&go.y=9&s .fvf[]=Content Type,Newspa per+Article,t& s.q=UMe+fac ulty+annual+ activity+repor t+portal	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1305.	/search?go.x =6&go.y=12& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=america n+society+for +mass+spect rometry	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1306.	/search?go.x =6&go.y=12& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Core+C oncepts+of+A ccounting+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1307.	/search?go.x =6&go.y=13& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Reactio n+kinetics+an d+adsorption +equilibria+in +the+vapor-p hase+dehydr	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ation+of+etha nol									
130	/search?go.x =6&go.y=2&s .fvf[]=Content Type,Newspa per+Article,t& s.q=A+Midsu mmer+Night's +Dream+(+Si gnet+Classic) +ebook	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
130	/search?go.x =6&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& 9. s.q=A+generi c+testing+fra mework+for+ agent-based+ simulation+m odels	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
131	/search?go.x =6&go.y=7&s .fvf[]=Content Type,Newspa 0. per+Article,t& s.q=Practical +NMR+Relax ation+for+Ch emists	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
131	/search?go.x =6&go.y=9&s .fvf[]=Content Type,Newspa per+Article,t& s.q=stearns	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
131	/search?go.x =6&go.y=9&s .fvf[]=Content 2. Type,Newspa per+Article,t& s.q=Yearbook +1988	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
131	/search?go.x =7&go.y=12& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Les+Alv inellidae,+une +famille+nouv elle+d'annélid es+polychète 3. s+inféodées+ aux+sources +hydrotherma les+sous-mar ines:+systém atique,+biolo gie+et+écolo gie,+Canadia n+Journal+of +Zoology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:47	0.00%	O (0.00%)	\$0.00 (0.00%)
131	/search?go.x =7&go.y=2&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Mycobact erial+transcri 4. ptional+signal s:+requireme nts+for+recog nition+by+RN A+polymeras e+and+optim al+transcripti onal+activity.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1315.	/search?go.x =7&go.y=4&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Integrate d+Forest+Bio refinery+-+Pr ehydrolysis/Di ssolving+Pulp ing+Process	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:22:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1316.	/search?go.x =7&go.y=4&s .fvf[]=Content Type,Newspa per+Article,t& s.q=northern+ gannets	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1317.	/search?go.x =7&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=popper,+ arthur+n.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1318.	/search?go.x =7&go.y=7&s .fvf[]=Content Type,Newspa per+Article,t& s.q="around+ the+world+in +18+element s"	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1319.	/search?go.x =7&go.y=7&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Advance sin+World+Ar cheology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1320.	/search?go.x =7&go.y=7&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Notodiapt omus+ihering	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1321.	/search?go.x =7&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q="knowlde ge+managem ent"	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1322.	/search?go.x =7&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Exposure +to+tobacco- derived+mate rials+induces +overproducti on+of+secret ed+proteinas es+in+mast+ cells	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1323.	/search?go.x =7&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=v	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x									

1	324.	=7&go.y=9&s .fvf[]=Content Type,Newspa per+Article,t& s.q=American +Short+Storie s+(8th+editio n)+ed.,+Bert+ Hitchcock+an d+Virginia+M. +Kouidis	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	325.	/search?go.x =7&go.y=9&s .fvf[]=Content Type,Newspa per+Article,t& s.q=climate+c hange	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	326.	/search?go.x =8&go.y=10& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Racing +speeds+of+ quarter+hors es,+thorough breds+and+A rabians.+Niel sen+BD1,+Tu rner+KK,+Ve ntura+BA,+W oodward+AD, +O'Connor+C I.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	327.	/search?go.x =8&go.y=11& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=je+man gerais+du+ju nk+food+let's +go+pour+un e+grosse+piz za+all+dress	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	328.	/search?go.x =8&go.y=12& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	329.	/search?go.x =8&go.y=12& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Short-te rm+study+on +the+effects+ of+rosemary+ on+cognitive+ function+in+a n+elderly+po pulation.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	330.	/search?go.x =8&go.y=2&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Science+ New+Series, +Vol.+120,+N o.+3114	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	331.	/search?go.x =8&go.y=4&s .fvf[]=Content Type,Newspa per+Article,t& s.q=The+Pot	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ato+Landsca pe:+Aroostoo k+County,+M aine.									
1332.	/search?go.x =8&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Burchart h	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1333.	/search?go.x =8&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Digest+of +education+s tatistics	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:07:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1334.	/search?go.x =8&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Judith+G autier,+ninete enth-century+ French+orient alist	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1335.	/search?go.x =8&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Tcherepa shenets+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1336.	/search?go.x =8&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=the+tippi ng+point	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:09:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1337.	/search?go.x =8&go.y=7&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Bridging+ the+electroni c+divide:+pati ent+and+prov ider+perspect ives+on+e-m ail+communic ation+in+prim ary+care.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:17:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1338.	/search?go.x =8&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=++Evalua ting+Commu nity-Based+C ollaborative+ Mechanisms: +Implications +for+Practitio ners	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1339.	/search?go.x =8&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Fall+Rive r+Dreams	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x =8&go.y=9&s									

1340.	.fvf[]=Content Type,Newspa per+Article,t& s.q=MacLean ,+Hugh	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1341.	/search?go.x =9&go.y=11& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Design +and+realizat ion+of+SAW+ chirp+filters	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1342.	/search?go.x =9&go.y=11& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Econo mic+and+Sec urity+Regiona lism+among+ Patrimonial+ Authoritarian +Regimes:+T he+Case+of+ Central+Asia	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1343.	/search?go.x =9&go.y=16& s.fvf[]=Conten tType,Newsp aper+Article,t &s.q=Ableph aron+macrost omia+syndro me	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1344.	/search?go.x =9&go.y=4&s .fvf[]=Content Type,Newspa per+Article,t& s.q=skidgel	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1345.	/search?go.x =9&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=ebay	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1346.	/search?go.x =9&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=maine+re publican+platf orm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1347.	/search?go.x =9&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=marriage +records	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1348.	/search?go.x =9&go.y=5&s .fvf[]=Content Type,Newspa per+Article,t& s.q=medicine	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1349.	/search?go.x =9&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=1133602 304	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?go.x									

135	50.	=9&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Acoustic +fields+and+ waves+in+sol ids	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	51.	/search?go.x =9&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=AHRQ+r esearch+activ ities	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	52.	/search?go.x =9&go.y=6&s .fvf[]=Content Type,Newspa per+Article,t& s.q=birth+rec ords	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	53.	/search?go.x =9&go.y=7&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Biosenso r,+biosensor+ chip+and+bio sensor+devic e+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:53:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	54.	/search?go.x =9&go.y=7&s .fvf[]=Content Type,Newspa per+Article,t& s.q=increase +awareness+ of+zoonotic+ diseases+am ong+health+ workers+and +rural+comm unities	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	55.	/search?go.x =9&go.y=7&s .fvf]=Content Type,Newspa per+Article,t& s.q=Nowhere +to+Hide:+W hy+Kids+with +ADHD+&+L D+Hate+Sch ool+and+Wha t+We+Can+D o+About+It=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	56.	/search?go.x =9&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=blue	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	57.	/search?go.x =9&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=Human+ Evolution+an d+Culture	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
135	58.	/search?go.x =9&go.y=8&s .fvf[]=Content Type,Newspa per+Article,t& s.q=J.W.Moor e+and+R.G.P	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	earson									
1359.	/search?hid= 4212&s.q=htt p://web.a.ebs cohost.com.u rsus-proxy-1. ursus.maine. edu/ehost/pdf viewer/pdfvie wer?sid=791 d8149-a469-4 548-8282-e82 c39c9a80b@ sessionmgr40 04&vid=22	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1360.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= AICHE Journ al&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	01:04:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1361.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Aquatic insect s as primary c onsumers&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1362.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Bandura 199 7&go.x=12&g o.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1363.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= carbon nanot ube&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1364.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= carbon nanot ube&go.x=6& go.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1365.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Chapter 8 - E fficient Pricing of Electricity& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1366.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= David Courtw right, Dark Pa radise: Opiate Addiction in A merica Before 1940 &go.x=1 4&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Development and metamor phosis of the									

1367.	digestive syst em of larval lo bsters, Homa rus american us (Decapoda : Nephropida e)&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1368.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= effects of oils pills&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1369.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Forsyth 1980 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1370.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= From the" Ae sthetics of Ind ifference" to" Negative Aest hetics": John Cage and Ge rmany 1958-1 972&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:13:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1371.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q=j ournal of mas s media ehics exploring que stions of medi a morality&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:34	0.00%	O (0.00%)	\$0.00 (0.00%)
1372.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Locus of cont rol lefcourt&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:09:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1373.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= microhydrody namics: Princi ples and sele cted Applicati ons&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:33	0.00%	O (0.00%)	\$0.00 (0.00%)
1374.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= nepenthes air layer&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1375.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= plant micropr opagation&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:22:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

137	resp nter esha 0&g	cle,t&s.q= ponse to i vention gr am&go.x= po.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
137	=Co e,Ne Artic Self The of co	arch?s.fvf[] ontentTyp ewspaper cle,t&s.q= f efficacy: exercise ontrol&go. &go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
137	=Co e,Ne 78. Artic shap y po	arch?s.fvf[] ontentTyp ewspaper cle,t&s.q= pe memor olymer&go 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:18:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
137	=Co e,Ne Artic Stor ation hydr dien est o sh— ypot	arch?s.fvf[] ontentTyp ewspaper cle,t&s.q= nefly pred n along a raulic gra nt: a field t of the har benign h thesis&go 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
138	=Co e,Ne Artic strea	arch?s.fvf[] ontentTyp ewspaper cle,t&s.q= am herbiv successio jo.x=0&go	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
138	=Co e,Ne B1. Artic eacl ficac	arch?s.fvf[] ontentTyp ewspaper cle,t&s.q=t her self ef cy&go.x= jo.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:24:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
138	=Co e,Ne Artic The s of nity and port ucce ge a s' life	arch?s.fvf[] contentTyp ewspaper ele,t&s.q= e response a commu to disturb e: The im cance of s essional a cand specie fe historie o.x=0&go)	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
138	=Co e,Ne B3. Artic issu disir	arch?s.fvf[] ontentTyp ewspaper cle,t&s.q=t te culture nfest&go.x .go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
138	=Co e,Ne Artic Wei ieze kla, L., F Ros R. M	arch?s.fvf[] contentTyp ewspaper cle,t&s.q= iner, B., Fr e, I. H., Ku A., Reed, Rest, S., & senbaum, M. (1971). ijo.x=0&go	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:47	0.00%	0 (0.00%)	\$0.00 (0.00%)

1385.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= ziler, Z.&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1386.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q = Emerging+ perspectives+ on+gesture+a nd+embodim ent+in+mathe matics+&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1387.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =.+Habitat+m anipulation+p ractices&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1388.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =.+Hormonal +control+of+ metabolism:+ regulation+of +plasma+gluc ose&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1389.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="3th+Nation al+Congress+ of+the+Com munist+Party +of+China"+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1390.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="climate+ch ange"+affects +on+inuit+"tra ditional+foods "+and+health &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1391.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="exon+shuffl ing"&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:47:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1392.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="folklore+in+ the+newspap ers"&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1393.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="johnathan+ krasner"&go.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:01	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
1394.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="on+journali stic+authority "&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1395.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="richard+lipp man"&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1396.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="The+China +Study"+Cam pbell&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1397.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="the+craft+o f+research"& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:17:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1398.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="what's+cha nged,+what+ hasnt&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1399.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="writing+to+t he+moment" +paulin&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
1400.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="wrongful+bi rth+and+disa bility"&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:17:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1401.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =(19)+Garcia, +E.+Ph.D.+Di ssertation,+U niversity+of+ Texas+at+Au stin,+1989;+p p+39-40&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:58:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1402.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =).+Intrinsic+ evolutionary+ constraints+o n+protease+s tructure,+enz yme+acylatio n,+and+the+i	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	dentity+of+th e+catalytic+tri ad&go.x=0&g o.y=0									
1403.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =• Bioenerget ic+evaluation +of+diets+for +the+America n+lobster+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1404.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Adopting+ New+Digital+ Technologies +in+Educatio n:+Profession al+Learning& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1405.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+An++outlin e++of++the+ +value++of++ genre++analy sis++in++LSP ++work.&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1406.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Analysis+o f+Integrated+ and+Cointegr ated+Time+S eries+with+R &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1407.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Biomaterial s:+The+Inters ection+of+Bio logy+and+Ma terials+Scien ce,&go.x=3& go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1408.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Drafting+a +conservatio n+blueprint&g o.x=14&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1409.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Fantasy,+ Art+Therapie s,+and+Other +Expressive+ and+Creative +Psychosocia I+Intervention s&go.x=0&go	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)

		.y=0									
1	410.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Fish+remai ns+in+archae ology+and+p aleo-environ mental+studi es+&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	411.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+HAMAYAN +++++++ E NGLISH+LA NGUAGE+LE ARNERS+AT +S++&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	412.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+have+mea sured+sulfur+ hydride+supe rconducting+ at+190+Kelvi n+or+-83+de grees+Centig rade,+albeit+ at+a+pressur e+of+150+gig apascals&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	413.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Influence+ of+self-efficac y+on+perform ance+in+a+c ognitive+task. &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	414.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Low-freque ncy+drift+forc es+and+horiz ontal+motion s+of+a+moor ed+FPSO+in +bi-directiona l+swell+and+ wind-sea+offs hore+West+A frica&go.x=10 &go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1	415.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Microtiter+ plate+assay+f or+assessme nt+of+Listeria +monocytoge nes+biofilm+f ormation&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp									

1416.	e,Newspaper +Article,t&s.q =+Reproducti ve+system+a nd+spermato phoric+reacti on+of+Octop oteuthis+sicul a+(Ruppell,+ 1844)+from+s outhern+Afric an+waters&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1417.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+Ecolo gy+of+Multile vel+Interventi ons+to+Redu ce+Social+In equalities+in+ Health&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1418.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+syste ms+perspecti ve+as+a+the oretical+basis +for+the+stud y+of+human+ communicatio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1419.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =14-3-3&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1420.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =17β-Estradi ol+Degradati on+by+TiO2+ Photocatalysi s+as+a+Mea ns+of+Reduci ng+Estrogeni c+Activity&go .x=7&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1421.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =1878+Repor t+on+the+Lan ds+of+the+Ar id+Region+of +the+United+ States&go.x= 11&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1422.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =3. Identify+ motivation+a nd+engagem ent+strategie s+education& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1423.	e,Newspaper +Article,t&s.q =3d+imaging +in+medicine &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1424.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =3D+mechan ochromic&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1425.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A Demonstr ation of Indivi dualized Posit ive Behavior Support Inter ventions by H ead Start Staf f to Address Childrens Ch allenging Beh aviors	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:22:55	0.00%	O (0.00%)	\$0.00 (0.00%)
1426.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Beginner' s+Guide+to+ Data+Explora tion+and+Vis ualisation+wit h+R&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1427.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+bipartite+ bacteriophag e+T4+SOC+a nd+HOC+ran domized+pep tide+display+l ibrary:+Detec tion+and+ana lysis+of+phag e+T4+termina se+(gp17)+an d+late+sigma +factor+(gp55) +interaction. &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1428.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+cautionar y+note+on+th e+discrete+u niform+prior+f or+the+binom ial+N&go.x=2 &go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1429.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+computer +oriented+ge odetic+data+ base+and+a+ new+techniqu e+in+file+seq uencing&go.x	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	01:35:41	0.00%	O (0.00%)	\$0.00 (0.00%)

	=0&go.y=0									
1430.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Critical+R eview+of+Tra uma+Interven tions+and+Re ligion+Among +Youth+Expo sed+to+Com munity+Viole nce&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1431.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+data+stru cture+and+al gorithm+base d+on+a+linea r+key+for+a+ rectangle+retr ieval+proble m&go.x=8&g o.y=16	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1432.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Fast+Mo dular+Semi-L agrangian+M ethod+for+Mo ving+Interfac es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1433.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+floating+p latform+of+co ncrete+for+off shore+wind+t urbine	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1434.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+global+m eta-analysis+ of+forest+bio energy+green house+gas+e mission+acco unting+studie s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1435.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Major+Q TL+on+Mous e+Chromoso me+17+Resul ting+in+Lifesp an+Variability +in+SOD1-G 93A+Transge nic+Mouse+ Models+of+A myotrophic+L ateral+Sclero sis&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

1436.	=ContentTyp e,Newspaper +Article,t&s.q =A+Modern+ Herbal&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1437.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Modern+ Herbal+&go.x =12&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1438.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+modified+ microtiter+pla te+test+for+q uantification+ of+staphyloco ccal&go.x=2& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1439.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+multdime nsional+sche m+for+coding +and+interpre ting+perceive d+causality+f or+success+a nd+failure+ev ents&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:09:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1440.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+multi-met hod+hierarchi cal+modeling +approach+to +quantifying+ bias+in+occu pancy+from+ noninvasive+ genetic+taggi ng+studies&g o.x=10&go.y= 8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1441.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Ni-Mn-G a+foil+actuat or+based+on +the++magne tic+shape+m emory+effect.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:45:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1442.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Potential +Role+for+Tr ansmissible+ Spongiform+ Encephalopat hies+in+Nean derthal+Extin ction&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1443.	+Article,t&s.q =A+preliminar y+compilation +of+fish+leng th+growth+pa rameters&go. x=15&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1444.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+preliminar y+investigatio n+of+the+fish +food+web+i n+the+Girond e+estuary,+Fr ance,+using+ dietary+and+ stable+isotop e+analyses& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1445.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+PRIMER +ON+BOX-C OX+ESTIMA TION&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1446.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+reliable+a nd+sensitive+ immunoassay +for+the+det ermination+of +crustacean& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:34:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1447.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+review+of +infectious+gi II+disease+in +marine+sal monid+fish&g o.x=-651&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:31:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1448.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+review+of +the+biophysi cal+propertie s+of+salmoni d+faeces:+im plications+for +aquaculture +waste+dispe rsal+models+ and+integrate d+multi-trophi c+aquacultur e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:25:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1449.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+simple+te chnique+to+d etermine+qua ntum+yield+f	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:47:46	0.00%	0 (0.00%)	\$0.00 (0.00%)

1	1450.	or+UV+photo catalytic+dec omposition+st udies&go.x=1 2&go.y=3 /search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+survey+of +several+finit e+difference+ methods+for+ systems+of+n onlinear+hyp erbolic+conse rvation+laws &go.x=0&go.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1451.	y=0 /search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+zionist+in +palestine+int ifada&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1452.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =AASHTO+M 305&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1453.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Absolute+R aman+matrix +elements+of +graphene+a nd+graphite& go.x=15&go.y =8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1454.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Abstracting+ the+principles +of+develop ment+using+i maging+and+ modeling&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1455.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =access+and +access+barr iers+to+gettin g+food+stam ps&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1456.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =achondropla sia&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1457.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acta+inform atica&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

14	458.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Acute+expo sure+to+high- fat+diets+incr eases+hepati c+expression +of+genes+re lated+to+cell +repair+and+ remodeling+i n+female+rat s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
14	459.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Adaptation+f or+sound+loc alization+in+t he+ear+and+ brainstem+of +mammals&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:27:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
14	460.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =adapting+to +the+impacts +of+climate+ change+on+f ood+security +among+Inuit &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
14	461.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =adolescent+ development &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	01:05:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
14	462.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =adorno+mini ma+moralia& go.x=-620&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:05:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
14	463.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Advances+i n+morphomet ric+identificati on+of+fishery +stocks&go.x =18&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
14	464.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Advances+i n+School+Me ntal+Health+ Promotion&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Age,+geoch									

1465.	emistry+and+ distribution+o f+the+mid-Ho locene+Hekla -S/Kebister+t ephra+The+H olocene+Jun e+2008+18:+ 539-549,&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1466.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Age+and+w hole+rock-gla ss+compositi ons+of+proxi mal+pyroclast ics+from+the +major+explo sive+eruption s+of+Somma -Vesuvius:+a +review+as+ a+tool+for+di stal+tephroch ronology&go. x=7&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1467.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aged+by+cu lture&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1468.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =airlift+reacto r+application &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1469.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Alan+L.+Ol mstead+and+ Paul+W.+Rho de,+2002,+"T he+Red+Que en+and+the+ Hard+Reds:+ Productivity+ Growth+in+A merican+Whe at,+1800-194 0,"+Journal+o f+Economic+ History,+62+(Dec.):+939-6 6.&go.x=7&g o.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:37	0.00%	O (0.00%)	\$0.00 (0.00%)
1470.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Algorithms+i n+C++&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1471.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alison+light+ mandalay&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:33	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1472.	e,Newspaper +Article,t&s.q =all+the+light +we+cannot+ see&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1473.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =almon+jump ing:+behavior ,+kinematics+ and+optimal+ conditions,+w ith+possible+i mplications+f or+fish+pass ageway+desi gn.+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1474.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Am+l+an+At hlete+or+a+S tudent?+Ident ity+Salience+ and+Stereoty pe+Threat+in +Student-Ath letes&go.x=7 &go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1475.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+m edicinal+plant s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1476.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+v alues&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:34:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1477.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =americas+o bsession+wit h+winning+& go.x=7&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1478.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Amine-Func tionalized+Gr aphene+for+ Natural+Gas+ Sweetening& go.x=12&go.y =8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1479.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Amperometr ic+detection+ of+staphyloco ccal+enteroto xin+B+in+mil k+using+mag netic+bead-b ased+immun	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)

	oassay+on+di sposable+scr een+printed+ carbon+electr ode+strip&go. x=10&go.y=1									
1480.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =AMS+Revie ws&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1481.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Analysis +of+13+Touri sm+Surveys: +Are+Three+ Waves+of+D ata+Collectio n+Necessary ?&go.x=10&g o.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:49:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1482.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+ecologic al+assessme nt+of+commu nity-based+in terventions+f or+prevention +and+health+ promotion:+A pproaches+to +measuring+ community+c oalitions&go.x =13&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:24:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1483.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+efficient, +multi-layere d+crown+deli neation+algor ithm+for+map ping+individu al+tree+struct ure+across+ multiple+ecos ystems.&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:18:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1484.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+explorati on+of+the+sh apes+and+st ability+of+pop ulation—select ion+curves&g o.x=12&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1485.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Explorat ory+Event-Re lated+Potenti al+Study+of+ Multisensory+ Integration+in +Sensory+Ov	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	er-Responsiv e+Children.+ &go.x=0&go. y=0									
1486.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analysis+of +the+Cause+ of+Contamin ation+and+Ex plant+Steriliz ation+in+Plan t+Tissue+Cult ure&go.x=5& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1487.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analysis+of +the+Chesap eake+Bay+H ypoxia+Regi me+Shift:+Ins ights+from+T wo+Simple+ Mechanistic+ Models&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1488.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analysis+of +the+impact+ of+amendme nt+to+the+sta tutory+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1489.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analysis+of +the+ontogen etic+variation +in+body+an d+beak+shap e+of+the+Ille x+argentinus +inner+shelf+ spawning+gr oups+by+geo metric+morph ometrics&go. x=6&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1490.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analysis+si mulation+and +synthesis&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1491.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ancestry&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1492.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =andrew+tho mas&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)

1493.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Angeli&go.x =12&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1494.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =animal+studi es+of+psycho logical+stress +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1495.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ann+Leary& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1496.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =anti-commu nism+in+Main e&go.x=-640 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1497.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Antioxidant+ activity+of+fre sh+and+proc essed+edible +seaweeds.& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1498.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =APA+hanbo okof+educati onal+psychol ogy&go.x=16 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1499.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Apocalypto& go.x=13&go.y =7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:08:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1500.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aquatic+che mistry+stabilit y+constants+ complexes+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:08:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1501.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aquatic+inse cts+as+indica tors+of+water +quality&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1502.	e,Newspaper +Article,t&s.q =Aquatic+ins ects+as+prim ary+consume rs&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1503.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Archaeologi cal+aerial+th ermography:+ a+case+study +at+the+Cha co-era+Blue+ J+community, +New+Mexic o&go.x=10&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1504.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =architecture &go.x=11&go .y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:24:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1505.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arlotta&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1506.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arnett&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1507.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Arsenic+dist ribution+and+ speciation+in +an+arsenic+ hyperaccumul ator+fern+by +X-ray+spect rometry+utilizi ng+a+synchr otron+radiatio n+source&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:32:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1508.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ash+"telepla stic+technolo gies"&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1509.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asian+consu mer+psychol ogy&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:16:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1510.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aspergillus+ mycotoxin+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)

1511.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aspt&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1512.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Assessing+ Community+ Change+at+ Multiple+Leve ls:+The+Gen esis+of+an+E valuation+Fra mework+for+t he+California +Healthy+Citi es+Project&g o.x=10&go.y= 8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1513.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Assessing+ uncertainty+o f+a+multispec ies+size-spec trum+model+r esulting+from +process+an d+observatio n+errors&go. x=15&go.y=1 1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1514.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =astronautics &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1515.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atherosclero sis&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1516.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Atlantic+stur geon+and+sh ortnsoe+sturg eon&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1517.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atlas+of+an droscoggin+c ounty&go.x=1 6&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1518.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Atlas+of+the +Helminth+P arasites+of+C ichlid+Fish+of +Mexico&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

1519.	=ContentTyp e,Newspaper +Article,t&s.q =atmospheric +chemistry+a nd+physics& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1520.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Atmospheric +correction+o f+SeaWiFS+i magery+for+t urbid+coastal +and+inland+ watersSeabor ne+measure ments+of+ne ar+infrared+w ater-leaving+r eflectance:+T he+similarity+ spectrum+for +turbid+water s&go.x=7&go .y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1521.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audio+book s&go.x=10&g o.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1522.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audobon+fie Id+guide+inse cts&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1523.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =australia+in +world+war+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1524.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Azerbaijan's +Foreign+Poli cy+and+Chall enges+for+E nergy+Securit y&go.x=16&g o.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1525.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =b533223681 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:41:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1526.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bach+doubl e+concerto&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1527.	e,Newspaper +Article,t&s.q =Bacterial+A utoinducer-2+ Detection+via +an+Enginee red+Quorum+ Sensing+Prot ein&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1528.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bad+girls+d on't+die&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1529.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bandura+19 92&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:33:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1530.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bandura+19 97&go.x=12& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1531.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =basal+water +pressure&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:23:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1532.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Basic+Princi ples+of+Micr owaves+and+ Recent+Deve lopments&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1533.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Basic+resea rch+methods +for+librarian s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1534.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bauhinia+P urpea+L.+Ext ract&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:21:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1535.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bees+prefer +foods+conta ining+neonico tinoid+pestici des&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:12:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1536.	/search?s.fvf[] =ContentTyp e,Newspaper	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:39	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+Article,t&s.q =behavior int erventions									
1537.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Behavioral+r esponses+an d+potential+h abituation+to +sound+stim uli+in+cuttlefi sh,+Sepia+off icinalis&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1538.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bergey's+m anual+of+syst ematic&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1539.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bertha+e+sa sser	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1540.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Between+E ngagement+ And+Ironic+A mbiguity:+Me diating+Subje ctivity+In+Nar rative+Journa lism&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1541.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Between+th e+forest+and +the+sea:+hu nter-gatherer +occupations +in+the+suba ntarctic+fores ts+in+Tierra+ del+Fuego,+ Argentina&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1542.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beyond+-+o ur+future+in+ space&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1543.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beyond+outr age&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1544.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bhojaraju+G unjal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)

1	1545.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biggs+age+ gender+masq uerade&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1546.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Billie+Eilam +2012&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1547.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bioactive+c ompounds:+ Definition+an d+assessmen t+of+activity& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1548.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biodeteriora tion+Researc h&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1549.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biofuels+fro m+marine+al gae&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:15:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1550.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biology+Ca mpbell&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1551.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biology+of+t he+lobster&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:08	0.00%	O (0.00%)	\$0.00 (0.00%)
1	1552.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biomass+Su pply+and+Ca rbon+Account ing+for+Sout heastern+For ests+(Colnes +et+al.)&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1	1553.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bird+fecal+s ample&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1554.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=bird+sense& go.x=0&go.y= 0									
1555.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bismuth+Tel luride+Golds mid&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:10:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1556.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bistability+a nd+an+Allee+ effect+as+em ergent+conse quences+of+ stage-specific +predation&g o.x=7&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	O (0.00%)	\$0.00 (0.00%)
1557.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =black+sea+ bass+gulf+of +maine&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1558.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =blended+fa milies&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1559.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bloom&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:26:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1560.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bog+Gods& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1561.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bovine+mas t+cell+histolo gy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1562.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bowel+obstr uction+and+i nfant+and+ch ildren&go.x=8 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	24.00	02:09:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1563.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =boz,+ba+an d+derry+dow n+derry&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1556. 1557. 1558. 1560.	John Properties John Prope	Search?s.fvf[]	go.x=0&go.y=	go.x=08go.y=	Search?s.fvf	0x=08g0.y=0	Search7s.fvf	Gardin's Fulfi	00 x 1560 0 y = 0

1564.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bradshaw, W.+(2012).+A +Framework+ for+Providing +Culturally+R esponsive+E arly+Intervent ion+Services. Young+Exce ptional+Childr en,+16(1)+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1565.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =breaking+w aves&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1566.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Brief+Ration al+Emotive+B ehavior+Ther apy&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1567.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Brief+Ration al+Emotive+B ehavior+Ther apy&go.x=11 &go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1568.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Brief+Ration al+Emotive+B ehavior+Ther apy&go.x=7& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1569.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =briggs+lemi n+delineation &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:18:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1570.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bringing+foo d+desert+resi dents+to+an+ alternative+fo od+market:+a +semi-experi mental+study +of+impedim ents+to+food +access&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1571.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brookshire+ neruo+comm unication+TBI	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=0&go. y=0									
1572.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bubier+famil y&go.x=9&go .y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1573.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Buckling+of +Segments+o f+Toroidal+S hells&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
1574.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Building+blo cks+of+the+c erebral+corte x:+from+deve lopment+to+t he+dish&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1575.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bumble+bee s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1576.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =burnish&go. x=11&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1577.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Byron's+Jou rnal+of+His+ Circumnaviga tion,+1764-17 66&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1578.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Byron+aqua culture&go.x= -796&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:57	0.00%	O (0.00%)	\$0.00 (0.00%)
1579.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =c++&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1580.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cadmium+bi oavailability+f rom+vegetabl e+and+anima I-based+food s+assessed+ with+in+vitro+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:53	0.00%	0 (0.00%)	\$0.00 (0.00%)

		digestion/cac o-2+cell+mod el.&go.x=0&g o.y=0									
1	1581.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =calibration+ of+acoustic+i nstruments&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1582.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =calorie+requ irements+for+ athletes&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1583.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Canada+lyn x+occurrence +and+forest+ management +in+the+Acad ian+Forest&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1584.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Canadian+J ournal+of+Fo rest+Researc h+Browse+th e+journal+Lis t+of+issues+ e-First+article s+Current+iss ue+Special+i ssues+Most+ read+articles+Sam ple+issue+Au thor+index+F or+authors+A bout+the+jour nal+Open+Ac cess+Benefit s+and+servic es+Instructio ns+to+author s+Submit+a+ manuscript+P ermission+for ms+Reprints+ &+permission s+to+reuse+c ontent++subs cribe+to+new sletter+ad+C SP+Learning +Center+Artic le+«+Previou s+TOC+Next +»+PDF+(29 1+K)+PDF-PI us+(349+K)+ Citing+article s+Height-gro wth+and+site -index+curve s+for+jack+pi ne+in+north+ central+Ontar io=&go.x=5& go.y=9	1 (0.00%)	0.00%	O (0.00%)	0.00%	3.00	00:19:20	0.00%	O (0.00%)	\$0.00 (0.00%)

1585.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =carbon+nan otube&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1586.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =carbon+nan otube&go.x=6 &go.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1587.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Carbon+nan otube+based +biosensors& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1588.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Carbon+nan otube+sheets +for+the+use +as+artificial+ muscles	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:07:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1589.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CAS+self+a ssessment+g uides&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1590.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cataract+sur gery+and+alp ha+blockers& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1591.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Catastrophic +regime+shift s+in+ecosyst ems:+linking+ theory+to+ob servation&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:19:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1592.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Catchability: +a+key+para meter+for+fis h+stock+asse ssment&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1593.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CD22:+an+i nhibitory+eni gma&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:42:05	0.00%	0 (0.00%)	\$0.00 (0.00%)

1594.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cembella+et +al+2003&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1595.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chalenges+t o+starting+sc hool+gardens &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1596.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chance+ope rations&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1597.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chang&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1598.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Changes+in +invertebrate +assemblage +composition +in+benthic+ and+hyporhei c+zones+duri ng+a+severe +supraseaso nal+drought& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1599.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chapter+8+ -+Efficient+P ricing+of+Ele ctricity&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:08:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1600.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characteris ation,+expres sion+and+ont ogeny+of+int erleukin-6+an d+its+recepto rs+in+zebrafi sh+(Danio+re rio)&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1601.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characteristi cs+of+low+pe rforming+sch ools&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1602.	e,Newspaper +Article,t&s.q =Characteriz ation+of+nan oporous+mat erials+from+a dsorption+an d+desorption +isotherms&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:19:13	0.00%	O (0.00%)	\$0.00 (0.00%)
1603.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characteriz ation+of+the+ life+history+of +Bangia+fusc opurpurea+(B angiaceae,+R hodophyta)+i n+connection +with+its+cult ivation+in+Ch ina&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1604.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characterizi ng+the+paren t+and+alkyl+ polycyclic+ar omatic+hydro carbons+in+t he+Pearl+Riv er+Estuary,+ Daya+Bay+a nd+northern+ South+China +Sea:+Influen ce+of+riverin e+input&go.x =15&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1605.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Charlotte's+ Web&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1606.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chen+2014+ jet+stream&g o.x=11&go.y= 5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:21	0.00%	O (0.00%)	\$0.00 (0.00%)
1607.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chen+nano+ thermoelectri c&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1608.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chika+chika +boom+boom &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

1609.	=children+ad vertising+ethi cs&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1610.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =children+of+ immigration& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1611.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =children+wit h+multiple+di sabilities&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:19:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1612.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =china+report s+daily+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1613.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chinese+Jo urnal+of+Tra umatology&g o.x=16&go.y= 4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1614.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronicle+fo r+higher+edu cation&go.x=- 726&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1615.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronicle+of +higher+educ ation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1616.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Circular+stat istics+in+biol ogy&go.x=10 &go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1617.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =City+Comp: +Identities,+S paces,+Practi ces&go.x=6& go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1618.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Civil+rights+ act+of+1964& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:24:18	0.00%	0 (0.00%)	\$0.00 (0.00%)

1619.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Clark,+Jessi ca&go.x=10& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1620.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CLASSIFIC ATION+OF+F IGURAL+SP ATIAL+TEST S&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1621.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Clearing+th e+Way:+Com bat+Engineer s+in+Kandah ar&go.x=5&g o.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1622.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cleft+palate +china&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1623.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cleft+palate +journal&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1624.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cleistothecia +purpose&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1625.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =clements+1 916+successi on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:06:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1626.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =clientelism+ Brazil&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1627.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate-sma rt+crop+prod uction+in+se mi-arid+areas +through+incr eased+knowl edge+of+vari eties,+enviro nment+and+ management +factors+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)

16	328.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+cha nge.+Sentinel s+of+change. &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:31:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	29.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+Infe rences+from+ a+Glaciologic al+Reconstru ction+of+the+ Late+Pleistoc ene+Wind+Ri ver+Ice+Cap, +Wind+River +Range,+Wy oming&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	30.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =clinical+labo ratory+scienc e&go.x=14&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	31.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =clinical+vac +immunol&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	32.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cloud+atlas &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	33.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cluster-Bea m+Deposition +and+in+situ +Characteriz ation+of+Car byne-Rich+C arbon+Films& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:21:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	34.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =coastal+engi neering+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:11:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	35.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Coladarci&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	36.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cold+water+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:30	0.00%	0 (0.00%)	\$0.00 (0.00%)

	soak+seeds& go.x=0&go.y= 0									
1637.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Colombia+S muggling&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1638.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =colonial+wo men+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1639.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Colorado+p otato+beetle+ (american+jo urnal+of+pota to+research+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1640.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Colorimetric +Determinati on+of+Glycol ate+in+Carbo xymethylcellul ose&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1641.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Common+Pr operty+Reso urce+Instituti ons+and+For est+Manage ment+in+Lati n+America&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1642.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Common+st rategies+of+a nadromous&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1643.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Communicat ing+Climate+ Change:+Wh y+Frames+M atter+for+Pub lic+Engagem ent&go.x=6& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1644.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Communicat ion,+Power+a nd+Counter-p ower+in+the+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:18:41	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Network+Soci ety&go.x=0& go.y=0									
1645.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Communicat ions+from+th e+Physical+L aboratory+of+ the+Universit y+of+Leiden& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1646.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =community+ ecology&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1647.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Community+ Leaders'+Per ceptions+of+ University+an d+College+Ef forts+to+Enco urage+Civic+ Engagement &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1648.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =community+ supported+ag riculture+++S NAP&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:26:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1649.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =comparison +of+extractio n+condition+f or+milk+and+ hen+s+egg&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1650.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Comparison +of+five+natu ral+phenolic+ compounds+ on+antioxida nt+activity+in +vitro&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1651.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =comparison +of+fixed+dia meter+limit&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

1652.	=Comparitive +aspects+of+ spatial+locali zation+and+s ound&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1653.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =competition +between+pu blic+and+priv ate+hospitals +in+thailand& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:52:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1654.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Complemen tary+and+alte rnative+medi cine+use+am ong+adults&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1655.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Computers+ in+Fisheries+ Research&go .x=8&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:13:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1656.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cone,+Cynt hia+and+And rea+Myhre.+2 000.+"Comm unity+Support ed+Agricultur e:+A+Sustain able+Alternati ve+to+Industr ial+Agricultur e?"+Human+ Organization +59(2):+187- 197.+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1657.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =confessions +of+a+sociop ath&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1658.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =confirmation +bias&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1659.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Connectivity +of+lobster+(Homarus+am ericanus)+po pulations+in+t he+coastal+G ulf+of+Maine:	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+part+II.+Cou pled+biophysi cal+dynamics &go.x=7&go. y=10									
1660.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conservatis m+and+viole nce&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1661.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conserving+ nature's+stag e+conservati on+biology+s pecial+issue+ 2015&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1662.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conserving+ nature's+stag e+conservati on+biology+s pecial+issue+ 2015&go.x=1 3&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1663.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =consumer+d emand+for+'g reen+power'+ and+energy+ efficiency&go. x=15&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1664.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =consumer+r eports&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1665.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =continuous+ forestinventor y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1666.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Contribution s+of+landsca pe+genetics+ -+approache s,+insights,+a nd+future+pot ential&go.x=5 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1667.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Control+of+t he+cell-specif icity+of+sigm a+F+activity+i	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:23	0.00%	0 (0.00%)	\$0.00 (0.00%)

	n+Bacillus+su btilis&go.x=0 &go.y=0									
1668.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Control+stra tegies+for+ru minant+and+ equine+paras ites+to+count er+resistance ,+encystment ,+and+ecotox icity+in+the+ USA&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:53	0.00%	O (0.00%)	\$0.00 (0.00%)
1669.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Controlled+ Substances+ Act+what+is+ it&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1670.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Controlling+ Growth+And+ Reproduction +In+The+Am erican+Lobst er&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1671.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conze&go.x =-647&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1672.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =COPE+inve ntory&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1673.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =COPE+inve ntory&go.x=8 &go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:16:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1674.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =coral+bleac hing+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1675.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Coral+Reefs +Under+Rapi d+Climate+C hange+and+ Ocean+Acidifi cation&go.x= 15&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

1676.	=ContentTyp e,Newspaper +Article,t&s.q =cornejo+pol ar&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1677.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cortisol+effe ct+on+glood+ glucose&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1678.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cosmos&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1679.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CQ+Resear cher&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1680.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Creating+a+ Program+to+ Deepen+Fam ily+Inquiry+at +Interactive+ +Science+Ex hibits&go.x=1 4&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:34:38	0.00%	O (0.00%)	\$0.00 (0.00%)
1681.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =creative+the rapies,+expre ssive+therapi es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	01:09:18	0.00%	O (0.00%)	\$0.00 (0.00%)
1682.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CRISPR-Ca s+localization +of+nucleic-a cid+sequence s+in+live+cell s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	O (0.00%)	\$0.00 (0.00%)
1683.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CRISPR-Ca s+localization +of+nucleic-a cid+sequence s+in+live+cell s&go.x=10&g o.y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1684.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CRISPR-Ca s+localization +of+nucleic-a cid+sequence	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s+in+live+cell s&go.x=10&g o.y=4									
1685.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =criticism+of+ the+ADA&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1686.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cro+protein s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1687.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cronopios+y +fama&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1688.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =crustose+re d+algae+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:28:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1689.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CSA+memb ership+and+p sychological+ needs+fulfillm ent:+an+appli cation+of+self -determinatio n+theory&go. x=12&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1690.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cse11+is+a+ negative+reg ulator+of+CF TR-dependen t+fluid+secreti on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1691.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cultivation+e fficacy+weed s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1692.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =culture,+yiel d+and+biore mediation+po tential&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1693.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =culture+earl y+interventio	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

	n&go.x=0&go .y=0									
1694.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Current+and +Future+lssu es+and+Tren ds+Facing+St udent+Athlete s+and+Athleti c+Programs& go.x=6&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1695.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Current+dat abases+on+b iological+vari ation:+pros,+ cons+and+pr ogress&go.x= 13&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1696.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Current+dat abases+on+b iological+vari ation:+pros,+ cons+and+pr ogress&go.x= 7&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:27:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1697.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cxcl8-l1+an d+Cxcl8-l2+ar e+required+in +the+zebrafis h+defense+a gainst+Salmo nella+Typhim urium&go.x=1 1&go.y=15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1698.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cyanobacter ia&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1699.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cyber+bullyi ng+suicide&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:47:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1700.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cyclical+suc cession+in+gr azed+ecosyst ems:+The+im portance+of+i nteractions+b etween+differ ent-sized+her bivores+and+ different-size d+predators& go.x=0&go.y=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:41:31	0.00%	0 (0.00%)	\$0.00 (0.00%)

	0									
1701.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cytokine+ge ne+polymorp hisms+and+t he+inflammat ory+response +to+abdomin al+aortic+ane urysm+repair &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1702.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dana+mcda niel&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1703.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DASS&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1704.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dastoor&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1705.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =data+proces sing+geoscie nce&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:11:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1706.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =David+Court wright,+Dark+ Paradise:+Op iate+Addictio n+in+America +Before+194 0+&go.x=12& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1707.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =david+morg an&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1708.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =day+shift	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1709.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Deception+a nd+informed+ consent+in+s ocial,+behavi oral,+and+ed ucational+res earch+(SBER)&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:12:04	0.00%	O (0.00%)	\$0.00 (0.00%)

1710.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Decoding+st imulus+durati on+from+neu ral+response s+in+the+aud itory+midbrai n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1711.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deepening+ democracy:In novations+in+ empowered+ goverance&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1712.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =degradation +of+carmusti ne&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1713.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Delineating+ the+roles+of+ neutrophils+a nd+macropha ges+in+zebra fish+regenera tion+models& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1714.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =demand+for +thai+herb&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1715.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Demographi c+and+Econo mic+Trends+i n+the+Northe astern+Unite d+States+Lob ster+(Homaru s+americanu s)+Fishery&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1716.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =demystifying +globalization &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1717.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =denis+johns on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)

1718	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dentifying+ Millennials'+k ey+influencer s+from+early +childhood:+i nsights+into+ current+cons umer+prefere nces.+Journa l+of+Consum er+Marketing &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:18:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1719	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dependenc e+of+Fishery +Species+on +Salt+Marshe s:+The+Role +of+Food+an d+Refuge&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:20:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1720	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =desalination +from+gulf+st ream&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1721	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Descriptive+ statistics+for+ multivariate+ distributions& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1722	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deser+et.+al .+2004&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1723	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Design+guid elines+for+lo w+crested+st ructures&go.x =11&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1724	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Design+of+ Shape+Mem ory+Alloy+(S MA)+Actuator s&go.x=12&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1725	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Design+of+v ertical+wall+c aisson+break waters+using	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+partial+safet y+factors&go. x=7&go.y=9									
1726.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Desmophyll um+dianthus &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:24:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1727.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Detectability +functions+in +observing+s patial+point+ processes&g o.x=11&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1728.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Detectability +functions+in +observing+s patial+point+ processes&g o.x=7&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:22:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1729.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Determinati on+of+the+Q uantum+Yield +for+the+Pho tochemical+G eneration+of+ Hydroxyl+Ra dicals+in+TiO 2+Suspensio ns&go.x=9&g o.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1730.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen t+and+charac terization+of+ 12+microsate llite+loci+for+t he+Dwarf+Sa lamander,+E urycea+quadr idigitata&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:28:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1731.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen t+and+metam orphosis+of+t he+digestive+ system+of+la rval+lobsters, +Homarus+a mericanus+(Decapoda:+N ephropidae)& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1732.	+Article,t&s.q =Developmen t+of+a+Gluco se+Biosensor +for+Rapid+A ssessment+of +Strawberry+ Quality:+Rela tionship+betw een+Biosens or+Response +and+Fruit+C omposition&g o.x=10&go.y=	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1733.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen t+of+a+sensit ive,+selective +electrochem ical+immunoa ssay+for+pro gesterone+in +cow's+milk+ based+on+a+ disposable+s creen-printed +amperometri c+biosensor& go.x=10&go.y =10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:29:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1734.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =devil+wears +prada&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1735.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dexamethas one+suppres ses+in+vivo+l evels+of+bon e+collagen+s ynthesis+in+n eonatal+mice &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1736.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diane+glanc y+pushing+th e+bear&go.x =-680&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1737.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Did+Obuchi +speak+out+ clearly/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1738.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Didymosphe nia:+It's+Mor e+Complicate d&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1'	739.	e,Newspaper +Article,t&s.q =Dietary+Cha nge+and+Tra ditional+Food +Systems+of +Indigenous+ Peoples&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:45:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1'	740.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dietary+inta ke+and+nutrit ional+charact eristics+in+wil d+American+l obsters&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:09:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	741.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Different+fra mes,+differen t+fears:+com municating+a bout+chlorina ted+drinking+ water+and+c ancer+in+the +Canadian+ media&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	742.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =digital+com mons&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	743.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dillman+200 0&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	744.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Directional+ Modelling+of +Extreme+Wi nd+Speeds& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	745.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =disability+hi story&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1'	746.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Discourses+ of+the+body& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Disposable+									

1:	747.	amperometric +immunosen sing+strips+fa bricated+by+ Au+nanoparti cles-modified +screen-print ed+carbon+el ectrodes+for+ the+detection +of+foodborn e+pathogen+ Escherichia+ coli+O157:H7 &go.x=6&go. y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
17	748.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DISTRIBUTI ON+AND+C ONSERVATI ON+OF+NAN TUCKET+SH ADBUSH,+A MELANCHIE R+NANTUCK ETENSIS+(R OSACEAE)& go.x=-508&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
17	749.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DIVERTICU LITIS+GERIA TRICS+NUT RITION&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
17	750.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Do+environ mental+factor s+affect+recr uits+per+spa wner+anomal ies+of+New+ England+gro undfish&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
13	751.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Do+lt+This+ Way!+Metaco gnitive+Strate gies+in+Colla borative+Mat hematical+Pr oblem+Solvin g&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
17	752.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =documentar y+poetry&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
17	753.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Does+Altrui sm+exist?+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

1754	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Does+Loota ble+Wealth+ Breed+Disord er?:+A+Politic al+Economy+ of+Extraction +Framework &go.x=3&go. y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1755	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Does+spatia I+variation+in +environment al+conditions +affect+recrui tment?+A+stu dy+using+a+ 3-D+model+o f+Peruvian+a nchovy&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1756	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dolphins&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1757	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =donella+me adows&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1758	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dorian+gray &go.x=9&go. y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1759	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dorothy+fuld heim&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1760	/search?s.fvf[] =ContentTyp e,Newspaper	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1761	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dreznick+he terosocial+co mpetence&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:20:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1762	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dropouts+fro m+higher+ed ucation&go.x	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=0&go.y=0									
1763.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dry+lips+ou ghta+move+t o+kapuskasin g&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1764.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dynamic+ra msey+pricing &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1765.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dynamics+o f+phytoplankt on+distributio n+in+relation +to+stratificati on+and+wint er+precipitati on,+Fallen+L eaf+Lake,+C alifornia&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1766.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Early+allelic +selection+in +maize+as+r evealed+by+ ancient+DNA &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1767.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =early+christi an+symbolis m&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1768.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Easy+Synth esis+and+Ma gnetic+Prope rties+of+Iron+ Oxide+Nanop articles&go.x =11&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:44:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1769.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ebooks&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1770.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ecological+s tudy+on+man grove+stands +in+hong+ko ng&go.x=8&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

1771.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ecologically +meaningful+ transformatio ns+for+ordina tion+of+speci es+data&go.x =9&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1772.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ecologies+o f+comparison &go.x=6&go. y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:04:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1773.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ecology+an d+Social+Mo vements:+Th e+New+Mate rialism+and+ Relational+C hristian+Reali sm&go.x=6& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1774.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ecospeak:+ Rhetoric+and +Environment al+Politics+in +America&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1775.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =education+a nd+climate+c hange&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1776.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =education+p arents+gradin g+teachers&g o.x=12&go.y= 11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	01:07:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1777.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Edward+F.+ Edinger&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:40:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1778.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+ca lcium+chlorid e+marination +on+electrop horetical+and +structural+c haracteristics +of+beef,+ho rse,+rabbit+a	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	nd+chicken+ meat&go.x=0 &go.y=0									
1779.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+cu rcumin+on+p 38MAPK+exp ression+in+D SS-induced+ murine+ulcer ative+colitis.& go.x=8&go.y= 15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1780.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+cu ring+and+coo king+on+flavo nols+and+ant hocyanins+in +traditional+v arieties+of+o nion+bulbs.& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1781.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effect+of+et hephon+and+ ethylene+gas +on+ripening +and+quality +of+tomato++ solanum+lyco persicum+dur ing+cold+stor age&go.x=1& go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1782.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+Fi ber+Concentr ation+and+Ax ial+Ratio+on+ the+Rheologi cal+Propertie s+of+Cellulos e+Fiber+Sus pensions&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1783.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effect+of+or ange+and+le mon+juice&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1784.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+Pr ocessing+Tec hnologies+on +the+Allergen icity+of+Food +Products&g o.x=4&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1785.	+Article,t&s.q =Effect+of+R eaction+Cond itions+on+the +Properties+ and+Behavior +of+Wood+C ellulose+Nan ocrystal+Sus pensions&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1786.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+te mperature+o n+developme nt+rate+of+la rvae+from+co ld-water+Ame rican+lobster +(Homarus+a mericanus)&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1787.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+Tr ansracial/Tra nsethnic+Ado ption+on+Chil dren's+Racial +and+Ethnic+ Identity+and+ Self-Esteem& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1788.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effects+of+l eading-+edge +turbine+blad e+thickness+ on+fish+strike +survival+and +injury.+Proc eedings+of+h ydrovision+20 08.&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1789.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effects+of+n anoparticles+ on+the+mech anical+proper ties+of+rice+ straw/polypro pylene+comp osites+&go.x =7&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1790.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effects+of+o ilspills&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1791.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effects+of+p renatal+restra int+stress+on	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:18	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+the+&go.x= 0&go.y=0									
1792.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effects+of+t he+toxic+dino flagellate+Ale xandrium+cat enella+on+his topathogical+ and+escape+ responses+of +the+Norther n+scallop+Ar gopecten+pur puratus.+&go .x=11&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:22:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1793.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Efferent+ne ural+control+ of+cochlear+ mechanics?+ Olivo-cochlea r+bundle+sti mulation+affe cts+cochlear+ biomechanica l+nonlinearity. +&go.x=4&go .y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1794.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Efficient+co mputation+of +enclosed+vo lume+and+su rface+area+fr om+the+sam e+triangulate d+surface+re presentation& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1795.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Efficient+dat a+structures+ for+adaptive+ remeshing+wi th+the+FEM& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1796.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =EFFICIENT +ESTIMATIO N+OF+ABUN DANCE+FOR +PATCHILY+ DISTRIBUTE D+POPULAT IONS&go.x=6 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1797.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Egge+&+Ak snes+(1998)= &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)

1798.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Eh+pH+diag rams&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1799.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eichengreen &go.x=-642& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1800.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Electro-orga nic+Mediated +Synthesis+o f+bis-1,3,4-O xadiazoles+a nd+Evaluatio n+of+Their+A ntifungal+Acti vity&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1801.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Electroactiv e+Polymer+(EAP)+Actuat ors+as+Artific ial+Muscles:+ Reality,+Pote ntial,+and+Ch allenges,+Se cond+Edition &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1802.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Electrochem ical+biosenso rs&go.x=10& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Electrodepo sited+iridium+ oxide+pH+ele ctrode+for+m easurement+ of+extracellul ar+myocardia l+acidosis+du ring+acute+is chemia&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1804.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Electrostricti ve+and+Piez oelectric+Mat erials+for+Act uator&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:31:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

1805.	=element+of+ style&go.x=-6 87&go.y=-21 8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1806.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elf-promotio n+as+a+risk+ factor+for+wo men:+The+co sts+and+ben efits+of+coun terstereotypic al+impression +managemen t&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1807.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+h awes&go.x=1 5&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1808.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 14&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:04:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1809.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 6&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:10:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1810.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 8&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:38:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1811.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Emerging+ls sues+in+Viru s+Taxonomy +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1812.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =empty+sleev es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1813.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =emwave&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1814.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =encyclopedi a&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

1815.	=ContentTyp e,Newspaper +Article,t&s.q =encyclopedi a+of+dairy+s ciences&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1816.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =encyclopedi a+of+the+hist ory+of+scienc e,+technolog y,+and+medi cine&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1817.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Energy:+We +need+all+ha nds+on+deck &go.x=9&go. y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1818.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Energy+Res earch+and+S ocial+Science &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1819.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =engineering +failure+anal ysis&go.x=11 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1820.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =english+gra mmar&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1821.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Enhancing+t he+resilience +of+human-e nvironment+s ystems:+a+so cial-ecologica l+perspective. &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1822.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eno+nitrate+ production&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1823.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Environ.+Sci .+Technol.,+v ol.+42+(1),+2 94-300&go.x	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:20	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=0&go.y=0									
1824.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =EOF&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1825.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =equine+facili tated+therapy +with+childre n+and+adole scents&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1826.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Equus&go.x =6&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1827.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eric&go.x=-6 66&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1828.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =erosion&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1829.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =essais&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1830.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ethics+of+hi story&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:32:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1831.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eutrophicati on+in+maine &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:49:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1832.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =everyday+o bjects&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1833.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evidence+fo r+sexual+repr oduction+in+t he+red+algae +Palmaria+pa lmata+and+H alosaccion+ra mentaceum& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	1834.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =evolution+of +gas+bladder +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1835.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evolved+ph ysiological+re sponses+of+ phytoplankton +to+their+inte grated+growt h+environme nt&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1836.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Exel&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1837.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Experience+ Sampling+Me thod&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1838.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Experiments +in+Ecology& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1839.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Experiments +in+Hearing& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1840.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Experiments +on+the+buc kling+under+i nternal+press ure+of+thin+t orispherical+ ends+of+cylin drical+pressu re+vessels&g o.x=9&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1841.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Expression+ of+zebrafish+ cxcl8+(interle ukin-8)+and+i ts+receptors+ during+devel opment+and+ in+response+ to+immune+s timulation&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:23	0.00%	0 (0.00%)	\$0.00 (0.00%)

1842.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fabrication+ and+Charact erization+of+ Shape+Mem ory+Polymers +at+Small-sc ales	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:40:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1843.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =face+to+fac e+with+dolphi ns&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:36:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1844.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =faith+vs+fac t&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1845.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =family+viole nce&go.x=5& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1846.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fast+visuali zation,+mani pulation,+and +analysis+of+ binary+volum etric+objects &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1847.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fat+in+the+ Fire?+Scienc e,+the+News +Media,+and +the+"Obesit y+Epidemic"2 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1848.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fatemeh+ba ghbani&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1849.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fatemi+effec t+of+long-ter m+acidificatio n+nitrogen+e nrichment&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1850.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fenemma+a	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)

	nd+sherman &go.x=0&go. y=0									
1851.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fennema+sh erman+1978 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1852.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fennemas+f ood+chemistr y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1853.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fernando+pe ssoa&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1854.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fetal+alcoho +syndrome&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1855.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =financial+pla nning+and+s aving&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1856.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Finding+the +shape-shifte r+genes&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1857.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Finite+Differ ence+Hermit e+WENO+Sc hemes+for+H yperbolic+Co nservation+L aws&go.x=12 &go.y=16	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1858.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =finley+richm ond&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1859.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Finn+and+J ackson&go.x =6&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1	860.	+Article,t&s.q =First+estima te+of+the+ag e+of+gold+or es+of+the+D arasun+Depo sit+&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	861.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fish+fisherm en+and+mark ets&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	862.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fish+Interac tions+with+a+ Commercial- Scale+Tidal+ Energy+Devi ce+in+the+N atural+Enviro nment&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	863.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fish+Price+ Volatility&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	864.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fisheries+co -management &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	865.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =FitzRoy's+fo xes+and+Dar win's+finches &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	866.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Five+Minute s+with+a+Dar winist	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	867.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fixing+mari ne+governan ce+in+Fiji?+T he+new+scal ar+narrative+ of+ecosystem -based+mana gement&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	868.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =flexible+biod egradable+po lymer&go.x=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=0									
1869.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Flexible+larv al+growth+all ows+use+of+ a+range+of+ host+sizes+b y+a+parasitoi d+wasp.&go. x=9&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1870.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =flng+west+o f+africa&go.x =8&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:26:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1871.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =floral+const ancy+in+crop s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1872.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Flow+instabi lities+in+capill ary+flow+of+ concentrated +suspensions &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:16:43	0.00%	O (0.00%)	\$0.00 (0.00%)
1873.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fluency+with out+fear&go. x=9&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1874.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fo	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1875.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fol	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:18:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1876.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =folk+remedy +maine&go.x =11&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1877.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Food+Fight: +The+Citizen' s+Guide+to+t he+Next+Foo d+and+Farm +Bill&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:43	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

1878.	=food+webs+ kevin+mccan n+&go.x=11& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1879.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =football&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1880.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forest+stand +dynamics&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1881.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forestry+Ap plications+of+ Airborne+Las er+Scanning &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1882.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forsyth+198 0&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1883.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forty+Millio n+Dollar+Sla ves&go.x=8& go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1884.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fossil+Evid ence+for+the +Origin+of+A quatic+Loco motion+in+Ar chaeocete+W hales&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1885.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foucault+rea der&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1886.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foundations &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1887.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fpso+west+ of+africa&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1888.	+Article,t&s.q =frederic+jam eson&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1889.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =free+to+play +pitfalls&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	01:25:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1890.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =friend&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1891.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+Abun dance+to+Sc arcity:+A+Hist ory+Of+U.S.+ Marine+Fishe ries+Policy&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1892.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+foe+t o+friend:+usi ng+animal+to xins+to+inves tigate+ion+ch annel+functio n.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1893.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+Gestu re+in+Conver sation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1894.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+the"+ Aesthetics+of +Indifference" +to"+Negativ e+Aesthetics" :+John+Cage +and+Germa ny+1958-197 2&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1895.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+the+A chievement+ Gap+to+the+ Education+D ebt:+Underst anding+Achie vement+in+U. S.+Schools+ &go.x=3&go. y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

ein-produced thy-recyme assisted-exit official (assisted-exit official (assisted-exit) ein-produced 1	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:00:00	1.00	100.00%	0 (0.00%)	0.00%	1 (0.00%)	+Article,t&s.q =Functionality +of+muscle+ constituents+i n+the+proces sing+of+com minuted+mea t+products&g o.x=9&go.y=2	1896.
ContentTyp Con	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:30:38	2.00	0.00%	0 (0.00%)	0.00%	1 (0.00%)	=ContentTyp e,Newspaper +Article,t&s.q =Functionality +of+soy+prot ein+produced +by+enzyme- assisted+extr action&go.x=	1897.
ContentTyp Con	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:00:00	1.00	100.00%	0 (0.00%)	0.00%	1 (0.00%)	=ContentTyp e,Newspaper +Article,t&s.q =fundamental s+of+organic +reaction+me chanisms+&g o.x=10&go.y=	1898.
=ContentTyp e, Newspaper +Article (8.8 q = Gaffkemia, + a+bacterial+d isease-of-th e-to-bister, +H 1900. omarus+amer isease-of-th e-to-bister, +H 1900. omarus+amer isease-of-th e-to-bister, +H 1900. omarus+amer isease-of-the plant hogen, +Gaffk ya+homari, +O n-the-physiol ogy-of-the-th ost8go.x=0& go.y=0 /search?s.fvf[] = ContentTyp e, Newspaper +Article (8.8 q = game+of-th rones&go.x=0&	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:02:17	5.00	0.00%	0 (0.00%)	0.00%	1 (0.00%)	=ContentTyp e,Newspaper +Article,t&s.q =Gabe+vach on&go.x=0&g	1899.
=ContentTyp e.Newspaper +Article.t&s.q =gallup+study +of+american +snacking&g o.x=0&go.y=0 /search?s.fvf[] =ContentTyp e.Newspaper 1902. +Article.t&s.q =game+of+th rones&go.x=0 &go.y=0 /search?s.fvf[] = ContentTyp e.Newspaper 1902. +Article.t&s.q =game+of+th rones&go.x=0 &go.y=0 /search?s.fvf[] = ContentTyp e.Newspaper 1902. +Article.t&s.q =game+of+th rones&go.x=0 &go.y=0 /search?s.fvf[] = ContentTyp e.Newspaper +Article.t&s.q =Gametogen 1903. esis.+spawni ng+and+fecu 1 (0.00%) 0.00% 0 (0.00%) 100.00% 1.00 00:00:00 0.00% 0 (0.00%) \$0.00% 0	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:00:00	1.00	100.00%	0 (0.00%)	0.00%	1 (0.00%)	=ContentTyp e,Newspaper +Article,t&s.q =Gaffkemia,+ a+bacterial+d isease+of+th e+lobster,+H omarus+amer icanus:+effect s+of+the+pat hogen,+Gaffk ya+homari,+o n+the+physiol ogy+of+the+h ost&go.x=0&	1900.
=ContentTyp e,Newspaper 1902. +Article,t&s.q =game+of+th rones&go.x=0 &go.y=0 /search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gametogen 1903. esis,+spawni ng+and+fecu 1 (0.00%) 0 (0.00%) 0 (0.00%) 0 (0.00%) 1.00 0 (0.00%) 0 (0.00%) 1.00 0 (0.00%) 0 (0.00%) 1.00 0 (0.00%) 0 (0.00%) 1.00 0 (0.00%) 0 (0.00%) 0 (0.00%) \$0.	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:00:00	1.00	100.00%	0 (0.00%)	0.00%	1 (0.00%)	=ContentTyp e,Newspaper +Article,t&s.q =gallup+study +of+american +snacking&g	1901.
=ContentTyp e,Newspaper +Article,t&s.q =Gametogen 1903. esis,+spawni ng+and+fecu 1 (0.00%) 0 (0.00%) 0 (0.00%) 100.00% 1.00 0 00:00:00 0 0.00% 0 (0.00%) \$0.	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:00:23	1.00	0.00%	0 (0.00%)	0.00%	1 (0.00%)	=ContentTyp e,Newspaper +Article,t&s.q =game+of+th rones&go.x=0	1902.
ndity+of+Plat ygyra+daedal ea+&go.x=0& go.y=0	\$0.00 (0.00%)	0 (0.00%)	0.00%	00:00:00	1.00	100.00%	0 (0.00%)	0.00%	1 (0.00%)	=ContentTyp e,Newspaper +Article,t&s.q =Gametogen esis,+spawni ng+and+fecu ndity+of+Plat ygyra+daedal ea+&go.x=0&	1903.

,	1904.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gas+bladder +phylogeny& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:38:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1905.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gathering+in +thoreau's+b ackyard&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1906.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gathering+in +thoreau's+b ackyard&go.x =14&go.y=17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1907.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gavin+and+ Routledge&g o.x=-575&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1908.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gay+propag anda:russian +love+stories &go.x=8&go. y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:43	0.00%	O (0.00%)	\$0.00 (0.00%)
•	1909.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GBM&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1910.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gender+deci sion+making &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1911.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gender+outl aw&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1912.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gender+ster eotypes&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1913.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =generalized +linear+mode l&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp									

1914.	e,Newspaper +Article,t&s.q =Geochemist ry+of+Vesuvi us+volcanics +during+1631 -1944+period +++++B.+Vil lemanta,+R.+ Trigilab,+B.+ DeVivoc&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:14:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1915.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geochronolo gy+of+the+go ld+hill+shear +zone&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1916.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Geometric+ morphometric s+support+th e+proposed+ molecular+ta xonomy+for+t hree+Eucinos tomus+specie s+(Perciform es:+Gerreida e)+along+the +coasts+of+ Mexico&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	01:56:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1917.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geometry+a nd+spatial+re asoning&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1918.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Geotechnics +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:36:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1919.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =giant+kanga roo+rat+bean &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1920.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gifted+childr en+in+early+ childhood&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:28:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1921.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gillespie&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1922.	+Article,t&s.q =Glacial+abra sion+and+slid ing&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1923.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gledistia+tri acanthos&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:33:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1924.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =global+chan ge+biology&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1925.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =global+nitro gen&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:28:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1926.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =goffman&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1927.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gonzo+way &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1928.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =goodwin,+ja son&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1929.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Governing+ China&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1930.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grady+AND +informed+co nsent+2015& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1931.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GRE&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1932.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =great+horne d+owl+habitat &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1933.	e,Newspaper +Article,t&s.q =green+girl& go.x=9&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1934.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =greenland+c opper+ice+co re&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1935.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gregory+zar o&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:28:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1936.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =groping+tow ard+democra cy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1937.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =groping+tow ard+democra cy&go.x=0&g o.y=0&summ onVersion=2.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1938.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Groundwate r-level+variati on+during+se midiurnal+spr ing+tidal+cycl es+on+a+san dy+beach&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1939.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =group+work, +suicide&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
1940.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grouts+for+ Bonded+Post -Tensioning+i n+Corrosive+ Environments &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1941.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Guidance+o f+Vascular+D evelopment+ Lessons+Fro m+the+Nervo us+System&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

11	942.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Guide+Spec ification+for+ Grouted+Post -Tensioning& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	943.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =guitar+playe r&go.x=8&go. y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	944.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gun+control	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	945.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gunnarsson +2004+tractor +risk+manag ement&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	946.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gymnocladu s+dioicus+ger mination&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:26:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	947.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hahnemann +and+psychia try+bohn&go. x=11&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	948.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =handbook+o f+educational +psychology &go.x=6&go. y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	949.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =handbook+o f+marine+ma croalgae&go. x=9&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	950.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Handbook+ of+Natural+A ntimicrobials+ for+Food+Saf ety+and+Qua lity&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:15:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

1951.	+Article,t&s.q =hard+tomato es+hard+time s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1952.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hardy+boys &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1953.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =harry+potter &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1954.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =harvard+bus iness+review &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1955.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hawthorne& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1956.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Heat+flow+a nalysis+of+an +FPSO+topsi de+model+wit h+wind+effect +taken+into+ account:+A+ wind-tunnel+t est+and+CFD +simulation& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1957.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =helicobacter +cinaedi-asso ciated+bacter emia&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1958.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =helicobacter +cinaedi+sept ic+arthritis&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:26:06	0.00%	O (0.00%)	\$0.00 (0.00%)
1959.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =herbivore+c olonization+a nd+hypoxia& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:53	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1960.	+Article,t&s.q =Heterosocial +competence +of+rapists+a nd+child+mol esters:+A+me ta-analysis&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1961.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Heterosocial +perception+i n+rapists&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:19:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1962.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hidden+Cos ts+of+Energy: +Unpriced+C onsequences +of+Energy+ Production+a nd+Use	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1963.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =High-resoluti on+metageno mics&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1964.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =High-resoluti on+X-ray+co mputed+tomo graphy+for+3 D+mi-+crostr ucture+chara cterization+of +a+cellulose+ particle+filled +polymer+foa m&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1965.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =high+and+dr y:+drought+st ress,+sex-allo cation+trade- offs&go.x=10 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:17:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1966.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =High+yield+ production+a nd+purificatio n+of+few+lay er+graphene &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1967.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =higher+educ ation+act+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

196	=ContentTyp e,Newspaper +Article,t&s.q =Highly+sens itive+electroc 8. hemical+dete ction+of+met hyl+salicylate +using+electr oactive+gold+ nanoparticles. &go.x=12&go .y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
196	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hirsch&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =history+of+p sychopharma cology&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =HIV-1+Nef:+ a+master+ma nipulator+of+t he+membran e+trafficking+ machinery+m ediating+imm une+evasion &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =HIV-1+Nef+ protein+binds +to+the+cellu 2. lar+protein+P ACS-1+to+do wnregulate+cl ass+I+major+ histocompatib ility+complex es&go.x=4&g o.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:13:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hollow+face +illusion	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hollow+mas k+illusion	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:27:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =horror&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper 6. +Article,t&s.q =horse+comp ost&go.x=0&	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:34:43	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.y=0									
1977.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+resear ch+articles+p rovide+a+sta nce&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
1978.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+to+blo g+a+book&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1979.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+to+con duct+your+o wn+survey&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1980.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+to+des troy+an+engli sh+departme nt&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1981.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How+to+Wi n+Friends+an d+Influence+ People&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:58:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1982.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hpv+vaccina tion+recomm endations&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1983.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Human+aud itory+system+ response+to+ modulated+el ectromagneti c+energy&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1984.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hurons-wen dat&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:24:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1985.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hurricane+K atrina+respon se	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1986.	+Article,t&s.q =huttenlocher &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1987.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hydrodyna mic+Respons e+of+Tension -leg+Platform s+-+A+Model	1 (0.00%)	0.00%	0 (0.00%)	0.00%	22.00	01:06:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1988.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hydrograph y+and+circula tion+of+the+ West+Antarct ic+Peninsula +Continental+ Shelf&go.x=1 3&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1989.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hydrokinetic +energy+from +ocean+curre nts&go.x=3& go.y=15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:48:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1990.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hydrokintetic +power+reso urce+assess ment+florida& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:29:27	0.00%	O (0.00%)	\$0.00 (0.00%)
1991.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hypocrisy+tr ap:+the+Worl d+Bank+and +the+poverty +of+reform&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1992.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ice+core+ca ndelone&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:24:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1993.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Identification +of+cephalop od+species+f rom+the+Nort h+and+Baltic +Seas+using +morphology, +COI+and+1 8S+rDNA+se quences&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

19	994.	=Identification +of+IPMC+no nlinear+mode I+via+single+ and+multi-obj ective+optimi zation+algorit hms	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
19	95.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ieee&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
19	996.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ilo+geology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:11:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
19	997.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ilo+peru&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:29:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
19	998.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =images+that +injure&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
19	999.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Immuno-viro logical+and+c linical+impact s+of+treating +cancer+in+p atients+living +with+HIV&g o.x=11&go.y= 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	000.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Impacts+of+ climate+varia bility+and+ch ange+on+fish ery-based+liv elihoods&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:04	0.00%	O (0.00%)	\$0.00 (0.00%)
200	001.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Impacts+of+ climate+varia bility+and+fut ure+climate+ change+on+ harmful+algal +blooms+and +human+heal th&go.x=8&g o.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:42:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	002.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Impacts+of+ drought+on+p ollination+of+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Trigonella+m oabitica+(Fab aceae)+via+b ee+visitations &go.x=0&go. y=0									
2003.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Implications +of+miR166+ and+miR159 +induction+to +the+basal+r esponse+me chanisms+of+ an+andigena +potato+(Sol anum+tubero sum+ssp.+an digena)+to+s alinity+stress, +predicted+fr om+network+ models+in+Ar abidopsis&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2004.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Implications +of+miR166+ and+miR159 +induction+to +the+basal+r esponse+me chanisms+of+ an+andigena +potato+(Sol anum+tubero sum+ssp.+an digena)+to+s alinity+stress, +predicted+fr om+network+ models+in+Ar abidopsis&go .x=0&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2005.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Implications +of+miR166+ and+miR159 +induction+to +the+basal+r esponse+me chanisms+of+ an+andigena +potato+(Sol anum+tubero sum+ssp.+an digena)+to+s alinity+stress, +predicted+fr om+network+ models+in+Ar abidopsis&go .x=1&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2006.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Implications +of+miR166+ and+miR159 +induction+to +the+basal+r esponse+me chanisms+of+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	an+andigena +potato+(Sol anum+tubero sum+ssp.+an digena)+to+s alinity+stress, +predicted+fr om+network+ models+in+Ar abidopsis&go .x=6&go.y=0									
2007.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =In+vitro+eva luation+of+th e+effects+of+ perfluoroocta nesulfonic+ac id+(PFOS)+a nd+perfluoroo ctanoic+acid+ (PFOA)+on+I L-2+productio n+in+human+ T-cells&go.x= 11&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2008.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =INCLUDING +STUDENTS +W/SPECIAL +NEEDS+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2009.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Incomplete+ splicing+of+n eutrophil-spe cific+genes+a ffects+neutro phil+develop ment+in+a+z ebrafish+mod el+of+poikilod erma+with+n eutropenia&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2010.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Increased+s ensitivity+to+ climate+chan ge+in+disturb ed+ecosyste ms&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2011.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Indians+in+ Eden:+Waba nakis+and+R usticators+on +Maine's+Mt. +Desert+Islan d,+1840s-192 0s.++&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
2012.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =individualis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)

	m+vs.+collect iveism&go.x= 0&go.y=0									
2013.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Influence+of +guided+cycl es+of+planni ng,+teaching, +and+reflecti on+on+prosp ective+eleme ntary+teacher s'+science+c ontent+repres entations.&go .x=14&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2014.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Influence+of +treatment+w ith+immunos uppressive+d rugs+in+mice +chronically+i nfected+with+ Trypanosoma +cruzi.&go.x= 8&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:12	0.00%	O (0.00%)	\$0.00 (0.00%)
2015.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Injury+and+ Recovery+in+ the+Course+ of+Employme nt&go.x=9&g o.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:39	0.00%	O (0.00%)	\$0.00 (0.00%)
2016.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Innate+imm une+respons es+to+influen za+A+H5N1: +friend+or+fo e?&go.x=12& go.y=3	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2017.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =insect+samp ling&go.x=3& go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2018.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Insecticidal+ reduction+of+ potato+leafrol l+virus+trans mission+by+t he+green+pe ach+aphid&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2019.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Institutional+ change:+tran sforming+the	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:36:51	0.00%	O (0.00%)	\$0.00 (0.00%)

	+structures+o f+society&go. x=0&go.y=0									
2020.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =institutional+ vs.+residual+ approaches& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2021.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =interfacial+tr ansition+zon &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2022.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =international +history+of+t he+twentieth +century&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2023.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =International +Journal+of+ Consumer+St udies&go.x=1 0&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:17:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2024.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =International +Political+Ec onomy:+Pers pectives+on+ Global+Powe r+and+Wealt h.&go.x=13& go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2025.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Intra-thallus +phlorotannin +content+and +antioxidant+ activity+in+Ph aeophyceae+ of+temperate +waters&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2026.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =intrinsic+fla ws+of+eleme nt+enrichmen t&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2027.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introduction +to+picture+b ook+codes&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:59	0.00%	0 (0.00%)	\$0.00 (0.00%)

2	2028.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introverts,+ Extroverts,+a nd+Achievem ent+in+a+Dist ance+Learnin g+Environme nt+&go.x=7& go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2029.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =introverts+e xtroverts&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:06:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2030.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =inuit+fishing +and+climate +change&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	031.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IPMC&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2032.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =irish+drama &go.x=4&go. y=15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	033.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =irish+fighter s+in+the+spa nish+civil+wa r&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2034.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ISBN-0-874 47-272-5&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:55:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	035.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lsonymy+an d+Diabetes+p revalance+in +the+Island+ Population+of +Vinalhaven, +Maine&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	036.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =isotorype+g eochemist&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	037.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:04	0.00%	0 (0.00%)	\$0.00 (0.00%)

		=ITZ&go.x=0 &go.y=0									
2	2038.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jackson+cla ssical+electro dynamics&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2039.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jacobs+200 8+group&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2040.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jae-ho+shin &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2041.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =james+elroy &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2042.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jane+Auste n+and+her+R eaders&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2043.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =japanese+w oodblock+pri nt&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2044.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jarrod+johns ton&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2045.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =JCV+cell+cu Iture&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2046.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jeannette+ Winterson	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2047.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jeffrey+S.+ Gaab&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:09:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[]									

2	2048.	=ContentTyp e,Newspaper +Article,t&s.q =jellyfish+clim ate+change& go.x=8&go.y= 13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2049.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Joan+didion &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2050.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jonassen&g o.x=-666&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2051.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Joseph+con rad&go.x=15 &go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2052.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Joseph+Elki nton&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2053.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =josselyn+bot anical+societ y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2054.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+a nimal+scienc e&go.x=9&go .y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2055.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+c linical+microb iology&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2056.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+f orestry	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2057.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Forestry&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+									

2058.	mass+media +ehics+explor ing+questions +of+media+m orality&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2059.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+n utrition&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2060.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journey+of+ water&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2061.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Judith+Whit e+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2062.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =julia+sell&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:16:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2063.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kalff+limnolo gy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2064.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Kalniete,+S andra&go.x=- 504&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2065.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kansas+pop ulist&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2066.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kant&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2067.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kenneth+bur ke&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:34:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2068.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kent+world+ war+one&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2069.	=ContentTyp e,Newspaper +Article,t&s.q =kin+of+ata& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2070.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kinetic+chan ge+neurotran smitter+snare &go.x=9&go. y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:28:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2071.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kinetic+neur otransmitter+ chang&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2072.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Kinetics+of+ pro-inflammat ory+cytokines +release+in+ cardiac+surg ery+with+car diopulmonary +bypass+++ ++Shinji+Hira i,+Taijiro+Sue da,+Kazumas a+Orihashi,+ Masanobu+W atari,+Kenji+ Okada+&go.x =8&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:25:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2073.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Knutti,+R.,+ and+G.C.+He gerl+(2008),+ The+equilibri um+sensitivit y+of+the+Ear th's+temperat ure+to+radiati on+changes, +++ Nature,+ 735-743,+doi: +10.1038/nge o337.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2074.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =koons+2010 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2075.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kozlowski,+ 1996,+theory +and+eviden ce:+The+dev elopment+of+ scientific+rea soning&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:07:56	0.00%	0 (0.00%)	\$0.00 (0.00%)

2076.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Krayushkina &go.x=12&go .y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2077.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kurt+vonneg ut&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2078.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =labor+studie s++making+t he+world+saf e+for+worker s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2079.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =landfill+impa cts&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2080.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =landscape+c onservation+i nititiatives&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2081.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =language+a nd+literature+ re+from+a+p ueblo+perspe ctive&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2082.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Large-scale +small-molec ule+screen+u sing+zebrafis h+embryos.& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2083.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =larson+and+ gray&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2084.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =latino+men+ and+body+im age+in+ameri ca&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2085.	e,Newspaper +Article,t&s.q =Lea's+Chem istry+of+Cem ent+and+Con crete&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2086.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =LEAP+study +guide&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2087.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Learning+as +a+Members' +Phenomeno n+Toward+an +Ethnographi cally+Adequa te+Science+o f+Learning&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:22:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2088.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lebreton&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:13:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2089.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lecture+Not es+in+Compu ter+Science+ Volume+3615 &go.x=8&go. y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2090.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =legumes+an d+blood+gluc ose+respons e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2091.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Leisure,+Str ess,+and+Co ping:+The+S port+Participa tion+of+Colle giate+Student -Athletes&go. x=8&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2092.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =leonardo+da +vinci&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2093.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =leonardo+da +vinci+techno logy&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:20:14	0.00%	0 (0.00%)	\$0.00 (0.00%)

20	94. + / =	cearch?s.fvf[] ContentTyp ,Newspaper Article,t&s.q let's+explore diabetes&go <=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	95. = ++++++++++++++++++++++++++++++++++++	search?s.fvf[] ContentTyp ,Newspaper Article,t&s.q let's+explore diabetes+wit +owls&go.x 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	96. da	search?s.fvf[] ContentTyp ,Newspaper Article,t&s.q lichen+abun ance+and+b odiversity+al ng+a+chron sequence&g .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	97. + 2 e; ei	search?s.fvf[] ContentTyp ,Newspaper Article,t&s.q Lichtenwaln r&go.x=0&g .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	98. + 2 8	search?s.fvf[] ContentTyp ,Newspaper Article,t&s.q Lie+Spotting .go.x=0&go. =0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	99. http://www.ef.com/si	search?s.fvf[] ContentTyp ,Newspaper Article,t&s.q Life+and+D ath+Matters: Human+Rig ts,+Environ nent+and+S cial+Justice. Second+edit on.+BR+Joh ston,+ed.,+L ft+Coast+Pr ss,+2011&g .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	= e, +,, = = ++ 00. e td m th gg	search?s.fvf[] ContentTyp ,Newspaper Article,t&s.q Life+history traits+of+lak +phytoplank on+species+ nay+govern+ neir+phenolo ical+respons &go.x=0&go /=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	= (e, +, = (P is 01. + + iti	search?s.fvf[] ContentTyp ,Newspaper Article,t&s.q Light+and+ Photosynthes s+in+Aquatic Ecosystems +Second+Ed ion+ed.+Ca nbridge+Univ rsity+Press,	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:09	0.00%	O (0.00%)	\$0.00 (0.00%)

	+Cambridge& go.x=10&go.y =14									
2102.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Linear-Circu lar+Correlatio n+Coefficient s+and+Rhyth mometry&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2103.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =linear+stabili ty&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2104.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+as+ translingual+ practice&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2105.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Living+throu gh+College+L iteracy+Nursi ng+in+a+Sec ond+Languag e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2106.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =living+with+ disability&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2107.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lobster+larv ae*+AND+(cu ticle+OR+exo skeleton+OR +carapace)& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2108.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lobster+para site&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:58:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2109.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lobsters&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2110.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Locus+of+c ontrol+lefcour t&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)

211	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =lonely+plane t+nova+scotia &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Long-term+ and+diurnal+ carpospore+d ischarge+patt erns+in+the+ Ceramiaceae, +Rhodomelac eae+and+Del esseriaceae+ (Rhodophyta) &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Long-term+i nhibition+of+ miR-21+leads +to+reduction +of+obesity+i n+db/db+mic e.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Longman+gr 4. ammar+of+sp oken+and+wr itten+English &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper 5. +Article,t&s.q =lowbush+blu eberries&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper 6. +Article,t&s.q =Lu,+carbohy drate+polyme rs+2010&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =luc+ferrari& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lumiere&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:52:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
211	/search?s.fvf[] =ContentTyp e,Newspaper 9. +Article,t&s.q =lussier+and	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:07:56	0.00%	0 (0.00%)	\$0.00 (0.00%)

		+meek&go.x= 0&go.y=0									
2	120.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maccarone+ ethical+respo nsibilities&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	121.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =magnetic+p articles+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	122.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Magnetically +driven+shap e+memory+al loys	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	123.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+high er+education +spending+1 994&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	124.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maine+statu es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	125.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =manifest+do mesticity&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	126.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mann,+C.+ C.+(2005).+O Idest+civilizati on+in+the+A mericas+reve aled.+Scienc e,+307(5706) ,+34-35.&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	127.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =manyika&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	128.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maps+of+lib rary&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	129.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:12:48	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=margaret+sp ellings+&go.x =0&go.y=0									
2130.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Marginal+C ost+Pricing+i n+a+Competi tive+World&g o.x=13&go.y= 8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2131.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marijane+fal l&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:34:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2132.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marine+ma mmal+pcbs& go.x=9&go.y= 11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2133.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marine+oil+ effects&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2134.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Marine+pela gic+ecosyste ms:+the+Wes t+Antarctic+P eninsula&go. x=9&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2135.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mark+Green &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2136.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mark+richar d+kkk+maine &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2137.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =markowsky &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2138.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Martini+tacc ola&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	01:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

2139.	+Article,t&s.q =marx+and+s ingularity&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2140.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mass+Spect rometry—Base d+Proteomic+ Analysis+of+ Urine+in+Acu te+Kidney+Inj ury+Following +Cardiopulm onary+Bypas s:+A+Nested +Case-Contr ol+Study&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2141.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =master+narr atives&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:35:44	0.00%	O (0.00%)	\$0.00 (0.00%)
2142.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =matching+a nimal+assiste d+therapy+te chniques+an d+intentions+ with+counseli ng+guiding+t heories&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2143.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =material+tra nslingual+eco logies&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2144.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Matthew+O ware&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	01:03:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2145.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maturation+ of+the+HIV-1 +core+by+a+ non-diffusion al+phase+tra nsition&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2146.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Max+Weber &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2147.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maxmen&go	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)

		.x=0&go.y=0									
2	148.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mean+annu al+temperatur e+in+New+Z ealand+durin g+the+Last+ Glacial+Maxi mum+derived +from+dissolv ed+noble+ga ses+in+groun dwater	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	149.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Measureme nt+of+polluta nt+toxicity+to +fish—III:+Su blethal+effect s+and+"safe" +concentratio ns&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	150.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mechanics+l andau+and+li fshitz&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	151.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mechanochr omic+polyme r+blends	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	152.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =media+psyc hology+elabo ration+likeliho od+model&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:28:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	153.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =meditation+f oe+stress&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	01:08:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	154.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =men+and+e ating+disorde rs&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	155.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Meniscus+p athology,+ost eoarthritis+an d+the+treatm ent+controver sy	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

2156.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mesoscale+ eddy+effects &go.x=9&go. y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:29:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2157.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Messy,+cont radictory,+an d+obstinately +persistent:+ A+study+of+c hildren's+out- of-school+ide as+about+en ergy&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:12:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2158.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MET+355&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
2159.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =meta+study +religion+psy chology+primi ng&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2160.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Metal/Polyp yrrole+Quasi- Reference+El ectrode+for+ Voltammetry+ in+Nonaqueo us+and+Aque ous+Solution s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2161.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Methods+for +analysis+of+ bacterial+aut oinducer-2+pr oduction&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2162.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Methods+for +carbon+nan otubes+synth esis—review &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2163.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =metz,+2000, +Inquiring+int o+inquiry+lea rning+and+te aching+in+sci	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ence&go.x=0 &go.y=0									
2164.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =meyer+the+ settlements+ with+the+Pac ific+Railways &go.x=4&go. y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2165.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michael+fink el&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2166.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Microbiology :+Metagenom ics&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2167.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =microhydrod ynamics:+Pri nciples+and+ selected+App lications&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2168.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Microsphaer a++vaccinii&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2169.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =microwave+ superconducti vity&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:21:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2170.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =migration+ri sk&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2171.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mind,+self,+ and+society& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2172.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mindfulness &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

2173.	=Minor+comp onents+of+be er:+A+review &go.x=10&go .y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2174.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mir-144+sel ectively+regul ates+embryo nic+alpha-he moglobin+syn thesis+during +primitive+er ythropoiesis. &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2175.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =misquito+sol diers&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2176.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mitochondri al+crowding+i n+smooth+m uscle+cells+a fter+arterial+li gation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2177.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modelling+a nd+analysis+ of+spatio-tem poral+dynami cs+of+a+mari ne+ecosyste m&go.x=9&g o.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2178.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modelling+o f+hysteresis+ and+creep+in +SAW+strain +sensors&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2179.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modes+and +Facets+of+t he+American +Scene:+Stu dies+in+Hono r+of+Cristina +Giorcelli&go .x=5&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2180.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Molecular+ Mechanisms+ of+Branching +Morphogene sis&go.x=0&g	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)

		o.y=0									
21	81.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mona+Lisa& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:11:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	82.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =More+than+ Just+a+Gam e:+Sports+in +American+Li fe+Since+194 5&go.x=8&go .y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	83.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Morgan+Hu nt+Commitm ent+Trust&go .x=11&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	84.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =moss&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	85.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mosses+fro m+an+Old+M anse&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	86.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mot+troi+ta m+su&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	87.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multi-well+cl uster+dishes &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	88.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multiconent +reliabitity&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	89.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multifunction al+Shape-me mory+polyme rs&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
21	90.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multisensory	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+learning&go. x=0&go.y=0									
2191.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Multistability +and+the+Ag ency+of+Mun dane+Artifact s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2192.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mumbo+jum bo&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
2193.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Muscle+Arti culations:+Fle xible+Jaw+Jo ints+Made+of +Soft+Tissue s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2194.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =muscle+buil ding&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2195.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+of+lif e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2196.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mytilus+edul is+and+pst&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:27:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2197.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =narcissistic+ personality+di sorder+treat ment&go.x=1 4&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2198.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Narrative+ra tionality+and+ the+logic+of+ scientific+disc ourse	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:29	0.00%	O (0.00%)	\$0.00 (0.00%)
2199.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nathaniel+H awthorne+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:31:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2200.	=ContentTyp e,Newspaper +Article,t&s.q =Nathaniel+T aylor,+New+ Haven+theolo gy,+and+the+ legacy+of+Jo nathan+Edwa rds&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2201.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nature&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2202.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ncbi&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2203.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nctm+princi ples+and+sta ndards+for+s chool+mathe matics&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2204.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =neanderthal &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:05:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2205.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nepenthes+ air+layer&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2206.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nesting+biol ogy+of+the+e astern+yellow jacket,+Vesp ula+maculifro ns&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:16:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2207.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =network+dat abases&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2208.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Neuromusc ular+degener ation+(nmd):+ a+mutation+o n+mouse+Ch romosome+1 9+that+cause s+motor+neur on+degenerat ion&go.x=16	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:36	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=2									
2209.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =new+approa ches+to+med ival+literacies &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2210.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+Engla nd+Seaweed +Culture+Han dbook-Nurser y+Systems&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2211.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+indice s+for+text:+P at+trees+and +Pat+arrays& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2212.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+param eters+for+ana lysis+of+chan ges+microglia l+morphology +using+stere ology+and+hi stomorphome try	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2213.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+reacto r+design+for+ photo-catalyti c+wastewater +treatment+w ith+TiO2imm obilized+on+f used-silica+gl assfibers:+ph otomineralizat ion+of+4-chlo rophenol&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2214.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+Transit ion+Metal+Co mplexes+Deri ved+from+1- Ferrocenecar bonyl-4-Naph thyl-3-Thiose micarbazide& go.x=10&go.y =4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2215.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ngai&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)

22	216.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ngai+negati ve+emotions &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	217.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nicol,+Bran. +The+Cambri dge+Introduct ion+to+Postm odern+Fiction &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	218.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Niels+Herol d&go.x=9&go .y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	219.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nisbet&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	220.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nitrate,+fath ead+minnow &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:20:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	221.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nixon,+P.+1 979&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	222.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nixon+Kenn edy+1960+de bates&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:33:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	223.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Non-intentio nal+Performa nce+Practice +in+John+Ca ge's+"Solo+fo r+Sliding+Tro mbone".&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
22	224.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Non-uniform +spatial+distri butions+of+b oth+the+mag nitude+and+p hase+of+ac+ electric+fields +determine+d	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	ielectrophoret ic+forces&go. x=0&go.y=0									
2225.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nonlinear+pi tch&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2226.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nordic+pulp +and+paper& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2227.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =North+Atlant ic+signatures +in+aquatic+ and+terrestria I+ecosystems &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2228.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nova+scotia +new+brunsw ick+prince+ed ward&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2229.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Numerical+ model+of+mu Itiphase+flow s+applied+to +solid+propell ant+combusti on+in+gun+s ystems+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2230.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nusslein-Vol hard,+C.,+an d+R.+Dahm+ (ed.).+2002.+ Zebrafish:+a+ practical+app roach,+vol.+2 61.+Oxford+ University+Pr ess+Inc.,+Ne w+York,+NY. &go.x=10&go .y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2231.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =O'Brien&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2232.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oceanograp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)

	hy+and+Mari ne+Biology:+ An+Annual+R eview&go.x= 0&go.y=0 /search?s.fvf[] =ContentTyp									
2233.	e,Newspaper +Article,t&s.q =of+place+an d+gender&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	21.00	00:25:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2234.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Offshore+oil +impacts+on +the+Bering+ Sea+fishing+i ndustry.++	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2235.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ojibwae&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2236.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =olubilization +and+bioche mical+charact erization+of+ select+edible +nut+seed+pr oteins&go.x= 9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2237.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =olympic+ga mes+12968& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2238.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On-chip+me tal/polypyrrole +quasi-refere nce+electrod es+for+robust +ISFET+oper ation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2239.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On+recruitm ent+and+distr ibution+of+atl antic+cod+off +newfoundla nd&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2240.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On+stamp+f orming+of+cu rved+and+fle xible+geomet ry+componen ts+from+conti	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	nuous+glass+ fiber/polyprop ylene+compo sites&go.x=0 &go.y=0									
2241.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On+Strike+a nd+on+Film:+ Mexican+Am erican+Famili es+and+Blac klisted+Filmm akers+in+Col d+War+Ameri ca&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:12:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
2242.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On+the+biol ogy+of+Calan us+finamarch icus+XI.+Obs ervations+on +vertical+mig ration+especi ally+in+femal e+Calanus&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2243.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On+The+Pl eistocene+Se ttlement+of+S outh+America &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2244.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =one+flew+o ver+the+cuck oo's+nest&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2245.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =one+search &go.x=11&go .y=15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2246.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Opening+O ur+Wild+Hear ts+to+the+He aling+Herbs& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2247.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Optimized+p rotocols+for+i solation+of+p rimary+motor +neurons,+as trocytes+and +microglia+fr om+embryoni c+mouse+spi	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	nal+cord.&go. x=0&go.y=0									
2248.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =organic&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2249.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ostrom+199 0+chapter+2 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2250.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Otolith+fluct uating+asym metry:+a+mis conception+o f+its+biologic al+relevance ?&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2251.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Our+Earliest +Ancestors& go.x=12&go.y =13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:10:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2252.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =our+kind+of +traitor&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2253.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Overcoming +Obstacles+t o+Interdiscipli nary+Resear ch&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2254.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =overfishing+ and+arctic+s ubsistence&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2255.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Özdemır,+K adir.+"Charac terization+of+ Natural+Orga nic+Matter+in +Conventiona I+Water+Trea tment+Proces ses+and+Eva luation+of+T HM+Formatio n+with+Chlori ne."+The+Sci entific+World	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		+Journal+201 4+(2014):+1- 7.+Web.&go. x=0&go.y=0									
:	2256.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Panda,+Sud hanshu+Sekh ar.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2257.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =paralytic+sh ellfish+poison ing+maine&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2258.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =parenting+c hildren+with+ disabilities&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2259.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =parrot+fish+ on+algae&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:34:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2260.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =parrotfish+fe eding+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:13:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2261.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =participant+ observer&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2262.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =passamaqu oddy+medicin e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2263.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =past,+curren t+and+future +fire+frequen cy+in+the+ca nadian+borea l+forest&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2264.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pat+shipma n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:28:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

2265.	+Article,t&s.q =Patrick+C.+ Reading+aut hor&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:10:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2266.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =patterns+of+ anarchy&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2267.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =patterns+of+ infant+mortali ty+in+the+up per+st.+john+ valley+french +population+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2268.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =PCB+and+D DE+Contami nation+in+Ha rbor+Seals+(Phoca+vitulin a)+from+Nort h-Central+Cal ifornia+and+B ristol+Bay&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2269.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peace+effort s+intifada&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2270.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Peer+collab oration:+Conf lict,+cooperati on+or+both? &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2271.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pei+yu+che n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2272.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Penobscot+ man&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2273.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =People,+Par ks+and+the+ Urban+Green :+A+Study+of +Popular+Me anings+and+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	Values+for+O pen+Spaces+ in+the+City& go.x=0&go.y= 0									
2274.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =People+who +are+transge nder:+Mental +health+conc erns&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:35:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2275.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =perceived+e thical+conflict s+in+us+doc umentary+fil mmaking&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2276.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Performanc e+of+absorpti on+coefficient +measureme nts+for+the+i n+situ+deter mination+of+ chlorophyll-a +and+total+s uspended+m atter&go.x=1 0&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2277.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =permanent+ plot+forestry& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2278.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pershing+mi lls+gulf+of+m aine+warm&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2279.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =persion+gulf +war+and+co Id+war&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2280.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Peterson's+ How+to+Writ e+the+Perfec t+Personal+S tatement&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2281.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =petite+poule	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:38:37	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+d'eau+roy&g o.x=0&go.y=0									
2282.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Phenylketon uria+diet&go. x=13&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:57:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2283.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Photochemi cal+behaviou r+of+triclosan +in+aqueous +solutions:+K inetic+and+a nalytical+stud ies&go.x=9&g o.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2284.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Photodegra dation+of+the +steroid+hor mones+17β-e stradiol+(E2) +and+17α-et hinylestradiol +(EE2)+in+dil ute+aqueous +solution&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2285.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =photoelastic &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2286.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Physical+for ces+and+non +linear+dyna mics+mould+f ractal+cell+sh ape.+Quantit ative+morpho logical+para meters+and+ cell+phenotyp e\&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2287.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Physiologica I+Responses +of+Phytopla nkton+to+Maj or+Environm ental+Factors &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:17:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2288.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pictorial+per ception+and+ culture+Jan+ B.+Deregows	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		ki+(1972)+&g o.x=0&go.y=0									
2	289.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pilgrims&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	290.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pinguicula+ micropropaga tion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	291.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Planning+for +sea-level+ris e:+quantifyin g+patterns+of +Saltmarsh+ Sparrow+(Am modramus+c audacutus)+n est+flooding+ under+curren t+sea-level+c onditions&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2	292.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =plant+luxuio us+consumpti on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	293.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =plant+micro propagation& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:22:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	294.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =platelet+cou nt+beyond+5t h+day+storag e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	295.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =playing+Nic e:+Politics+a nd+Apologies +in+Women's +Sports&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	296.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pleasure+re ading&go.x=- 701&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp									

2297.	e,Newspaper +Article,t&s.q =PLSDA&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2298.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =plummer+"t he+news+sel ves+are+'con structed'"&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2299.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =plummer+A ND+identity& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	34.00	00:42:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2300.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pneumonia	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:08:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2301.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =populist+in+ kansas&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2302.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Post-tension ing+Systems +and+Proced ures&go.x=13 &go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2303.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Potential+of +Natural+Anti microbials+fo r+the+Produc tion+of+Mini mally+Proces sed++Fresh- Cut+Apples& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2304.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Power,+Plac e,+and+State -Society+Rel ations+in+Kor ea&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2305.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =praxis+plt&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2306.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =predicting+b obcat+density	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=9&go. y=12									
2307.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prehistoric+ Maritime+Ada ptations+of+t he+Subarctic +and+Subant arctic+Zones: +The+Aleutia n/Fuegian+C onnection+Re considered&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2308.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Preliminary+ validation+of+ a+new+stand ard+of+effica cy+for+stored +platelets&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2309.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Preparation +and+properti es+of+PMMA /clay+nanoco mposite&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2310.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prevention+ and+treatmen t+of+type+2+ diabetes+mell itus+in+childr en,+with+spe cial+emphasi s+on+Americ an+Indian+an d+Alaska+Na tive+children. +American+A cademy+of+P ediatrics+Co mmittee+on+ Native+Ameri can+Child+H ealth.+Gahag an+S,+Silvers tein+J&go.x= 9&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2311.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Principles+a nd+Applicatio n+of+High+Pr essure—Base d+Technologi es+in+the+Fo od+Industry& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:34:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2312.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =principles+of	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+learning+an d+teaching&g o.x=0&go.y=0									
2313.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =principles+of +learning+an d+teaching&g o.x=3&go.y=1 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2314.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prison+Sha kespeare+an d+the+Purpo se+of+Perfor mance:+Rep entance+Ritu als+and+the+ Early+Moder n.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2315.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =PRO131921 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:22:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2316.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Proceedings +of+the+Nati onal+academ y+of+science s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2317.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Process+mo deling+and+a nalysis+of+pu lp+mill-based +integrated+b iorefinery+wit h+hemicellulo se+pre-extrac tion+for+etha nol+productio n:+a+compar ative+study.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2318.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =processing+ can+alter+the +properties+o f+peanut+extr act&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2319.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =processing+ the+adventur e+experience	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:48:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

2320.	=Production+ costs+and+in put+substituti on+in+Zimba bwe's+smallh older+agricult ure&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2321.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Professional +developmen t+aligned+wit h+AP+Chemi stry+curriculu m:+Promotin g+science+pr actices+and+f acilitating+en during+conce ptual+underst anding.&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:48:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2322.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Progress+in +Invertebrate +Zoology&go. x=7&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
2323.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =project+man agement+in+ practice&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2324.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Promoting+ Economic+D evelopment+ with+Tourism +in+Rural+Co mmunities:+D estination+Im age+and+Mot ivation+to+Re turn+or+Reco mmend&go.x =12&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2325.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =propaganda +world+war+ one+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
2326.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Protection+a gainst+hetero logous+Strept ococcus+inia e+isolates+us ing+a+modifi ed+bacterin+ vaccine+in+N ile+tilapia,+Or eochromis+nil oticus+(L.)&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

/search =Conte e,News +Article =psyinfi x=0&go /search =Conte e,News +Article =PTI+N 2329. 12:+Spi tion+for ting+of+ Tensior	entTyp spaper e,t&s.q fo&go. o.y=0 1 (0.00 n?s.fvf[] entTyp spaper e,t&s.q M55.1- pecifica r+Grou e+Post- ned+St is&go.x .y=0 n?s.fvf[] entTyp		O (0.00%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
=Conte e,News +Article =PTI+N 2329. 12:+Sp tion+for ting+of+ Tensior	entTyp spaper e,t&s.q M55.1- pecifica r+Grou +Post- ned+St ps&go.x y=0 n?s.fvf[] entTyp	%) 0.00%	0 (0.00%)	0.00%					
=0&go.	entTyp				2.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search =Conte e,News +Article =Publis Double- peer+re a+doub k&go.x= .y=9	e-,t&s.q shing:+ e-blind+ eview+ ple+ris	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search =Conte e,News +Article =pubme .x=0&go	entTyp spaper e,t&s.q ed&go	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search =Conte e,News +Article =pubme .x=12&g	entTyp spaper e,t&s.q led&go	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search =Conte e,News +Article =pubme .x=2&gd	entTyp spaper e,t&s.q led&go	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search =Conte e,News +Article =pubme .x=8≫	entTyp spaper e,t&s.q 1 (0.00 led&go	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search =Conte e,News 2335. +Article =pubme .x=8&go	entTyp spaper e,t&s.q 1 (0.00 led&go	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search =Conte e,News +Article =Quad+ 2336. +a+data cture+fc ieval+ou posite+ go.x=08 0 /search	entTyp spaper e,t&s.q +trees ta+stru for+retr on+com ekeys& &go.y=	%) 0.00%	0 (0.00%)	0.00%	4.00	00:09:16	0.00%	0 (0.00%)	\$0.00 (0.00%)

23:	=ContentTyp e,Newspaper +Article,t&s.q =Quantifying+ fecundity+in+ Macoma+balt hica+using+a n+enzyme-lin ked+immuno sorbent+assa y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:06:18	0.00%	O (0.00%)	\$0.00 (0.00%)
233	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Quantitation +of+DNA+an d+RNA+with+ Absorption+a nd+Fluoresce nce+Spectros copy&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
233	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Quantitative +assessment +of+testicular +germ+cell+p roduction+an d+kinematic+ and+morpho metric+param eters+of+ejac ulated+sperm atozoa+in+th e+grey+mous e+lemur,+Mic rocebus+muri nus	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =quantity+an alysis+of+phe nol+with+HPL C&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:21:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =quest+of+th e+folk&go.x= 11&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:17:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =race+and+cr ime&go.x=-88 0&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:16:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Radiative+h eat+transfer+ at+the+nanos cale&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rafael+reyes	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=0&go. y=0									
2345.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =railroad+mo noply+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2346.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rape+at+th e+Dark+end+ of+the+street &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2347.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rapid+identi fication+and+ subtyping+of +helicobacter &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2348.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rapid+meth od+to+detect +shiga+toxin +and+shiga-li ke+toxin+l+b ased+on+bin ding+to+glob otriosyl+cera mide+(Gb3),+ their+natural+ receptor.&go. x=6&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2349.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rational+no ncompliance+ and+the+liqui dation+of+No rtheast+groun dfish+resourc es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2350.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rawls+and+ censorship&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
2351.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Real+Time+ Routing+in+R oad+Network s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2352.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Recent+adv ances+in+she If+wave+dyna	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)

		mics&go.x=1 7&go.y=9									
2	2353.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reconciling +Distance+Fu nctions+and+ Level+Sets&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2354.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reconstructi ng+Visual+Ex periences+Fr om+Brain+Ac tivity+Evoked +by+Natural+ Movies&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2355.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =recreation+r egulations+lu cas&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2356.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ree+method s+for+moving +interfaces&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:25:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2357.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reflections+ on+interdiscip linary+sustain ability+resear ch+with+unde rgraduate+stu dents&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:25:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2358.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =refworks&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2359.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =regional+fis heries+ocean ography+of+t he+California +curren+syst em&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2360.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =relationship +between+bo dy+mass+ind ex+nutrition+ strength+func tion+elderly& go.x=0&go.y=	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		0									
2	361.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Religion+pri ming+differen tially+increas es+prosocial+ +behavior+a mong+variant s+of+the+dop amine+D4++r eceptor+(DR D4)+gene&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:20:38	0.00%	O (0.00%)	\$0.00 (0.00%)
2	362.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Remodeling +American+S entencing:+T en+Step+Blu eprint&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	363.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reorganizati on+of+a+larg e+marine+ec osystem+due +to+atmosph eric+and+ant hropogenic+p ressure:+a+di scontinuous+ regime+shift+ in+the+Centr al+Baltic+Sea &go.x=11&go .y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	01:16:57	0.00%	O (0.00%)	\$0.00 (0.00%)
2	364.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reserves&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	365.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Resident+as sistant+trainin g+program+f or+increasing +alcohol,+oth er+drug,+and +mental+heal th+first-aid+ef forts.&go.x=9 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2	366.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =response+to +intervention +gresham&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	367.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Responses+ of+estuarine+ salinity+and+t ransport+proc	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	esses+to+pot ential+future+ sea-level+rise +in+the+Che sapeake+Bay &go.x=0&go. y=0									
2368.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Responses+ of+phytoplan kton+to+varie d+resource+a vailability+in+l arge+lakes+o f+the+Greater +Yellowstone +Ecosystem& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2369.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Responsive +Government ?+Public+Opi nion+and+Go vernment+Pol icy+Preferenc es+in+Britain +and+Denma rk&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2370.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Resurrectin g+the+ecolog ical+underpin nings+of+oce an+plankton+ blooms&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2371.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Review+of+ community-b ased+researc h:+Assessing +partnership+ approaches+t o+improve+p ublic+health& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2372.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Review+of+ Participant-G enerated+Ima ge+Methods+ in+the+Social +Sciences&g o.x=14&go.y= 11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:33:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2373.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =richard+balk in&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

2374	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =richard+bruc her&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2375	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =richard+mat heson&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2376	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rituximab:+ an+insider's+ historical+per spective.&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2377	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rna-seq&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2378	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =robin+willia ms+american +values&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2379	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rock,+powd er,+sentencin g+-+making+ disparate+im pact+evidenc e+relevant+in +crack&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2380	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ROCK+MU SIC+STYLES :HISTORY&g o.x=16&go.y= 15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2381	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Roger+Sha wyer	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2382	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Roman+Hist ory+Timeline &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:06:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ronningsta m,+E.+(+201									

2383	4).+Beyond+t he+diagnostic +traits:+A+col laborative+ex ploratory+dia gnostic+proc ess+for+dime nsions+and+ underpinning s+of+narcissi stic+personali ty+disorder.+ Personality+ Disorders:+T heory,+Rese arch,+and+Tr eatment,+5,+ 434-+438.+1 0.1037/per00 00034&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:20	0.00%	O (0.00%)	\$0.00 (0.00%)
2384	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rose+tomso n+highway&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2385	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rosetta+ston e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2386	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rundle+et+ al.+1995.Fres hwater+Biolo gy+34,165-17 5&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2387	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ruth+rendel l&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2388	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =salary&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2389	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =salt+scaling &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2390	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sampling+Bi odiversity:+Ef fects+of+Plot +Shape.+In+ The+Malaysi an+Forester& go.x=6&go.y= 12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:13:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2391.	e,Newspaper +Article,t&s.q =sampling+thi rd+edition&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2392.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =san+francisc o&go.x=8&go .y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2393.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sand+beach e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2394.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sarah+kofm an&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2395.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scandalous+ women&go.x =-541&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2396.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =schizophreni a+and+cognit ive+behavior +therapy&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2397.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Scholar&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2398.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =school-to-w ork+barriers+ as+identified+ by+special+e ducators&go. x=11&go.y=1 2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2399.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =School+gard en+chalange s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2400.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scifinder&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

2401.	+Article,t&s.q =Seasonal+a nd+interannu al+variability+ in+the+proper ties+of+the+s urface+water s+of+the+Gul f+of+Maine&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2402.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =seasonal+int er+annual+an d+long+term+ variation+in+t op+down+ver sus+bottom+ up+regulation +of+primary+ production&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:10:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2403.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Seasonal+te mperature+al one+can+syn chronize+life+ cycles.&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:11:26	0.00%	O (0.00%)	\$0.00 (0.00%)
2404.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =seaweed&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2405.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =seaweed+pr oduction&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2406.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Secondary+ cells+and+bat teries+contai ning+alkaline +or+other+no n-acid+electr olytes+-+Seal ed+nickel-cad mium+prisma tic+rechargea ble+single+ce lls&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2407.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =seed+coat+ color+dorman cy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:20:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2408.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =seed+scarifi cation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)

2409	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Seeding+net s+with+neutr al+spores+of +the+red+alg a+Porphyra+ umbilicalis+(L .)+Kützing+fo r+use+in+inte grated+multi-t rophic+aquac ulture&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2410	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =seismic+refl ection+chara cteristics+of+ glacial+and& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2411	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Self+efficac y:+The+exerc ise+of+contro l&go.x=8&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2412	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =self+help&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2413	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =self+regulati on+of+self+ef ficacy+and+at tributions+in+ academic+set tings&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:37	0.00%	O (0.00%)	\$0.00 (0.00%)
2414	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sensivity+an alysis+morten +denn&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2415	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sensory+pro cessing&go.x =9&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:30:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2416	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q :=Sergio+Sch mukler,+"Fina ncial+Globali zation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

24	117.	+Article,t&s.q =serpent+on+ the+rock&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	118.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sewage+env ironment&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	1 19.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =seymour+ho ner+volume& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	120.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shakespear e+and+propa ganda	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:26:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	121.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shannon+F armers+Last &go.x=15&go .y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	122.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shape+mem ory+polymer& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	123.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shellfish+co nsumption+ra te+and+temp erature&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	124.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sheroes+an d+villians&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:10:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	125.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shiga+toxin +2&go.x=12& go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	126.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =should+we+ eat+meat&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	127.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sigma+nu&g	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:08:32	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o.x=7&go.y=9									
2428.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Simulation+ of+Fiber+Floc culation:+Effe cts+of+Fiber+ Properties+a nd+Interfiber+ Friction&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2429.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Simultaneou s+direct+dete ction+of+Shig a-toxin+produ cing+Escheri chia+coli+(ST EC)+strains+ by+optical+bi osensing+wit h+oligonucleo tide-functional ized+gold+na noparticles+& go.x=14&go.y =5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:17:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2430.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sir+Ronald+ Ross+art&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:05:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2431.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Skeletonizat ion+via+Dista nce+Maps+a nd+Level+Set s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	28.00	01:31:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2432.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =small+scale +fisheries+in +the+US&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2433.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =smart+mater ials&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2434.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Smithsonian +jazz&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2435.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sneers+and +Leers:+Soci ologists+on+ Attitudes+To	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	wards+Roma nce&go.x=0& go.y=0									
2436	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =so+you+thin k+i+drive+a+ cadillac&go.x =12&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2437	/search?s.fvf[] =ContentTyp e,Newspaper - +Article,t&s.q =social+identi ty+theory&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2438	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+justic e+deficits+in+ the+local+foo d+movement &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:28:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2439	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =socialization +of+the+child &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2440	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Socio-econo mic+indicator s+and+integr ated+coastal +managemen t&go.x=6&go. y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2441	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Socioecono mic+consider ations+of+the +commercial +weathervan e+scallop+fis hery+off+Alas ka+using+SW OT+analysis &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2442	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sociology&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2443	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =somatic+ge neration+of+a ntibody+diver sity&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2444.	=ContentTyp e,Newspaper +Article,t&s.q =Some+Laws +and+Proble ms+of+Classi cal+Probabilit y+and+How+ Cardano+Anti cipated+The m+&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2445.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Some+new, +simple+and +efficient+ste reological+m ethods+and+t heir+use+in+ pathological+ research+and +diagnosis.+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2446.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Some+reflec tions+on+the +golden+age +of+interdisci plinary+social +psychology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2447.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sorenson,+e *&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2448.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sound+expo sure+guidelin es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2449.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Space,+scal e,+governanc e,+and+repre sentation:+co ntemporary+g eographical+ perspectives+ on+urban+pol itics+and+poli cy&go.x=8&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
2450.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Spatial+Anal ysis:+A+Guid e+for+Ecologi sts&go.x=11& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

2	2451.	+Article,t&s.q =Spatial+Cog nition+and+Ar chitectural+S pace:+Resea rch+Perspecti ves&go.x=10 &go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2452.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Spatial+Vari ation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2453.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =SPCE&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2454.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Species-spe cific+predictio ns+of+the+im pact+of+habit at+fragmentat ion:+local+ext inction+of+bir ds+in+the+bo x-ironbark+for ests+of+centr al+Victoria,+A ustralia&go.x =15&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:45	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2455.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sports+and+ media&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2456.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =spotted+sal amander&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	01:16:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2457.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =SPOTTED+ SALAMANDE R+OVIPOSIT ION&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2458.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =springer+ha ndbook+of+at omic,+molecu lar,+and+opti cal+physics+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2459.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stability+mo ored+vessel+ wind&go.x=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=0									
2460.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stanley+Ku brick's+2001: +A+Space+O dyssey:+New +Essays&go. x=-596&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2461.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stanley+Ku brick's+2001: +A+space+od yssey+new+e ssays&go.x=- 596&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2462.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Statistical+in ference+and+ simulation+fo r+spatial+poi nt+processes &go.x=9&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2463.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =statistical+m ethods&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2464.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Statistics+a nd+control+of +waves+in+di sordered+me dia&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2465.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =statistics+an d+probability +with+applica tions+for+eng ineers+and+s cientists&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2466.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stem+cell+li neage+comm itment+by+el ectrical+fields +and+the+pot ential+applica tion+in+drug+ discovery.&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

2467.	=Stem+cells+ as+promising +therapeutic+ options+for+n eurological+di sorders&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2468.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stereotype- Based+Expec tancies+Effec ts+on+Inform ation+Proces sing+and+So cial+Behavior &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2469.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stereotype+ backlash&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2470.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sterling+En gine+Modelin g&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2471.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stonefly+pre dation+along +a+hydraulic +gradient:+a+ field+test+of+ the+harsh—b enign+hypoth esis&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2472.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =strauss,+leo &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2473.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Streptococc us+iniae:+An +aquatic+pat hogen+of+glo bal+veterinar y+significanc e+and+a+cha llenging+cand idate+for+reli able+vaccinat ion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:39:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2474.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stromal+ma trix+metallopr oteinase-11+i s+involved+in +the+mamma	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		ry+gland+pos tnatal+develo pment.&go.x= 0&go.y=0									
2	475.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Structural+O ptimization+U sing+Adaptiv e+Level+Set+ Method&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:37:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	476.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Structure+a nd+early+em bryonic+expr ession+of+th e+zebrafish+ engrailed-2+g ene&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	477.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Structure+of +a+meddy+(b obby+92)+so utheast+of+th e+azores&go. x=15&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	478.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Structure+of +a+meddy+(b obby+92)+so utheast+of+th e+azores&go. x=17&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	479.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Structure+pr ediction+of+tit ania+phases: +Implementat ion+of+Darwi nian+versus+ Lamarckian+ concepts+in+ an+Evolution ary+Algorithm &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:18:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	480.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sturdivant+a nd+Kay+(201 2)&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	481.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =supercondu ctivity+at+43+ K+in+an+iron -based+layer ed+compoun d&go.x=0&go	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	.y=0									
2482.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =superintellig ence&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:12:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2483.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Surges+of+ Winter+Floun der,+Pseudo pleuronectes +americanus, +into+the+Int ertidal+Zone &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:17:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2484.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =survivance+ manitoba&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:11:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2485.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustaining+l arge+marine+ ecosystems& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2486.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =swinton+199 4+economic+ model+weeds &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:12:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2487.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =symbiodiniu m&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2488.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =SYNAPTIC+ MECHANISM S+FOR+COD ING+TIMING +IN+AUDITO RY+NEURO NS&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2489.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =synthesis,+s tructure,+elec trochemistry, +photophysic s+and+electr oluminesence &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:46:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

24		=ContentTyp e,Newspaper +Article,t&s.q =t+of+thermal +processing+ on+ELISA+de tection+of+pe anut+allergen s.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	91.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =take+up+the +black+man's +burden&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tao+te+chin g&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:39:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	93.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tappi&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	94.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Tappi+ejour nal&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:45:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	95.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tchaikovsky +sleeping+be auty&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	96.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teacher+attri butions+and+ academic+ac hievement&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	97.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teacher+self +efficacy&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	98.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Teaching+Ti ps:+Strategie s,+Research, +and+Theory +for+College +and+Univers ity+Teachers &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

2499.	+Article,t&s.q =television+in +the+60's&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2500.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Temporal+a nd+spatial+va riations+of+P M2.5+and+P M10+aerosol +in+the+Sout hern+Californ ia+air+quality +study&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:41:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2501.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tephen,+J,+ Duffy,+L.+20 07.+Mercury+ in+fishes+of+ Alaska,+with+ emphasis+on +subsistence +species.+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2502.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Terephthalat e+as+a+prob e+for+photoc hemically+ge nerated+hydr oxyl+radical& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:35:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2503.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =testing+for+t he+potential+ of+nonrespon se+bias+in+s ample+surve ys&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:14:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2504.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Textual+met adiscourse+in +research+art icles:+a+mark er+of+nationa l+culture+or+ of+academic +discipline?& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:42:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2505.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =thanks+to+t he+animals& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

2506.	+Article,t&s.q =The+1.2-me gabase+geno me+sequenc e+of+mimivir us&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2507.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+10-ten ets+of+adapti ve+managem ent+and+sust ainability:+An +holistic+fram ework+for+un derstanding+ and+managin g+the+socio- ecological+sy stem&go.x=8 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2508.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+13th+n ational+congr ess+of+the+ Chinese+com munist+party +and+the+ag enda+of+Chi nese+politics &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2509.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Air+Sp ora:+A+manu al+for+catchi ng+and+ident ifying+airborn e+biological& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2510.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Analysi s+of+Natural +Microbial+P opulations+by +Ribosomal+ RNA+Sequen ces&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2511.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Archaic +diet+in+mes oamerica:+In centive+for+ milpa+develo pment+and+s pecies+dome stication&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:25:22	0.00%	O (0.00%)	\$0.00 (0.00%)
2512.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+art+of+ experimental	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)

		+physics&go. x=0&go.y=0									
	2513.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+art+of+s olidarity&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2514.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Associ ation+of++Ca pital+Budgeti ng+Techniqu es+with+Firm +Performanc e&go.x=11&g o.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	2515.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Bible+ ++Nature+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:37:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2516.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+bloody+ chamer&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2517.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+china+s tudy&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2518.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+china+s tudy&go.x=13 &go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2519.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Class+ Politics+of+Al ternative+Foo d:+Informing+ Public+Health +Policy+and+ Remedying+ Health+Inequ ality&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
:	2520.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+classifi cation+of+org anisms+at+th e+edge+of+lif e,+or+proble ms+with+viru s+systematic s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:27	0.00%	O (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

25	521.	+Article,t&s.q =The+Collect ed+Works+of +Abraham+Li ncoln&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	522.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+compas sion+fatigue+ handbook&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	523.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Crossr oads+of+Sho uld+and+Mus t:+An+Intellig ent+Illustrate d+Field+Guid e+to+Finding +Your+Bliss& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	524.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Dissolu tion+of+the+ Self+in+Zelig &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	525.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+diversit y+of+fishes& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	526.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+domina nt+role+of+lo w-frequency+ interaural+tim e+differences +in+sound+lo calization&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	527.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+drunken +botanis&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	528.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+drunken +botanist&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	529.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+ecolog y+of+individu als:+incidenc e+and+implic ations+of+indi	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:26:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

	vidual+specia lisation&go.x =0&go.y=0									
2530.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effect+ of+ mussel+si ze+temperatu re,+seston+v olume,+food+ quality,+and+ volume-specif ic+toxin+ con centration+on +the+uptake+ rate+of+PSP +toxins+by+ mussels+&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2531.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effect+ of+ mussel+si ze+temperatu re,+seston+v olume,+food+ quality,+and+ volume-specif ic+toxin+ con centration+on +the+uptake+ rate+of+PSP +toxins+by+ mussels+&go .x=11&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:16:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2532.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+effect+o f+the+NAO+o n+the+ice+ph enology+of+s panish+alpine +lakes&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2533.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effect+ of+wall+deple tion+on+the+r heology+of+ microfibrillate d+cellulose+ water+suspe nsions+by+op tical+coheren ce+tomograp hy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2534.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effect+ of+zinc+oxide +nanoparticle s+on+thermo- physical+prop erties+of+digl ycidyl+ether+ of+bisphenol +A/2,2'-Diami no-1,1'-binap hthalene+nan ocomposites	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

	2535.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effects +of+chronic+ exercise+on+ the+inflamma tory+cytokine s+interleukin- 6+and+tumor +necrosis+fac tor-α+are+diff erent+with+a ge&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
:	2536.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =THE+EFFE CTS+OF+DM SO+ALONE+ AND+WHEN +COMBINED +WITH+VARI OUS+GROW TH+REGULA TORS+ON+T HE+GROWT H+AND+MET ABOLIC+PR ODUCTS+OF +DATURA+S PP.&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:02	0.00%	O (0.00%)	\$0.00 (0.00%)
	2537.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effects +of+toxic+din oflagellates+ Protogonyaul ax +tamarens is+on+the+fe eding+and+b ehavior+of+bi valve+mollus cs.+&go.x=6& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2538.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Elabor ation+Likeliho od+Model+of +Persuasion &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:12	0.00%	O (0.00%)	\$0.00 (0.00%)
:	2539.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+elderly+ bone+health+ and+vitamins &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2540.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Empat hy+Exams&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2541.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:04:23	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=The+Ethics+ of+History&g o.x=6&go.y=8									
2542.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+evoluti on+of+genom e+compressi on+and+geno mic+novelty+i n+RNA+virus es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2543.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Fair+S entencing+Ac t+2010&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:03	0.00%	O (0.00%)	\$0.00 (0.00%)
2544.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Franco -Americans+o f+Lewiston-A uburn&go.x= 6&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2545.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+govern ment,+financi al+system,+a nd+large+priv ate+enterpris es+in+the+ec onomic+devel opment+of+S outh+Korea& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2546.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Great+ Depression& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2547.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Greate st+Nation+of +the+Earth:+ Republican+ Economic+Po licies+During +the+Civil+W ar+Heather+ Cox+Richard son&go.x=16 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2548.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Heroin e's+Journey: +Woman's+Q uest+for+Wh oleness&go.x =7&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:34	0.00%	O (0.00%)	\$0.00 (0.00%)

2549	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+holy+sp irit+in+emily+ bronte&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2550	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+illesion+ of+life&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:16:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2551	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+involve ment+of+hydr ogen+peroxid e+in+plant+re sponses+to+s tresses&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2552	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+landsc ape+genetics +of+syntopic +topminnows +(Fundulus+n otatus+and+F .+olivaceus)+i n+a+riverine+ contact+zone &go.x=11&go .y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2553	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+lightnin g+theif&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2554	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+linkage +between+Up per+Circump olar+Deep+W ater+(UCDW) +and+phytopl ankton+asse mblages+on+ the+west+Ant arctic+Penins ula+continent al+shelf&go.x =10&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2555	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+making +of+Kubrick's +2001&go.x= -596&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2556	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+mast+c ell+and+aller gic+diseases:	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	+Role+in+pat hogenesis+a nd+implicatio ns+for+therap y+&go.x=10& go.y=9									
2557.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+measur e+of+heteros ocial+compet ence:+Develo pment+and+p sychometric+i nvestigation& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2558.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Membr ane-Associat ed+Transcript ion+Factor+N AC089+Contr ols+ER-Stres s-Induced+Pr ogrammed+C ell+Death+in+ Plants&go.x= 7&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2559.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+mixed-u p+files+of+mr s.+basil+e+fr ankweiler&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2560.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+online+ disinhibition+ effect&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2561.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Perfect +Ocean+for+ Drought&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2562.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+perks+o f+being+a+w allflower&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2563.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+political +is+personal &go.x=7&go. y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+present									

		fluidics+in+bi omedical+res earch&go.x=0 &go.y=0									
2	2565.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+psychol ogy+of+doing +nothing&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2566.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+purpose +of+introducti ons+of+resea rch+aritcles& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:10:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2567.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Quadtr ee+and+Rela ted+Hierarchi cal+Data+Str uctures&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:18:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2 568.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+r+book &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2569.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+recepto r+for+tetrodot oxin+and+sax itoxin.+A+stru ctural+hypoth esis",+Biophy sical+Journal &go.x=6&go. y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2570.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+respon ses+of+a+co mmunity+to+ disturbance:+ The+importan ce+of+succes sional+age+a nd+species'+l ife+histories& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2571.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+rheologi cal+propertie s+of+suspens ions+of+rigid +particles&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)

25	572.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+route+t o+spinal+cor d+cell+types &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	573.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+routledg e+companion +to+auditing& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	574.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+routledg e+companion +to+auditing& go.x=14&go.y =7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	575.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+second +coming+of+ RNAi&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	576.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+sexual+ politics+of+m eat&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	577.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Social+ Profit+Handb ook:+The+Es sential+Guide +to+Setting+ Goals,+Asses sing+Outcom es,+and+Achi eving+Succe ss+for+Missio n-Driven+Org anizations&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	578.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+story+of +edgar+sawt elle&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
25	579.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+tamil+ti gers&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Thiol-M									

2580.	ichael+Additi on+Click+Re action:+A+Po werful+and+ Widely+Used +Tool+in+Mat erials+Chemi stry&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2581.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+tree+of +knowledge& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2582.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+unfulfill ed+potential+ of+fisheries+s electivity+to+ promote+sust ainability&go. x=7&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2583.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+use+of+ neutral+respo nses+in+surv ey+questions &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:29:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2584.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Waiting &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
2585.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+water's +journey&go. x=11&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2586.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+world+b ank+and+the +poverty+of+r eform&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2587.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =thermal+deg radation+poly ester+resin&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2588.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Thermomec hanics+of+S MP&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2	2589.	e,Newspaper +Article,t&s.q =Thermoresp onsive+nanoc omposite+hy drogels+with+ cell-releasing +behavior&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:42:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2590.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =theses&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2591.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =thiagarajan+ fpso&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:43	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2592.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =thomas+bee tle+banks&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2593.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =thomas+des jardins&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2594.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Threshold+ Effects+and+ Asymmetric+ Price+Adjust ments+in+U. S.+Dairy+Mar kets&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2595.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Time+vs+Int ensity+in+the +Localization +of+Tones&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2596.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tissue+cultur e+economic& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:12:27	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2597.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tissue+cultur e+leaf+expla nt&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:08	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2598.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tom+jordon	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=-647& go.y=-217									
2599.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tools+ever+ searcher+sho uld+know+an d+use&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2600.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =top-down+ef fect&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2601.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Toward+a+ Theory+of+Int egrated+Urba n+Ecology:+ Complementi ng+Pickett+et +al.&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:20:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2602.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Toxicity+of+ cobalt-chromi um+nanoparti cles+released +from+a+res urfacing+hip+ implant+and+ cobalt+ions+o n+primary+hu man+lympho cytes+in+vitro &go.x=7&go. y=3	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2603.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =toxins+in+sh ellfish&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2604.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =traditional+i ndigenous+fir e+manageme nt+technique s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:23:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2605.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Transgende r+Mental+He alth&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2606.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =transitional+j ustice+and+n orth+america &go.x=0&go.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)

	y=0									
2607	/search?s.fvf[] =ContentTyp e,Newspaper - +Article,t&s.q =Transportm etrica+A&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2608	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =traveler+in+t he+dark+mar sha+norman &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2609	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Trilogy&go.x =5&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2610	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =TRIM+E3+li gases+interfe re+with+early +and+late+st ages+of+the+ retroviral+life +cycle&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2611	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Tripartite-m otif+proteins+ and+innate+i mmune+regul ation&go.x=1 4&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	O (0.00%)	\$0.00 (0.00%)
2612	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =trophic+casc ade+sea+otte r&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2613	/search?s.fvf[] =ContentTyp e,Newspaper - +Article,t&s.q =turnaround+ tuesday&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:47:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2614	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =type+2+diab etes+and+chil dren+and+A merican+Indi an&go.x=13& go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	01:14:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2615	/search?s.fvf[] =ContentTyp e,Newspaper - +Article,t&s.q =umaine+was te&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:19:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2616.	=ContentTyp e,Newspaper +Article,t&s.q =uncertainity +reduction&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2617.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =understandi ng+generalist +practice&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2618.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =United+Stat es+populatio n+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:12:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2619.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =university+of +maine+co2& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2620.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =unoriving+a ccess+to+co mmunity+bas ed+food+syst ems&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2621.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Uptake+and +fate+of++ di arrhetic+shell fish+poisonin g+toxins+fro m+the+dinofl agellate+Pror ocentrum+lim a+in++ the+b ay+scallop+A rgopecten+irr adians&go.x= 10&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2622.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Uptake+and +fate+of++ di arrhetic+shell fish+poisonin g+toxins+fro m+the+dinofl agellate+Pror ocentrum+lim a+in++ the+b ay+scallop+A rgopecten+irr adians&go.x= 11&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Uptake+kine tics+of++ par alytic+shellfis									

2623.	h+toxins+fro m+the+dinofl agellate+Alex andrium+fund yense+in+the ++ mussel+M ytilus+edulis& go.x=16&go.y =9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2624.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =uptake+rate +of+m+edulis +and+m+tros sulus&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2625.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Using+Confl ict+in+organiz ations	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2626.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =using+indivi dual+tree+cro wn+approach +for+forest+v olume+extrac tion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2627.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Using+surfa ce+acoustic+ waves+to+det ect+small+vib rations&go.x= 7&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2628.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Using+Tech nological+Inn ovation+To+I mprove+The+ Problem-Solvi ng+Skills+Of +Middle+Sch ool+Students: +Educators'+ Experiences+ With+The+LE GO+Mindstor ms+Robotic+I nvention+Sys tem&go.x=-6 66&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:12	0.00%	O (0.00%)	\$0.00 (0.00%)
2629.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Validation+o f+the+Juhnke -+Balkin+Life +Balance+Inv entory&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:22:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

2630.	+Article,t&s.q =Validity+of+t he+Cox-Merz +rule+for+con centrated+su spensions&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2631.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =vascular+co gnitive+ampai rment:+preve ntable+deme ntia&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2632.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Vaske+surv ey+design&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2633.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =videos+of+p hysical+exam ination&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:05:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2634.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Visualization +of+crack+bl unting+using +secondary+f luorescence+i n+soft+polym ers	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
2635.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =voodoo&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:42:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2636.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Wall+slip+a nd+viscous+d issipation+in+ ice+cream+pi pe+rheometry &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:32:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2637.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =walter+benj amin+illumina tions&go.x=-6 20&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2638.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =warbler+spr uce+budwor m&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2639.	e,Newspaper +Article,t&s.q =warming+20 12+chen+jet+ stream++link age+geophys ical+research &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2640.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Wave+clima tology+in+coa stal+Maine+f or+aquacultur e+and+other +applications &go.x=12&go .y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:10:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2641.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =wave+scatte ring+statistics &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2642.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =waves+of+f eminsim&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2643.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Weiner,+B., +Frieze,+I.+H .,+Kukla,+A., +Reed,+L.,+ Rest,+S.,+&+ Rosenbaum, +R.+M.+(197 1).=&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2644.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Weiner&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2645.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =what+color+ is+your+para chute&go.x=1 5&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2646.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =What+drives +morally+co mmitted+citiz ens?A+study +of+the+ante cedents+of+p ublic+service +motivation& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

20	2647.	+Article,t&s.q =what+is+ne ws?+audienc es+may+hav e+their+own+ ideas&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
26	2648.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =When+Fring e+Goes+Mai nstream+Agai n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:22:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
26	2649.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =When+Nean derthals+and +Modern+Hu mans+Met&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:12:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	2650.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Why+intrasp ecific+trait+va riation+matter s+in+commu nity+ecology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
26	2651.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Why+is+Mar ijuana+Sched ule+l&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	2652.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Why+Mariju ana+has+rem ained+a+sch edule+one+dr ug&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	2653.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =why+marijua na+is+illegal& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
26	2654.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =william+carl os+williams& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
26	2655.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =william+henr y+bishop&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:12	0.00%	0 (0.00%)	\$0.00 (0.00%)

2656.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =women+neg otiation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:57:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2657.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =woodward,+ ngan'gi&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:11:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2658.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =word+maps +semantic+kn owledge&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2659.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =wurr&go.x=1 3&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2660.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =wyman,+ma ry+o'hara	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2661.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =yiyun+li&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2662.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Zebrafish+a s+a+model+f or+monocarb oxyl+transpor ter+8-deficien cy&go.x=7&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2663.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Zebrafish+a ssays+as+ear ly+safety+pha rmacology+sc reens:+Parad igm+shift+or+ red+herring? &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2664.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =zebrafish+s pin+task&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2665.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =zen+garden &go.x=8&go. y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:17:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

2	2666.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =zen+garden +plants&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2667.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =zen+garden s&go.x=5&go .y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:04:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2668.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =zen+plants& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	01:14:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2669.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =zerubavel&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2670.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ziler,+Z.&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2671.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =zimmern&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2672.	/search?s.q= +A+Survey+o f+Graphic+No vel+Collectio n+and+Use+i n+American+ Public+Librari es	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2673.	/search?s.q= http://muse.jh u.edu.ursus-p roxy-7.ursus. maine.edu/jo urnals/cinema _journal/v050 /50.3.smith.ht ml	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2674.	/search?s.q= Hypocrisy tra p: the World Bank and the poverty of ref orm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2675.	/search?s.q= Kathryn Jay (2006), More t han Just a Ga me: Sports in American Life Since 1945, Chap. 4-6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2676.	/search?s.q= Temperance movement	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:16:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.q=. International Political Econ									

2677.	omy: Perspec tives on Glob al Power and Wealth.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2678.	/search?s.q=" practical+elec tronics+for+in ventors"	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2679.	/search?s.q=) . Ethics in co mmunity men tal health car e: The ethics of non-sexual dual relations hips: A dilem ma for the rur al mental heal th profession. Community M ental Health J ournal,	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:10:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2680.	/search?s.q= +HARM++RE DUCTION:+A +Social++Wo rk+Practice+ Mod+el+and+ Social+Justic e+Agenda	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2681.	/search?s.q= +Journal+of+ Military+Histo ry	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2682.	/search?s.q= +regional+hy drogeological +survey	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2683.	/search?s.q= 17	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2684.	/search?s.q= 1950	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2685.	/search?s.q= 1950s	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2686.	/search?s.q= 1957 thalido mine&summo nVersion=2.0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2687.	/search?s.q= 2001 a space odyssey new essays	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2688.	/search?s.q= A Survey of G raphic Novel Collection an d Use in Ame rican Public Li braries	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2689.	/search?s.q= A+case+of+a cute+dissemi nated+encep halomyelitis+f ollowing+influ enza+virus+A -H1N1+infecti on	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2690.	/search?s.q= A+Question+ of+Trust	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2691.	/search?s.q= abigail adams	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:11	0.00%	0 (0.00%)	\$0.00 (0.00%)

20	692.	/search?s.q= abolitionism	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
20	693.	/search?s.q= advanced+se arch	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
20	694.	/search?s.q= al+	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00	(0.00%)
20	695.	/search?s.q= alice+walker	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:01:14	0.00%	0 (0.00%)	\$0.00	(0.00%)
20	696.	/search?s.q= AMFM96	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:05:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
24	697.	/search?s.q= An+Examinati on+of+the+M cKinney-Vent o+Act+and+lt s+Influence+ on+the+Hom eless+Educat ion+Situation	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	698.	/search?s.q= AN+EXPLOR ATION+OF+F AMILY+THE RAPISTS'+B ELIEFS+ABO UT+THE+ET HICS+OF+C ONVERSION +THERAPY:+ THE+INFLUE NCE+OF+NE GATIVE+BEL IEFS+AND+C LINICAL+CO MPETENCE+ WITH+LESBI AN,+GAY,+A ND+BISEXU AL+CLIENTS	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
20	699.	/search?s.q= Androscoggin +River	1	(0.00%)	100.00%	1	(0.01%)	0.00%	1.00	00:05:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	700.	/search?s.q= Animal+fur	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:01:54	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	701.	/search?s.q= Animal+testin g	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	702.	/search?s.q= aol.com	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:02:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	703.	/search?s.q= aqueducts	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	704.	/search?s.q= arctic	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:02:16	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	705.	/search?s.q= Are pit bulls vi cious	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	706.	/search?s.q= Are+pit+bulls +vicious	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:09:55	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	707.	/search?s.q= ASTM	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
2'	708.	/search?s.q= attendants+el izabethan+en gland	1	(0.00%)	100.00%	1	(0.01%)	0.00%	1.00	00:00:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	709.	/search?s.q= authentic+e-l earning	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
2	710.	/search?s.q=	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)

		Avatar									
27	711.	/search?s.q= babe+ruth	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	712.	/search?s.q= Bacterial+Co ntamination+ of+Mechanic ally+Extracte d+Breast+Mil k.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	713.	/search?s.q= barbara+coon ey+books	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	714.	/search?s.q= Barbara+Kru ger	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	715.	/search?s.q= Barbary Pirat es and War w ith Tripoli	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	716.	/search?s.q= Barbary+pirat es+and+war+ with+tripoli+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	717.	/search?s.q= Barbary+Pirat es+and+War +with+Tripoli +-	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	718.	/search?s.q= battle+of+can nnae	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	719.	/search?s.q= behavioral+di sorders	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	720.	/search?s.q= belle+starr	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	721.	/search?s.q= Biodiesel pro duction: a revi ew	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	722.	/search?s.q= Bisonbuffalo+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	723.	/search?s.q= blink+182	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	724.	/search?s.q= bloohounds	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	725.	/search?s.q= blueberries	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	726.	/search?s.q= Body Image i n the Media	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	727.	/search?s.q= boroughs+an d+neighborho ods	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	728.	/search?s.q= Bosnian+War	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	729.	/search?s.q= Boston Marat hon Bombing s	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	730.	/search?s.q= botryllus	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:17:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
27	731.	/search?s.q= bottled water	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)

2	732.	/search?s.q= brain+fitness +program	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	733.	/search?s.q= Breadth vs D epth in educa tion	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:41:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	734.	/search?s.q= breadth+and+ depth+in+scie nce	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:47:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	735.	/search?s.q= Burke, John J . (2013). Libra ry technology companion: A basic guide fo r library staff (4th edition). N ew York, NY: Neal-Schuma n.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	736.	/search?s.q= capital+punis hment	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	737.	/search?s.q= capua	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	738.	/search?s.q= car	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:18:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	739.	/search?s.q= catherine+bo oth+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	740.	/search?s.q= Causes of De forestation: T he Maine Cas e	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	741.	/search?s.q= charles grand ison Finney	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:04:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	742.	/search?s.q= chiang	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:38:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	743.	/search?s.q= China	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2'	744.	/search?s.q= CHINA.+Rep ort+from+Hon gkong	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	745.	/search?s.q= Chinese+ame ricans+and+t he+transconti nental+railroa d	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	746.	/search?s.q= cien+anos+d e+soledad	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:23:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	747.	/search?s.q= civil+war	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	748.	/search?s.q= cleft palate sp eech	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	749.	/search?s.q= Cloning	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	750.	/search?s.q= cohort+studie s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:08:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.q= Colistin-base									

275	d treatment fo r extensively drug-resistant Acinetobacter baumannii pn eumonia	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	/search?s.q= Comic book c ollectors: The serials libraria ns of the hom e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	/search?s.q= 3. Computerized +Accounting	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	4. /search?s.q= concusion	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	5. /search?s.q= congo+rive	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	/search?s.q= cormac+mcc arthy+blood+ meridean	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	/search?s.q= 7. cross-modal+ priminh	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	/search?s.q= 8. datamonitor+ uk	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
275	9. /search?s.q= death penalty	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:04:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= Demanding R espect: The E O. volution of the American Co mic Book	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= 1. Demirbas,+Ir han	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= Developing E vidence-Base d Generalist Practice Skills	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= Developing+ Evidence-Bas ed+Generalis t+Practice+Sk ills.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= dictionary+of 4. +literary+biog raphy+langst on+hughes	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= 5. Diesel+engin e+fault+tree	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= dinosaurs!+a +drawing+bo ok+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.q= disorders+of+ childhood+de velopment+a nd+psychopa thology	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.q=									

	2768.	DNA	1 (0.00	100.00%	1	(0.01%)	0.00%	1.00	00:02:16	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2769.	/search?s.q= does+immigr ation	1 (0.00	100.00%	1	(0.01%)	0.00%	10.00	00:10:49	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2770.	/search?s.q= dorian+gray	1 (0.00	100.00%	1	(0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2771.	/search?s.q= dreaming in p ublic	1 (0.00	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2772.	/search?s.q= drone+use	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2773.	/search?s.q= drug	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2774.	/search?s.q= drug+abuse+i n+maine	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2775.	/search?s.q= drug+preventi on+communit y	1 (0.00	100.00%	1	(0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2776.	/search?s.q= drunk+driving +laws	1 (0.00	100.00%	1	(0.01%)	0.00%	2.00	00:10:51	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2777.	/search?s.q= dying+gaul	1 (0.00	100.00%	1	(0.01%)	0.00%	2.00	00:12:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2778.	/search?s.q= e.+e+cummin gs	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2779.	/search?s.q= eating+disord er+and+perso nality	1 (0.00	100.00%	1	(0.01%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2780.	/search?s.q= EBSCO+Host	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2781.	/search?s.q= effects of ana ethetic techni que and other perioperative factors	1 (0.00	100.00%	1	(0.01%)	0.00%	1.00	00:00:15	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2782.	/search?s.q= elvis+presley +	1 (0.00	100.00%	1	(0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2783.	/search?s.q= emcc	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2784.	/search?s.q= empathy	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2785.	/search?s.q= energy+cons umption	1 (0.00	%) 100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
:	2786.	/search?s.q= equality,+orth odoxy+and+p olitics	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2787.	/search?s.q= Eric Clapton	1 (0.00	0.00%	0	(0.00%)	0.00%	3.00	00:00:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2788.	/search?s.q= Ethiopian+W olf	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2789.	/search?s.q= exergym	1 (0.00	100.00%	1	(0.01%)	0.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2790.	/search?s.q= exit+nixon	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
	2791.	/search?s.q=f acebook	1 (0.00	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)

2792.	/search?s.q=f astmail.fm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2793.	/search?s.q= Film+preserv ation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:13:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2794.	/search?s.q=f ilms	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2795.	/search?s.q=f rance	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2796.	/search?s.q= Frances Willa rd	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:25:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2797.	/search?s.q=f rederick+dou glss	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2798.	/search?s.q= Furman,+R.+(2009).+Ethica I+Considerati ons+of+Evide nce-Based+P ractice.+Soci al+Work,+54, +1,+82-84.+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2799.	/search?s.q= galileoo	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2800.	/search?s.q= gems	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2801.	/search?s.q= Gender+in+th e+Media	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:14:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2802.	/search?s.q= geochemistry +springer	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2803.	/search?s.q= geographic+r ange	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2804.	/search?s.q= gmail	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
2805.	/search?s.q= Gold rush	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2806.	/search?s.q= Gold+rush	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2807.	/search?s.q= google.com	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2808.	/search?s.q= Grateful Dead	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2809.	/search?s.q= Great+masks +to+make+th e+book	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2810.	/search?s.q= Greatest Nati on on Earth R ichardson	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2811.	/search?s.q= Grillo,+Luca	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2812.	/search?s.q= group+psych opathology	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2813.	/search?s.q= grove+music	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2814.	/search?s.q= guild	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.q=									

2815.	hans+gross	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2816.	/search?s.q= harriet+tubma n	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2817.	/search?s.q= healht	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2818.	/search?s.q= health	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2819.	/search?s.q= Henry David Thoreau	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2820.	/search?s.q= heydrich	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2821.	/search?s.q= Highschool+a t-risk+student s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:11:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2822.	/search?s.q= hindman+prin cess+and+th e+paparazzi	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2823.	/search?s.q= Hinton	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2824.	/search?s.q= Hirsch	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2825.	/search?s.q= History+of+te aching+Arith metic	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2826.	/search?s.q= HIV-associate d Neurocognit ive Disorders and Antiretrov iral Therapy: Current Conc epts and Cont roversies	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2827.	/search?s.q= Homework	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2828.	/search?s.q= horace+mann	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2829.	/search?s.q= http://bi.galeg roup.com.urs us-proxy-10.u rsus.maine.e du/essentials/ article/GALE A272257245/ 9eaf429d131 541f842d81e 1ecadef227? u=maine	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2830.	/search?s.q= http://web.a.e bscohost.com .ursus-proxy- 10.ursus.mai ne.edu/src/de tail?vid=13&si d=0776fd3d-6 774-4240-b10 9-a7f68f36b9 b8@session mgr4002&hid =4109&bdata =JnNpdGU9c 3JjLWxpdmU	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.q=									

283	http://www.bri tannica.com/ EBchecked/to pic/1086593/ nuclear-powe r-plant/image s-videos	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/search?s.q= 12. Hunter+Thom pson+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/search?s.q= 3. Hypatia+of+A lexandria	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/search?s.q=i ,+a+brahmin	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/search?s.q=i dentity-based motivation the ory	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/search?s.q=I f+on+a+winte r's+night+a+t heorist	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/search?s.q=I mmigration+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	/search?s.q=i 8. mmigration+r estriction	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
283	9. /search?s.q=i nca	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	0. /search?s.q=I ndia	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q=I nnocent+in+a +guilty+world +	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q=I nternational P olitical Econo 2. my: Perspecti ves on Global Power and W ealth.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:19:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q=i ntimate+partn er+violence	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:16:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q=l 4. nto afghanist an	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q=l 5. srael+Washb urn+Jr	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q=i 6. t aint easy stu dying comics	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q=I 7. talian+Renais sance+Art+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q= 8. J&summonVe rsion=2.0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
284	/search?s.q= 9. Jeanne Halgr en Kilde	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
285	/search?s.q= 60. Jensen,+Dan e+A	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)

2851.	/search?s.q= Jesse+Owen s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2852.	/search?s.q=ji m thorpe	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2853.	/search?s.q=j ohn+steinbec k	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2854.	/search?s.q= Journal of Agr icultural and Food Chemist ry	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2855.	/search?s.q=j ournal+resear ch+science+t eaching	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2856.	/search?s.q= Jstor	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2857.	/search?s.q= kami+garcia	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2858.	/search?s.q= Kimmel,+Eric +A.+"Shel+Sil verstein:+Ove rview."+Twen tieth-+Centur y+Children's+ Writers.+Ed.+ +Laura+Stan dley+Berger. +1995.+Rpt.+ in+Twentieth- Century+Child dren's+Writer s.+Ed.+Laura +Standley+B erger.+4th+e d.+Detroit:+St .+James+Pre ss,+1995.+T wentieth-Cent ury+Writers+ Series.+Litera ture+Resourc e+Center.+W eb.+11+May+ 2015.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2859.	/search?s.q= Knowing+wh en+to+consul t+the+oracle+ at+delphi	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2860.	/search?s.q= Kony+2012	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2861.	/search?s.q= kyle+webber	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2862.	/search?s.q= Laconic+Wo men	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2863.	/search?s.q=l andlord+liabili ty	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2864.	/search?s.q=l atin america t ourism	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2865.	/search?s.q= Laxmi Kant S harma, Apoor v Saraswat, S ushma Singh, Manish K. Sri vastav, R. K.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:10:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

		P. Singh									
2	866.	/search?s.q= Lewis+and+cl ark	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	867.	/search?s.q= Lewis+and+C lark	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	868.	/search?s.q=li brary multime dia	1 (0.00%)	0.00%	0 (0.00	%) 0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	869.	/search?s.q=li fe+in+ancient +sparta	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	870.	/search?s.q= Life+in+Ancie nt+Sparta	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	871.	/search?s.q=l ysosomal+sto rage+disease s:++Heteroge neous+group +of+disorder	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	872.	/search?s.q= Machine Gun	1 (0.00%)	0.00%	0 (0.00	%) 0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	873.	/search?s.q= Machine+Gu n	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	874.	/search?s.q= mail.maine,ed u	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	875.	/search?s.q= Maine+To+Te st+Some+We Ifare+Recipie nts+For+Drug s.	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	876.	/search?s.q= malala+	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	877.	/search?s.q= maned+wolf	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	878.	/search?s.q= Maras	1 (0.00%)	100.00%	1 (0.01	%) 0.00%	3.00	00:03:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	879.	/search?s.q= Mariana+Tre nch	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	880.	/search?s.q= masculinity+i n+catcher+in +the+rye	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	881.	/search?s.q= Master the G RE 2014	1 (0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	882.	/search?s.q= mat+study	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	883.	/search?s.q= maya angelo u	1 (0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	884.	/search?s.q= mayan	1 (0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	885.	/search?s.q= mayan+religi on	1 (0.00%)	100.00%	1 (0.01	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	886.	/search?s.q= mechanic	1 (0.00%)	100.00%	1 (0.01	%) 0.00%	6.00	00:12:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	887.	/search?s.q= Mechanochro mic photonic	1 (0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	gels									
2888.	/search?s.q= medical+surgi cal+nursing	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2889.	/search?s.q= Messalonske e+Middle+Sc hool	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2890.	/search?s.q= Micheal+phel ps	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2891.	/search?s.q= middle+ages +food	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2892.	/search?s.q= Middle+schoo I+B+teams	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2893.	/search?s.q= modern probl ems in classic al electrodyna mics	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2894.	/search?s.q= Mount+Fuji	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2895.	/search?s.q= moussa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2896.	/search?s.q= muhammad+ ali	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2897.	/search?s.q= National wom an's suffrage association	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2898.	/search?s.q= nepoleon	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2899.	/search?s.q= nicotine	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2900.	/search?s.q= no place for a woman: a life of senator ma rgaret chase smith	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2901.	/search?s.q= nobel+prize	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2902.	/search?s.q= Norming and group think	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:27:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2903.	/search?s.q= novelist	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2904.	/search?s.q= Nutrition+And +Health+-+Th e+Associatio n+Between+ Eating++++ ++Behavior+ And+Various +Health+Para meters:+A+M atched+Samp le+Study	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2905.	/search?s.q= OED	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.q= One-year+alo ng-beach+var iation+in+the									

2906.	+maximum+d epth+of+erosi on+resulting+ from+irregula r+shoreline+ morphology+ +	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2907.	/search?s.q= one+strike+y ou're+out	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2908.	/search?s.q= onedia	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2909.	/search?s.q= Opponents+o f+Medicade	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2910.	/search?s.q= Oregon trail	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2911.	/search?s.q= Oregon+trail	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2912.	/search?s.q= orphan+storie s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2913.	/search?s.q= oscar+wilde	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2914.	/search?s.q= ot just a spon ge: new functi ons of circular RNAs discov ered	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2915.	/search?s.q= out+of+contro I+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:06:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2916.	/search?s.q= out+of+contro I+kids	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2917.	/search?s.q= Out+of+contr ol+kids	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2918.	/search?s.q= paretnts refus ing treatment of a chils	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
2919.	/search?s.q= Patriot	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2920.	/search?s.q= phones	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2921.	/search?s.q= picoult	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2922.	/search?s.q= Pivot	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2923.	/search?s.q= plagerism+ch ecker	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2924.	/search?s.q= points+of+vie w+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2925.	/search?s.q= Police+brutali ty+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2926.	/search?s.q= polo	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2927.	/search?s.q= population	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2928.	/search?s.q= Pot studies re veal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)

2929.	/search?s.q= poverty+level s+in+maine	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2930.	/search?s.q= poverty+line	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2931.	/search?s.q= prison reform	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2932.	/search?s.q= Prospects+for +Monetary+C ooperation+a nd+Integratio n+in+East+A sia	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2933.	/search?s.q= public+policy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2934.	/search?s.q= quantum+fiel d+theory	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
2935.	/search?s.q=r accoon+dog	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2936.	/search?s.q= Race+the+po wer+of+an+ill usion	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2937.	/search?s.q= Ralph Waldo Emerson	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2938.	/search?s.q= Rape+and+C onsent	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2939.	/search?s.q=r aymond+carv er+oral+histor y	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2940.	/search?s.q=r azorbill	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2941.	/search?s.q=r ec+center	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2942.	/search?s.q= Reding+growt h+in+High+p overty+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2943.	/search?s.q=r eflectin protei n	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2944.	/search?s.q= Regulation of 3-hydroxy-3- methylglutaryl coenzyme A r eductase acti vity by side-c hain oxysterol s and their de rivatives	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2945.	/search?s.q=r emember+the +titans	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:12:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2946.	/search?s.q=r espiratory+th erapy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:04:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2947.	/search?s.q=r ole+playing+g ames	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2948.	/search?s.q=r ural+by+desi gn	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:03:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

2949.	/search?s.q=r wanda+geno cide+of+1994	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2950.	/search?s.q= s.e.+hinton	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2951.	/search?s.q= Saint+Joseph +	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2952.	/search?s.q= School+b+tea ms	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2953.	/search?s.q= science	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:24:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2954.	/search?s.q= seaweed+ma rket	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2955.	/search?s.q= second great awakening	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2956.	/search?s.q= second+great +awakening	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2957.	/search?s.q= Semantic Co nstraints On Word Learnin g: Proper Na mes And Adje ctives	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:51:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2958.	/search?s.q= Semantic+Co nstraints+On +Word+Learn ing:+Proper+ Names+And+ Adjectives	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:19:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2959.	/search?s.q= sensory proc essing early c hildhood	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:12:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
2960.	/search?s.q= serial+killers	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2961.	/search?s.q= sexuality+and +affection+a mongst+elder ly+german	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2962.	/search?s.q= seymour men ton soledad	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2963.	/search?s.q= shakespeare social class	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2964.	/search?s.q= shoem+road way+services a	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2965.	/search?s.q= shoreline+acc ess	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2966.	/search?s.q= Should+home work+be+ban ned	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2967.	/search?s.q= sign+languag e	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2968.	/search?s.q= Sir+Roland	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)

2969.	/search?s.q= smoking	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2970.	/search?s.q= snowboarding	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2971.	/search?s.q= soccer+injurie s	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2972.	/search?s.q= social+class	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2973.	/search?s.q= socioeconomi c+status+and +obesity	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2974.	/search?s.q= softball	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2975.	/search?s.q= soilless+medi ums+and+ger mination	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2976.	/search?s.q= sound exposu re guidelines	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2977.	/search?s.q= speak+critasi m	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2978.	/search?s.q= sports+logos	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2979.	/search?s.q= Steroidal+sap ogenins+and +glycosides+f rom+the+fibro us+roots+of+ Polygonatum +odoratum+w ith+inhibitory+ effect+on+tiss ue+factor+(T F)+procoagul ant+activity	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2980.	/search?s.q= steve+jobs	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2981.	/search?s.q= stopping+gun +violence	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2982.	/search?s.q= Structural vari ation and gen ome complexi ty: is dispens able really dis pensable?	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2983.	/search?s.q= Student Scho ol Disengage ment	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2984.	/search?s.q= Sue+Monk+K idd	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2985.	/search?s.q= suez canal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2986.	/search?s.q= Survivability o f integrated P VDF film sens ors	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2987.	/search?s.q= Susan+b+Ant hony	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

29	88.	/search?s.q= Sustainable+ energy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	89.	/search?s.q= Tax+policy+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	90.	/search?s.q=t each+youths +proper+valu e	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	91.	/search?s.q= Teaching Eng lish language learner stude nts in US mai nstream scho ols: intersecti ons of langua ge, pedagogy , and power	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:06:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	92.	/search?s.q=t een drug use	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	93.	/search?s.q= Teen+Pregna ncy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	94.	/search?s.q= Temperance Movement	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	95.	/search?s.q= The Best Med icine	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	96.	/search?s.q= The Interpers onal Theory o f Suicide	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	97.	/search?s.q=t he+best+med icine	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	98.	/search?s.q=t he+bluest+ey e	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
29	99.	/search?s.q= The+Choice+i n+Foreign+P olicy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	00.	/search?s.q= The+Persona lity+of+Isaac+ Newton	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	01.	/search?s.q=t he+power+so cial+media	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	02.	/search?s.q=t he+reform+of +the+mentall y+ill	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	03.	/search?s.q= The+Robot+ Revolution	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	04.	/search?s.q=t he+southeast +music	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.q= The+Support +Gap:+New+t eachers'+earl y+experience s+in+High+in come+and+lo w+income+sc hools++Johns on,+S.,+Kard									

300	05.	os,S.,+Kauff man,+D.,+Lui ,+E.,+Donald son,+M.,++E ducation+Poli cy+Analysis+ Archives,+Vol +12+number +61,+2004,+I ssn+1068-23	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	06.	/search?s.q= Toothaker	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	07.	/search?s.q=t oril+moi	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	08.	/search?s.q=t ourism latin a merica	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	09.	/search?s.q= Ullisies+S.+G rant	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	10.	/search?s.q= Under+Siege	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	11.	/search?s.q= underground railroad imag es	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	12.	/search?s.q= ural+river	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	13.	/search?s.q= V-2+crusie+m issile	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	14.	/search?s.q= Value+line+s urvey	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	15.	/search?s.q= valueline	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	16.	/search?s.q= Varicella+dis ease	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	17.	/search?s.q= veterbrate	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	18.	/search?s.q= vinod naraya nan	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	19.	/search?s.q= violence agai nst refugee w omen	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:09:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	20.	/search?s.q= visual literacy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	21.	/search?s.q= Walt Whitman	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	22.	/search?s.q= War of 1812	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	23.	/search?s.q= War+Hawks	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	24.	/search?s.q= War+of+1812	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	25.	/search?s.q= weaver	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	26.	/search?s.q= Weaver	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	27.	/search?s.q= Webster hayn e debate	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3028.	/search?s.q= wesche and c han	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3029.	/search?s.q= what defines classic literat ure	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3030.	/search?s.q= what+the+uk +can+teach+t he+us+about +uniforms	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3031.	/search?s.q= what+was+lif e+before+the +revolutionar y+war	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3032.	/search?s.q= why+and+gra des+at+all	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3033.	/search?s.q= will+hobbs	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3034.	/search?s.q= william+dyer	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3035.	/search?s.q= William+Rand olph+Hearst	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3036.	/search?s.q= windjammers	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3037.	/search?s.q= Womens+righ ts+movement	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3038.	/search?s.q= Woolley,+D.+ J.+(2010).+T he+cynical+pi rate:+how+cy nicism+effect s+music+pira cy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3039.	/search?s.q= www.maineb urnpermit.co m	1 (0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:30:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3040.	/search?s.q= x+Clapham,+ M.+E.+(2014) .+History+of+i nsect+body+s ize.+Retrieve d+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3041.	/search?s.q= xplore	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3042.	/search?s.q= yahoo	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3043.	/search?s.q= yellow+fever	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3044.	/search?term = Carbon Na notube senso re	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term = Comparativ e Susceptibilit ies of Salmon id Species in Alaska to Infe ctious Hemat opoietic Necr osis Virus (IH									

3045.	NV) and Nort h American Vi ral Hemorrha gic Septicemi a Virus (VHS V) by: JILL E. FOLLETT, T HEODORE R . MEYERS, T AMARA O. B URTON AND JANA L. GEE SIN	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3046.	/search?term = Electroche mical determi nation of orga nophosphoru s compounds.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3047.	/search?term = Huffman "M odernizing Ag riculture: A C ontinuing Pro cess	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3048.	/search?term = Six Sigma q uality improve ment with Min itab [electroni c resource] / George Robin Henderson	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3049.	/search?term =((quadtree) OR (octree)) AND ((bit) OR (bitwise)) AN D ((traverse) OR (traversal)) AND ((code) OR (hash)) AND (location)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:27:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3050.	/search?term =((quadtree) OR (octree)) AND ((bit) OR (bitwise)) AN D (fully) AND (threaded)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3051.	/search?term =(AuthorCom bined:(manue I castells))	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3052.	/search?term =(AuthorCom bined:(Rader)) AND (salmo n)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3053.	/search?term =(Black-capp ed Chickadee feeding habits)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:17:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3054.	/search?term =(Black-capp ed Chickadee preferences)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:40:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
3055.	/search?term =(climate cha nge teleconn ection)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3056.	/search?term =(climate cha nge)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%)

3057.	/search?term =(plant luxury consumption) AND (Author Combined:(ch apin))	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3058.	/search?term =(q4)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:23:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
3059.	/search?term =(sexual activ ity related out comes and H PV) AND (Aut horCombined :(bednarczyk))	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3060.	/search?term =(SubjectTer ms:(substanc e use social work u.s.))	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3061.	/search?term =(use of 9 val ent HPV vacc ine) AND (Aut horCombined :(petrosky))	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3062.	/search?term =(warming of the world oce an) AND (Aut horCombined :(levitus))	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3063.	/search?term =2001 a spac e odyssey ne w essays	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3064.	/search?term =A class of d ata structures for associativ e searching	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:22:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3065.	/search?term =A compariso n between leg ume technolo gies and fallo w and their ef fects on maiz e and soil trait s, in two disti nct envi- ron ments of the west African s avannah fran ke	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:39:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3066.	/search?term =A data struct ure and algori thm based on a linear key fo r a rectangle r etrieval probl em	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3067.	/search?term =a failure of t he left tempor al lobe	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:36:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3068.	/search?term =A Manuscrip t of Taccola, Quoting Brun elleschi, on P roblems of In ventors and B uilders,	1 (0.00%)	0.00%	0 (0.00%)	0.00%	48.00	00:44:08	0.00%	0 (0.00%)	\$0.00 (0.00%)

3069	/search?term =A meta-anal ytic religious culture	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3070	/search?term =A method of layer-by-layer gold nanopart icle hybridizat ion in a quart z crystal micr obalance DN A sensing sys tem used to d etect dengue virus.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3071	/search?term =A night lighti ng technique for capturing woodcock an d snipe	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3072	/search?term =A technique for implement ing a set proc essor	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:18:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3073	/search?term =Acceptance and commitm ent therapy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3074	/search?term =acoustic fiel ds and waves in solids	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3075	/search?term =adam banks	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3076	/search?term =Adolescent decision-maki ng: The devel opment of co mpetence.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:23:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3077	/search?term =Agnihotri, R. K. "Towards a Pedagogical Paradigm Ro oted in Multili nguality." Inte rnational Multi lingual Resea rch Journal 1. 2 (2007): 79- 88.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:39:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3078	/search?term =alaska nativ • e subsistence and sea ice	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3079	/search?term =alaska nativ es and pacific salmon	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:38:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3080	/search?term =Alternative d ynamic regim es and trophi c control of pl ant successio n	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:50:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3081	/search?term =American Jo urnal of Physi cal Anthropol ogy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:59	0.00%	0 (0.00%)	\$0.00 (0.00%)

3082.	/search?term =Ames Edwa rd Atlantic her rings	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3083.	/search?term =Amphisamyt ha galapagen sis, a new sp ecies of amph aretid polycha ete from the v icinity of abys sal hydrother mal vents in t he Galapagos Rift, and the r ole of this spe cies in rift eco systems	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:32:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
3084.	/search?term =an adaptivel y refined cart esian cell-bas ed scheme fo r the euler eq uations	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3085.	/search?term =Annual cycl es and spring blooms in phy toplankton: d on't abandon Sverdrup com pletely. Mar- i ne Ecology Pr ogress Series	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3086.	/search?term =Application of several adv anced oxidati on processes for the destru ction of terep hthalic acid (T PA)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3087.	/search?term =are honey b ees' foraging preferences a ffected by poll en amino acid composition?	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3088.	/search?term =assessing th e proximity of healthy food	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:09:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3089.	/search?term =atlantic salm on foraging m odels bioener getics juvenil es	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3090.	/search?term =attribution th eory	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:27:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3091.	/search?term =Avoiding slip in pulp suspe nsion rheome try	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3092.	/search?term =barbara kru ger	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:21:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3093.	/search?term =Barotropic w aves along an eastern conti	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:35:52	0.00%	0 (0.00%)	\$0.00 (0.00%)

	nental shelf									
3094.	/search?term =BARROW A ND LEIBNIZ ON THE FUN DAMENTAL THEOREM O F THE CALC ULUS	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3095.	/search?term =behavioral I earning theor y	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3096.	/search?term =benefits of d ocumentary	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3097.	/search?term =benefits of vi sual learning	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:27:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3098.	/search?term =Bernabé, Je an, Patrick C hamoiseau, a nd Raphaël C onfiant. Éloge de la Créolité. Paris: Gallima rd, 1989; Balti more, Johns Hopkins Up	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:50:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3099.	/search?term =better than i ndividuals	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3100.	/search?term =Biological C onsequences of Ecosystem Fragmentatio n: A Review	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3101.	/search?term =biophilia hyp othesis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3102.	/search?term =bob algozzin e and tiered s ystems of sup port	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3103.	/search?term =bovine masti tis treatment	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3104.	/search?term =Brazilian dic tatorship	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3105.	/search?term =budgeting a nd happiness	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3106.	/search?term =C balance, c arbon dioxide emissions an d global warm ing potentials	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3107.	/search?term =cape may nj	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3108.	/search?term =Carbon Nan otube	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3109.	/search?term =carbon nano tube sensor	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)

3110.	/search?term =challenge a nd threat	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3111.	/search?term =chapin, 201 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:32:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
3112.	/search?term =Characteris ation of a repr essor gene (x re) and a tem perature-sens itive allele fro m the Bacillus subtilis proph age, PBSX.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:15	0.00%	O (0.00%)	\$0.00 (0.00%)
3113.	/search?term =children and advertising	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3114.	/search?term =christianity	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3115.	/search?term =Circular RN As are a large class of anim al RNAs with regulatory pot ency	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:50	0.00%	O (0.00%)	\$0.00 (0.00%)
3116.	/search?term =climate chan ge and algae blooms	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3117.	/search?term =Cognitive-be havior theory Role play	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:17:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3118.	/search?term =collective eff icacy theory	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3119.	/search?term =collete chila nd	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3120.	/search?term =Colorado an d Marijuana I egalization	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:51:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3121.	/search?term =Community supported agr iculture and S NAP benefits	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3122.	/search?term =Comparison of actuator pr operties for pi ezoelectric an d electrostricti ve materials	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3123.	/search?term =Comparison of different ex traction soluti ons for the an alysis of aller gens in hen s egg	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	01:03:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3124.	/search?term =comparison of fixed diame ter kenefic	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term =Comparison of the Digesti									

3125.	bility of the M ajor Peanut A llergens in Th ermally Proce ssed Peanuts and in Pure F orm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3126.	/search?term =Concurrent expression of recombinatio n activating g enes 1 and 2 in zebrafish of factory senso ry neurons	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:07:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3127.	/search?term =conservative views on drug policy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:22:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3128.	/search?term =Conservativ e views on dr ug policy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3129.	/search?term =Cooper K. M ., Hanlon R. T ., Budelmann B. U. 1990 Ph ysiological col or change in squid iridopho res. II. Ultrast ructural mech anisms in Loll iguncula brevi s. Cell Tissue Res	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3130.	/search?term =Coping with drought: resp onses of herd ers and livest ock in contras ting savanna environments in southern Zi mbabwe	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3131.	/search?term =coral reefs b oating	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3132.	/search?term =craig ecolog y peru	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:49:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3133.	/search?term =crop roatatio n	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	01:19:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3134.	/search?term =Crustose re d algae	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3135.	/search?term =Cultivating c ompetence, s elf efficacy, a nd intrinsic int erest through proximal self motivation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3136.	/search?term =cultivating fo od justice	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:24:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
3137.	/search?term =cultivation/d epensation ef fects on juven	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:43	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ile survival an d recruitment									
3138.	/search?term =Current and Future Issues and Trends F acing Student Athletes and Athletic Progr ams	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3139.	/search?term =decompositi on of sea lam prey	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3140.	/search?term =Determinati on of carboxy methycellulos e in food prod ucts	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3141.	/search?term =detrital alga e and hypoxia	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3142.	/search?term =Developmen t and validatio n of scales to measure attit udes influenci ng monetary donations to c haritable orga nizations	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3143.	/search?term =Developmen t of a fluoresc encebased m ethod for eval uation of self- cleaning prop erties of phot ocatalytic lay ers	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3144.	/search?term =Discourse P atterns and C ollaborative S cientific Reas oning in Peer and Teacher- Guided Discu ssions	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3145.	/search?term =disturbance traits	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3146.	/search?term =documentar y implications for consent k atz	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3147.	/search?term =don quixote	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3148.	/search?term =draught stre ss bee visitati on	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3149.	/search?term =drought stre ss flower prod uction	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3150.	/search?term =drying meth ods seaweed	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term									

3151.	=early interve ntion culture	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:08:49	0.00%	0 (0.00%)	\$0.00	(0.00%)
3152.	/search?term =Economic D evelopment a nd Democrac y Reconsider ed	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:18:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
3153.	/search?term =economics o f agricultural development	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:03:54	0.00%	0 (0.00%)	\$0.00	(0.00%)
3154.	/search?term =Effect of om ega-conotoxi n GVIA and o mega-agatoxi n IVA on the capsaicin-sen sitive calcitoni n gene-relate d peptide rele ase and autor egulatory vas odilation in rat pial arteries.	1	(0.00%)	0.00%	0	(0.00%)	0.00%	12.00	00:39:02	0.00%	0 (0.00%)	\$0.00	(0.00%)
3155.	/search?term =Effect of roa sting history a nd buffer com position on pe anut protein e xtraction effici ency	1	(0.00%)	0.00%	0	(0.00%)	0.00%	1.00	00:00:30	0.00%	0 (0.00%)	\$0.00	(0.00%)
3156.	/search?term =Effectivenes s of advertisin g appeals viet nam	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:02:09	0.00%	0 (0.00%)	\$0.00	(0.00%)
3157.	/search?term =Effects of bi- colored displa ys on avian fr uit color prefe rences in a co lor polymorph ic plant	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:05:08	0.00%	0 (0.00%)	\$0.00	(0.00%)
3158.	/search?term =effects of thi nning type on the harvester productivity	1	(0.00%)	0.00%	0	(0.00%)	0.00%	1.00	00:00:30	0.00%	0 (0.00%)	\$0.00	(0.00%)
3159.	/search?term =elphick salt marsh sparro w	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:10:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
3160.	/search?term =Emerging K nowledge fro m Genome S equencing of Crop Specie	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:26:43	0.00%	0 (0.00%)	\$0.00	(0.00%)
3161.	/search?term =emergy	1	(0.00%)	0.00%	0	(0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
3162.	/search?term =energy cost of food captur e	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:07:50	0.00%	0 (0.00%)	\$0.00	(0.00%)
3163.	/search?term =essential ion ized acid grou p in sodium c hannels	1	(0.00%)	0.00%	0	(0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
	/search?term =Estimation o												

3164.	f the Proporti on of Area Oc cupied by an Animal Speci es	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3165.	/search?term =ethics of art	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3166.	/search?term =eurasia silk r oad	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:40:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3167.	/search?term =Evolutionary perspectives on Religion	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3168.	/search?term =Examination of the interpla y between gla cial processe s and exhum ation in the S aint Elias Mo untains, Alask a	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3169.	/search?term =fall migrator y stopover	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	01:09:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3170.	/search?term =Fast local se arches and u pdates in bou nded univers es	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	01:09:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3171.	/search?term =Fastook 198 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3172.	/search?term =Fastook and Prentice 1994	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3173.	/search?term =federal perki ns loan progr am	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:13:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3174.	/search?term =FHC and pri vatization of i ndustry	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3175.	/search?term =First-Year In tegrated Curri cula Across E ngineering Ed ucation Coalit ions	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3176.	/search?term =fish metaboli sm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3177.	/search?term =fish more ac tive at night	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3178.	/search?term =food worker s labor issues	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3179.	/search?term =Foster, Ken neth R.; Vecc hia, Paolo; R epacholi, Mic hael H. (2000). "Science an d the Precauti onary Principl e"	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3′	180.	/search?term =FPSO wind	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:29:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	181.	/search?term =Francesco d i Giorgio Marti ni architectur e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:44:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3-	182.	/search?term =Franco Bors i	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:09:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	183.	/search?term =fundamental s of engineeri ng civil engin eering kaplan	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	184.	/search?term =gaitan of col ombia	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	185.	/search?term =genetic vari ation of invadi ng species	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:36:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	186.	/search?term =genetic vari ation of invasi ve population s	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3-	187.	/search?term =genomic sel ection nucleot ide	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	188.	/search?term =GENOTYPE • ENVIRONM ENT INTERA CTION climat e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	189.	/search?term =GENOTYPE • ENVIRONM ENT INTERA CTION micro climate	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3.	190.	/search?term =Genotype b y environmen t studies dem onstrate the c ritical role of p henology in a daptation of c hickpea (Cice r arietinum L.) to high and lo w yielding en vironments of India	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:08:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	191.	/search?term =geocell wall s in earthqua ke zones	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:28:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	192.	/search?term =Geology of t he southern A laska margin, in The Geolo gy of North A meric	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	193.	/search?term =gilliland se	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:20:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3′	194.	/search?term =gleditsia	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?term									

3	3195.	=godey's lady book	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:20:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3196.	/search?term =greenhouse mix and germ ination	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3197.	/search?term =groping tow ard democrac y	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3198.	/search?term =group think backwards an d forwards	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	01:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3199.	/search?term =growing foo d, growing co mmunity	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:29:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3200.	/search?term =gymnocladu s dioicus	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:29:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3201.	/search?term =Hal in "2001 : A Space Od yssey": The L over Sings Hi s Song	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3202.	/search?term =heat and pre ssure treatme nts effect on peanut aller	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3203.	/search?term =high intensit y ultrasound on tropomyos in	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3204.	/search?term =higher educ ation act of 1 965	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3205.	/search?term =Historical re cord of Europ ean emission s of heavy me tals to the at mosphere sin ce the 1650s from alpine s now/ice cores drilled near M onte Rosa.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3	3206.	/search?term =history of hi gh education acts	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:22:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3207.	/search?term =hiv andstem plant	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:23:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3208.	/search?term =holes	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3209.	/search?term =How to acco unt for CO2 e missions from biomass in an LCA	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:24:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3210.	/search?term =hpv vaccinat ion	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3211.	/search?term =HPV vaccin	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)

	e 9 subtypes									
3212.	/search?term =human cat c onnection	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3213.	/search?term =Hydrograph y and circulati on of the Wes t Antarctic Pe ninsula Conti nental Shelf p almer station	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3214.	/search?term =Hypothalami c-pituitary-ad renal axis, ne uroendocrine factors and st ress	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3215.	/search?term =lcefield-to-O cean Linkage s across the Northern Paci fic Coastal Te mperate Rain forest Ecosys tem	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3216.	/search?term =identity base d motivation AND prejudic e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3217.	/search?term =Identity man agement in cy berspace	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:41:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3218.	/search?term =IgE and mo noclonal antib ody reactivitie s to the major shrimp allerg en Pen a 1 (tr opomyosin) a nd vertebrate tropomyosins.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3219.	/search?term =IgE binding t o raw and boil ed shrimp pro teins in atopic and nonatopi c patients wit h adverse rea ctions to shri mp.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3220.	/search?term =implementat ion research: a synthesis of literature	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
3221.	/search?term =incorporates Oceanograph y Branch data into stock ass essments and ecosystem as sessments; ic hthyoplankton database stru cture and app lication	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term =influence of water temper									

3222.	ature on the g rowth rate of I andlocked se a lamprey	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3223.	/search?term =international education	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3224.	/search?term =international journal of obe sity and recre ation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:23:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3225.	/search?term =Interpretatio n of variety× sowing date× sowing depth interaction for bean–Fusariu m–Rhizoctoni a pathosyste m	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3226.	/search?term =introduction to differential equation and linear algebra	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3227.	/search?term =isaac barro w geometry le cturs	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3228.	/search?term =isaac barro w lectiones g eometricae	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3229.	/search?term =ISBN: 978-1 -4684-2696-0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:29:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3230.	/search?term =jefts compar ing methods f orest soil nitro gen	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3231.	/search?term =jellyfish clim ate change gr owth	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:19:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3232.	/search?term =jellyfish life c ycle	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3233.	/search?term =Johannes G utenberg	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3234.	/search?term =jorgensen b ethany	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3235.	/search?term =journal of nu trition	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3236.	/search?term =judith butler 1990	1 (0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:52:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3237.	/search?term =jumping gar	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:56:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
3238.	/search?term =juvenile sea lamprey bioe nergetics	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3239.	/search?term =Kanter 1983	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:25:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term									

3240.	=khaled hoss eini	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3241.	/search?term =killer whale disease exist s	1 (0.00%)	0.00%	0 (0.00%)	0.00%	21.00	02:17:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3242.	/search?term =Kinetics and mechanism of hydroxyl radic al and OHadd uct radical re actions with N itroxides and with their Hyd roxylamines	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3243.	/search?term =landscape g enetics	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:14:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3244.	/search?term =larry may th e big tomorro w	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
3245.	/search?term =learning and istruction	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3246.	/search?term =Lecture Not es in Comput er Science on tology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3247.	/search?term =leonardo da vinci and albe rti	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:14:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3248.	/search?term =leonardo da vinci technolo gy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:12:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3249.	/search?term =leopard cats hark distributi on	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3250.	/search?term =leukemia AL L in children i ncidence and treatment	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3251.	/search?term =library.umai ne.edu	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3252.	/search?term =Magnetic G els	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3253.	/search?term =Magnetic Sh ape Memory Alloy and Act uator Design	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3254.	/search?term =Man and Su perman	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:49:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3255.	/search?term =Marijuana	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3256.	/search?term =Martin luther king jr lyndon johnson	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3257.	/search?term =martin rosen berg Ibsen's nora	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)

3258.	/search?term =masculinity i n film	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3259.	/search?term =measuring h ypoxia stress in lobsters	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3260.	/search?term =Mechanical and Thermal Properties of Wood-Plastic Composites Reinforced W ith Hexagonal Boron Nitride	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3261.	/search?term =Mechanism of action of im munomodulat ory drugs (IMi DS) in multipl e myeloma	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3262.	/search?term =Mechanochr omic photonic gels	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3263.	/search?term =Mercury in fi shes of Alask a, with empha sis on subsist ence species.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3264.	/search?term =michelangel o david	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3265.	/search?term =Michelangel o in architect	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3266.	/search?term =Michelangel o, di Lodovico Buonarroti Si moni	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3267.	/search?term =micropropag ation disease	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3268.	/search?term =minerals an d germination	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3269.	/search?term =Mona Lisa	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3270.	/search?term =money chan ges everythin g, or does it	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3271.	/search?term =mosquito sol diers	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3272.	/search?term =moussa viol ence	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3273.	/search?term =multi-state a nalysis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:20:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
3274.	/search?term =Multidimensi onal tries use d for associati ve searching	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:24:20	0.00%	0 (0.00%)	\$0.00 (0.00%)

;	3275.	/search?term =Multiplicativ e mixed mod els for genetic gain assessm ent in lupin br eeding	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:22:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3276.	/search?term =Nanotube N anotweezers	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3277.	/search?term =nfestation b y Brood symb ionts and thei r impact on e gg mortality o f the red king crab, Paralith odes camtsch atics, in Alask a: Geographi c and Tempor al Variation b y: Armand M. Kuris, S. Forr est Blau, A. J. Paul, Jeffrey D. Shields, an d Daniel E. W ickham	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	O (0.00%)	\$0.00 (0.00%)
	3278.	/search?term =Nonchromo somal antibiot ic resistance i n bacteria: ge netic transfor mation of Esc herichia coli b y R-factor DN A.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:26:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	3279.	/search?term =operator sel ection	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:22:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3280.	/search?term =overfishing and native ala skan subsiste nce	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3281.	/search?term =Passer 1977	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3282.	/search?term =PCA HPLC	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3283.	/search?term =PCB and D DE Contamin ation in Harbo r Seals (Phoc a vitulina) fro m North-Cent ral California and Bristol Ba y	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3284.	/search?term =Phenylketon uria and preg nancy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3285.	/search?term =photoelastic	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:19:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3286.	/search?term =photoelastic effect	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:29:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3287.	/search?term =physiologica I changes fro m food consu	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:45:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

	mption									
3288.	/search?term =phytoplankt on growth an d physiology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3289.	/search?term =pistani	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3290.	/search?term =Plant Breedi ng with Geno mic Selection: Gain per Unit Time and Cos t	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:17:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3291.	/search?term =plant propag ation history	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3292.	/search?term =pneumonia	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3293.	/search?term =pollan	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3294.	/search?term =pollination a nd floral ecolo gy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:10:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
3295.	/search?term =Populism	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:34:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3296.	/search?term =Post and La Chappelle	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3297.	/search?term =Potassium c hannel toxins	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3298.	/search?term =Potassium c hannel toxins.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3299.	/search?term =precision ag riculture	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	01:39:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3300.	/search?term =Preserving o rder in a fores t in less than I ogarithmic tim e and linear s pace	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3301.	/search?term =Processing Can Alter the Properties of Peanut Extra ct Preparation s	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3302.	/search?term =Program MA RK	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3303.	/search?term =racing spee ds of quarter horses	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3304.	/search?term =Railroads an d Brazil's eco nomy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:50:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3305.	/search?term =rates of eros in and sedime nt avacuation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term									

3306.	=Reactivation of latent HIV by histone de acetylase inhi bitors	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3307.	/search?term =realizing just ice in local fo od systems	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3308.	/search?term =Region-spec ific assessme nt of greenho use gas mitig ation with diff erent manure management strategies in f our agroecolo gical zones	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3309.	/search?term =Remodeling American Se ntencing	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3310.	/search?term =removing pa tchiness in ha bitats	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	01:05:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3311.	/search?term =Research to practice in sp ecial educatio n	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3312.	/search?term =retaining wal I failure	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3313.	/search?term =Reversible p atterning and actuation of h ydrogels by el ectrically assi sted ionoprinti	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:28:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
3314.	/search?term =Rheological behavior of tw o- and three- phase fiber s uspensions	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:22:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3315.	/search?term =Rheological characterizati on of fibrillate d cellulose su spensions via bucket vane v iscometer	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3316.	/search?term =richard felto e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3317.	/search?term =Richards, Mi chael. "Com mon property resource instit utions and for est managem ent in Latin A merica." Dev elopment and Change 28.1 (1997): 95-11 7.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term									

33′		=Richter and Baumgartner	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	19.	/search?term =Robbins Our Landed Herit age	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	20.	/search?term =roots of prej udice	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:28:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	21.	/search?term =Schedule on e drugs	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	22.	/search?term =schizophreni a and ACT	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	23.	/search?term =schizophreni a and Body-o riented Psych ological Ther apy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	24.	/search?term =sea urchins algae	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	25.	/search?term =Seaweeds a s a source of nutritionally b eneficial com pounds - A re view	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	26.	/search?term =Seed Coat t hickness	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:27:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	27.	/search?term =seedling gro wth	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	28.	/search?term =service loan forgiveness	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:30:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
332	29.	/search?term =Seventy- fi v e years of bre eding dry bea n of the weste rn USA	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
333	30.	/search?term =Signed dista nce fields for polygon soup meshes	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
333	31.	/search?term =single father s and roles	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
333	32.	/search?term =SNARE prot ein expressio n and localiza tion	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
333	33.	/search?term =social loafin g	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:24:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
333	34.	/search?term =Socio- ecolo gical niche: A conceptual fr amework for i ntegration of I egumes in sm allholder farm ing systems	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?term					<u> </u>				

3	335.	=Socio-Ecolo gical Niches f or Minimum T illage and Cro p-Residue Re tention in Con tinuous Maize Cropping Sys tems in Small holder Farms of Central Ke nya	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	336.	/search?term =somaclonal variation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	337.	/search?term =Sound locali zation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	338.	/search?term =step father	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:28:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	339.	/search?term =Strength an d Breaking M echanism of Multiwalled C arbon Nanotu bes Under Te nsile Load	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:31:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	340.	/search?term =Structure an d rheology of nanocrystallin e cellulose	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:27:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	341.	/search?term =STUDIES O N GENOTYP E X ENVIRO NMENT INTE RACTION AN D STABILITY IN WHITE SE EDED PIGEO NPEA (Cajan us cajan L.) G ENOTYPES	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:27:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	342.	/search?term =swimmers it ch cure	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	343.	/search?term =symbiodiniu m and corals	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:29:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	344.	/search?term =symbiodium	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	345.	/search?term =Synthesis a nd antibacteri al activity of N -ferrocenoyl- N'-benzoyl thi osemicarbazi de	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:28:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	346.	/search?term =Systemic lu pus erythema tosus in NZB X NZW hybrid mice treated with the cortic osteroid drug betamethaso ne /search?term =Tcherepash	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		enets, Nataly. Place and Dis									

3347.	placement in t he Narrative Worlds of Jor ge Luis Borge s and Julio C ortázar	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3348.	/search?term =teacher attri butions and a cademic achi evement	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	01:12:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3349.	/search?term =teacher effic acy: its meani ng and meas ure	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3350.	/search?term =Terephthalat e as a probe f or photochem ically generat ed hydroxyl r adical	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3351.	/search?term =terminalia m astitis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:08:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3352.	/search?term =The Art of C omputer Prog ramming, Vol. 1: Fundament al Algorithms	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:05:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3353.	/search?term =The big burn	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3354.	/search?term =The evolutio n of floral sce nt:	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:13:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3355.	/search?term =The evolutio n of National Park Service fire policy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	32.00	01:34:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3356.	/search?term =the haunting of hill house	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3357.	/search?term =the history a nd purpose of the Communit y Supported Farmers Mark et program	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:22:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3358.	/search?term =The phytopl ankton popul ation as a co mpound phot osynthetic sy stem.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3359.	/search?term =The reaction of a thiosemic arbazide inter mediate with EDC·HCI in D MSO or p-Ts Cl, triethylami ne in N-methy I-2-pyrrolidon e gives the co rresponding 2 -amino-1,3,4- oxadiazoles a nd 2-amino-1, 3,4-thiadiazol es through re	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:16:59	0.00%	0 (0.00%)	\$0.00 (0.00%)

	gioselcective cyclization pr ocesses.									
3360.	/search?term =The relation ship of values and emotiona I awareness t o sexual activ ity in young a dulthood	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3361.	/search?term =the relative efficacy of de senstitation a nd modeling approaches f or inducing	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:46:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3362.	/search?term =the seven c hinese brothe rs	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3363.	/search?term =The use of r aw or boiled c rustacean ext racts for the d iagnosis of se afood allergic individuals.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:48:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3364.	/search?term =The whole-b ole system: a conditioned d ual-equation system for pr ecise predicti on of tree prof iles	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3365.	/search?term =The Yakutat terrane: Dram atic change in crustal thickn ess	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3366.	/search?term =tissue cultur e propagation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3367.	/search?term =traditional fo ods native am ericans climat e change	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3368.	/search?term =traits facilitat e disturbance	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3369.	/search?term =transgender media bullyin g	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:31:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3370.	/search?term =Trattato di A rchitettura	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	01:25:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3371.	/search?term =trophic casc de	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3372.	/search?term =Turner Fred erick Jackson	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3373.	/search?term =Unexpected patterns of fis heries collaps	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:18	0.00%	0 (0.00%)	\$0.00 (0.00%)

	e in the world' s oceans									
3374.	/search?term =Unilever's cs r	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3375.	/search?term =upfront film making	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:08:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3376.	/search?term =Weiss Thom as	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3377.	/search?term =wendat	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3378.	/search?term =Western Ant arctic Penins ula physical o ceanography and spatio—te mporal variab ility	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3379.	/search?term =what is emd r therapy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:05:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3380.	/search?term =what is the r eal cost of ou r food	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:39:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3381.	/search?term =why does H PV vaccine st op at 26 year s	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3382.	/search?term =Wijesekara r educed curre nt	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3383.	/search?term =women earl y america	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3384.	/search?term =woodcock m igration	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3385.	/search?term =woodward, i ndigenous	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3386.	/search?term =Worth Fighti ng for : Keepi ng the promis e of sentencin g reform	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3387.	/search?term =xplore	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3388.	/search?term =yan genotyp e environmen t 2002	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:14:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3389.	/search?term =Yeo and Ste wart	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3390.	/search?term =Yield stabilit y of rust-resis tant soybean I ines at four m id-altitude tro pical location s	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?term									

3391.	=Yields and a ccumulations of N and P in farmer-mana ged intercrop s of maize-pi geonpea in s emi-arid Afric a	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3392.	/search/srpca che?p=large+ format+digitiz er+maine&typ e=drg_adkpu b_15_15_ag1 53¶m1= 1¶m2=c d=2XzuyEtN2 Y1L1Qzu0Bz zzzzz0EtAtCz yyD0CtB0C0 CyByEzytN0 D0Tzu0StCtC zytAtN1L2Xz utAtFzytFzztF tBtN1L1Czut CyEtBzytDyD 1V1StN1L1G 1B1V1N2Y1L 1Qzu2SyDyD 0E0FyD0BtD 0BtG0A0AtDy DtGtBzytCzyt GtBzzyEtAtGt C0DyDtBtC0 D0DtB0DzytC 0D2QtN1M1F 1B2Z1V1N2Y 1L1Qzu2SyCt AyBzy0FyE0 AtCtG0DzyyE tDtGyEyE0By BtG0A0E0Ct AtGtDtDtB0C 0C0EtAtB0Et BtAyB2QtN0 A0LzuyE&cr= 886118280&a =drg_adkpub _15_15&f=4& cat=web&sid =e5d86129ad f358af0226c0 c00863953a& sesid=63710 1677b12989a 1878e74d4d5 3b0b5&abid= 50&abg=153 &ip=64.135.1 41.44&b=IE& bv=11.0&os= Windows+8.1 &pa=dregol& hsimp=yhs-ful lyhosted_003 &hspart=iry&f r=yhs-iry-fully hosted_003 &hspart=iry&f r=yhs-iry-fully	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

3393.	/sec/default.a sp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3394.	/social/waban akifulltext.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3395.	/speccoll/Find ingAids/Ames Familyinvento ry.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:13:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3396.	/speccoll/Find ingAids/AsaA dams.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3397.	/speccoll/Find ingAids/Baker Gregoryinven tory.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3398.	/speccoll/Find ingAids/Bald win.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3399.	/speccoll/Find ingAids/Bartle ttRalphS.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3400.	/speccoll/Find ingAids/Benn ett.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3401.	/speccoll/Find ingAids/Bradf ord.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3402.	/speccoll/Find ingAids/Buck namDanielPa pers.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3403.	/speccoll/Find ingAids/Cary_ family.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3404.	/speccoll/Find ingAids/Cary A.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:12:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3405.	/speccoll/Find ingAids/Cazd en.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3406.	/speccoll/Find ingAids/Cecb ox19.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3407.	/speccoll/Find ingAids/Chad bourneAva.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3408.	/speccoll/Find ingAids/Cond on.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3409.	/speccoll/Find ingAids/Coon Robert.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3410.	/speccoll/Find ingAids/DayJ ohnF.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3411.	/speccoll/Find ingAids/Deme rittDwightJr.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3412.	/speccoll/Find ingAids/Dietz. htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3413.	/speccoll/Find ingAids/Donn ellCA.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3414.	/speccoll/Find ingAids/Dotyc	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	spa.htm									
3415.	/speccoll/Find ingAids/Dube Normand.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3416.	/speccoll/Find ingAids/Dunn geor.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3417.	/speccoll/Find ingAids/Early MaineImages .htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3418.	/speccoll/Find ingAids/Easte rnPaper.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3419.	/speccoll/Find ingAids/Engel W.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3420.	/speccoll/Find ingAids/Fello wsOF.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3421.	/speccoll/Find ingAids/Gibbo ns.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3422.	/speccoll/Find ingAids/Grafft eAmosandOc tavia.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3423.	/speccoll/Find ingAids/Grindl ef.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3424.	/speccoll/Find ingAids/Halls MillsRecords. htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:09:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3425.	/speccoll/Find ingAids/Henry Harrietpapers .htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3426.	/speccoll/Find ingAids/Hillfa milypapers.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3427.	/speccoll/Find ingAids/Irelan dCharlesR.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3428.	/speccoll/Find ingAids/Kenn edyJohnFVisi t.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3429.	/speccoll/Find ingAids/Koon sDonaldsonp apers.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3430.	/speccoll/Find ingAids/Lamo ineLab.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3431.	/speccoll/Find ingAids/Lanm anCharles.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3432.	/speccoll/Find ingAids/LionL ocomotive.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3433.	/speccoll/Find ingAids/Main e8thInfantry.h tm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3434.	/speccoll/Find ingAids/Main eFedBPWClu bs.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3435.	/speccoll/Find ingAids/Marti nonLumberin ventory.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	01:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3436.	/speccoll/Find ingAids/Merri amKendall.ht m	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3437.	/speccoll/Find ingAids/Nash NormanB.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3438.	/speccoll/Find ingAids/Pack ard_William.h tm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3439.	/speccoll/Find ingAids/Pass amaquoddyP hotographs.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3440.	/speccoll/Find ingAids/Perki nsFamily.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3441.	/speccoll/findi ngaids/priceh arriet.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3442.	/speccoll/Find ingAids/Remi ckpa.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3443.	/speccoll/Find ingAids/Robe rtsMervin.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3444.	/speccoll/Find ingAids/Stuart co.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3445.	/speccoll/Find ingAids/Thom pson.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3446.	/speccoll/Find ingAids/Thurs dayClub.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3447.	/speccoll/Find ingAids/Tracy Herbertrecord s.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3448.	/speccoll/Find ingAids/Tupp erS.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:20:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3449.	/speccoll/findi ngaids/turnerf a.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3450.	/speccoll/Find ingAids/Turne rfa.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3451.	/speccoll/Find ingAids/Unite dBaptistChur ch.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3452.	/speccoll/Find ingAids/Vigue ray.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:17:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3453.	/speccoll/Find ingAids/Waba nakiIndians.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3454.	/speccoll/Find ingAids/West erfield.htm	1 (0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:09:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3455.	/speccoll/Find ingAids/Willia msonFamily.h tm	1 (0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3456.	/speccoll/Find ingAids/Willia mTellClubrec ords.htm	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3457.	/speccoll/Find ingAids/Wom ansNationalF armGarden.ht m	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3458.	/speccoll/Find ingAids/YMC Arecords.htm	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3459.	/speccoll/Find ingAids/York Erskine.htm	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3460.	/speccoll/Gui delist.htm	1 (0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3461.	/speccoll/man ulist.htm	1 (0.00%)	100.00%	1 (0.019	0.00%	8.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3462.	/speccoll/polic y.htm	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3463.	/srch.php?q= hudson&guid e_id=119330	1 (0.00%)	100.00%	1 (0.01%	0.00%	15.00	00:42:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3464.	/srch.php?q= munich	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3465.	/staff/beattie. htm	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3466.	/staff/default.	1 (0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3467.	/staff/default. htm	1 (0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:28:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3468.	/staff/expressi on_issues.ht m	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3469.	/staff/fitzgeral d.htm	1 (0.00%)	100.00%	1 (0.019	0.00%	8.00	00:03:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3470.	/staff/googlea nalytics/2014. htm	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3471.	/staff/googlea nalytics/defau lt.htm	1 (0.00%)	0.00%	0 (0.00%	0.00%	14.00	01:04:07	100.00%	1 (0.03%)	\$0.00 (0.00%)
3472.	/staff/johnson. htm	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3473.	/staff/russell.h tm	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3474.	/staff/whatsne w_resizing_i mages.htm	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3475.	/staff/WhatsN ew_resizing_i mages.htm	1 (0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:20:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
3476.	/staffinfo/defa ult.htm	1 (0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3477.	/techserv/Atiz /BookDrive_E ditorPro.htm	1 (0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3478.	/techserv/Cat aloging/AES. htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3479.	/techserv/Cat aloging/Com mandLines.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3480.	/techserv/Cat aloging/Conn exionSaveFil es.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3481.	/techserv/Cat aloging/Kirtas /BookscanEdi tor.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3482.	/techserv/Cat aloging/LMC_ Download.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3483.	/techserv/Cat aloging/marci ve_items.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3484.	/techserv/Cat aloging/phase boxes.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
3485.	/techserv/Cat aloging/RDAc hecklist.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3486.	/techserv/Cat aloging/Them ed_Journals. htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3487.	/techserv/Cat aloging/UMIT heses.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3488.	/techserv/Cat aloging/URS USsearch.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3489.	/techserv/dc_ batchload.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3490.	/techserv/Seri als/binding/bi ndprepare.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3491.	/techserv/Seri als/Binding/bi ndtype.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3492.	/techserv/Seri als/ERM/Clie ntCenter.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3493.	/techserv/Seri als/ERM/Trou bleshooting.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3494.	/techserv/Seri als/orders/Eb scoAnnualInv oice.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3495.	/techserv/Seri als/orders/fre q-codes.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3496.	/techserv/Seri als/Processin g/eserials_hol dings.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/techserv/Seri als/Processin									

3	3497.	g/flag sample s.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3498.	/techserv/Seri als/Processin g/localholding srecords.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3499.	/techserv/Seri als/Processin g/MARC4Clo sed_Serials.h tm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
(3500.	/techserv/Seri als/Processin g/standing_or ders.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3501.	/techserv/tech servweb.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3502.	/techserv/xlin king.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3503.	/theses/submi t.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3504.	/TOWNreport/ default.asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3505.	/translate_c? depth=1&hl=e s&prev=searc h&rurl=transl ate.google.co .ve&sl=en&u= http://www.lib rary.umaine.e du/&usg=ALk JrhjkRfeQEV J4xYZWiOIU WE1TLXQvh g	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3506.	/troubleshooti	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3507.	/troubleshooti ng/mobiledevi ces?preview= 80218cc8c62 9e2ddff50bf9 ea6600bf9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:03	0.00%	O (0.00%)	\$0.00 (0.00%)
(3508.	/wgs101okin	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3509.	/wgs301okin	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3510.	/www.guardli nk.org/IZRzI1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3511.	/www.guardli nk.org/JZRzl1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3512.	/www.guardli nk.org/LZRzl1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3513.	/yearbooks/ei ghteenninetie s.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3514.	/yearbooks/Ei ghties.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3515.	/yearbooks/Fi fties.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
(3516.	/yearbooks/ni neteenhundre ds.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3517.	/yearbooks/Ni neties.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3518.	/yearbooks/S eventies.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:30:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

© 2015 Google